Air Cylinder New
@ 6, 10, D 16 _ RoHS

Double foot ‘Head flange

Double-side bossed are

added to the
mounting types.

: ‘ Double-side bossed i
1‘ Head cover
with boss
i

@ For Q 6’ @ ﬁ“}Tp&'} ‘:'|> @ ﬁ“]@{Q;B Double foot # F_’\

AapH T ygss 29

i

Improved amount of . >
mounting freedom : ?

Head cover with
boss is added.

s s
Easy fine adjustment Head cover port location
of auto switch position “Perpendicular to axis”
Fine adjustment of the auto switch position is possible by IS newly added to @ 6.
simply loosening the screw attached to the auto switch. Improved piping flexibility

Transparent switch bracket improves
visibility of indicator LED.

(Fine adjustment of auto switch

Series CJ2 | Z; SNIC

CAT.EUS20-226D-UK



Air Cylinder

Pivot bracket N: Kit of pivot bracket Rod end bracket With rod end bracket ~ Rod end cap

None and double clevis None | v: Single knuckle T: Flat type
Pivot brack_et is shipped Single knuckle joint
N together with the

product, but not Double knuckle joint ——
assembled. Rod end cap (Flat type)

x: Only for CJ2D (double clevis) type
#: Excyept 26 ( U Rod end cap (Round type)
*: @ 6: Except V, W

W: Double knuckle
joint

U: Round type

cld|ls|<

-
Variaus maunting hracket anfians

* Suitable mounting brackets can be D: Double clevis
selected for the installation condition. (Except 8 6)
e Improved amount of mounting
freedom

N: Pivot bracket
(Except @ 6)

G: Head flange

U: Rod end cap
(Round type)

E: Double-side bossed

M: Double foot

u L: Single foot

T: Rod end cap

(Flat type) .

V: Single knuckle joint

(Except@6) .l
'r W: Double knuckle joint
(Except @ 6)
-
e ' . p .
2 mounting types of compact auto switches Head cover
® Band mounting 4 types of head cover
® Rail mounting shape are available.
The auto switch mounting type, band or rail can be L / Basic Double clevis
selected with the model number.
Water resistant compact auto switch now available oy
® Solid state auto switch D-M9  OA(V)
Applicable to lead wire perpendicular entry type Rail mounting (Except @ 6)
N *: Except @ 6 With boss
Specifications and
dimensions are the
same as the current
[ No environmental hazardous substances used ) product. .
. J

1 SMC

N



Series CJ2

Switch bracket

auto switch attached screw
without loosening the auto
switch mounting band. Oper- A
ability improved compared with at | ]
the conventional auto switch . '
set position adjustment, where

the complete switch mounting Auto switch mounting band

band requires loosening.

Auto switch mounting screw

Stroke Variations
Standard stroke
15 00 125 150 175 200

30 45 60 75 1
6
10
16 — ——

Series Variations

Bore size [mm]

Series Action Type Bore size [mm] Variations Pade
e 6 10 16 Built-in magnet ~ Air cushion 9
Standard Double| «: £ P £ i
CJ2-Z M acting | Single rod 5
-~
. Double F r
AT Double rod —*—*—* * ‘r P8
Single Single rod
; Spring return -4 30
acting | (P91t — @@ @
Non-rotating rod | Double | .. r r r
CJ2K-Z M acting | Single rod * * * 47
Single Single rod
o = = | (Spring return 4 -4 4 54
e ety Jextend) * * *
Built-in speed controller Double | . F ¥ ¥
CJ2Z-Z | acing Single rod * * * 66
2 L . Double
3l acting Doublered - * * * &
Direct mount Double| .
CI2R-Z M acting | Single rod Q‘ Q‘ Q’ 78
; Single rod
s Single ’
5 (Spring return 82
/gﬁ"ﬁ e S oo o
Direct mount, Double | «:
Non-rotating rod . 2 acting Single rod 9’ Q’ 9’ 86
CJ2RK-Z _@ﬁi
= q Single rod
: Sing| 5
. ,:.:4"'"*-1‘ ag:%g (Spring return Q- Q- 9’ 89
& [extend)
With end lock Double | «:
CBJ2 acting Single rod 9‘ e' 93
Smooth Cylinder Double | .
CI2Y-7 acting | Single rod . 9- Q- Q- WWW.SmC.€eu
e = -
Low Speed Cylinder Double| . WWW.
CJ2X-Z . M acting  Single rod 1 Q‘ Q‘ Q- .smc.eu

#: The air cylinder with end lock has the same shape as the current product. *: For details about the clean series, refer to the catalogue on www.smc.eu .

#. Air cushion is only available for @ 10 and @ 16.
V 7 2
& S\NC



Combinations of Standard Products and Made to Order Specifi ~ cations

Series CJ2

CJ2 CJ2K
(Standard type) (Non-rotating rod type)
@ : Standard : bl . Sinal . ble ac Singl .
O : Made to Order "_:_\Ctlon/ Double acting ingle acting Double acting ingle acting
. ; . e . , , .
O : Special lproduct (Please contact SMC for details.) yp Single rod |Double rod S!ngle rod Svlngle rod Single rod S!ngle rod Slmgle rod
— : Not available (spring return) - | (spring extend) (spring return) | (spring extend)
® 28 30 47 54
- . Applicable
Specifi cations " @ 6to D16 @10, 16
Standard Standard @ o { ] o o o o
J6to D16
D Built-in magnet [ ) [ ) [ ) () [ ) [ ) [ )
CJ20O-OA | Air cushion @ 10, @ 16 [ ) o — — — —_ —
10-, 11- Clean series *1 @ 6t0D 16 [ ) @:1° O @) _ _ _
25A- Copper (Cu) and Zinc (Zn)-free *6 @ 10, @ 16 [ ) O O O O O O
XB6 Heat resistant cylinder (-10 to 150 °C)*3:4 O O O O O O O
XB7 Cold resistant cylinder (-40to 70 °C)*34 @610 16 @) O O O O O O
XB9 Low speed cylinder (10 to 50 mm/s) *4 O — — — — — —
XB13 Low speed cylinder (5 to 50 mm/s) @6 O — — — — — —
XC3 Special port position  #24 @610 16 @) O — — @ — —
Adjustable stroke cylinder/
Xc8 Adjustable extension type ¥4 © - o O o o O
Adjustable stroke cylinder/
XC9 Adjustable retraction type  ** © o T ©) o _
@ 10,9 16
XC10 Dual stroke cylinder/Double rod type ~ *4 O — O O O
XC11 Dual stroke cylinder/Single rod type ~ *# O — — — O — —
XC22 Fluororubber seal *4 O O © © © @) O
Jd6to D16
XC51 With hose nipple @) O @ ©) ©) O ©)
XC85 Grease for food processing equipment @) @) @) @) ©) O ©)
@ 10,9 16
X446 PTFE grease O O O O O O
X773 Short pitch mounting @6 — — O — — — _
=1: Mounting type: Not compatible with the clevis type. =6: For details, refer to the catalogue on www.smc.eu .
An auto switch is available in the band mounting type only. #7: The shape is the same as the current product.
%2: An auto switch is available in the band mounting type only. +8: Available only for locking at head end.
=3: The products with an auto switch are not compatible. %9: Available only for locking at rod end.
=4: The products with an air cushion are not compatible. %10: @ 10 and @ 16 only
%5: For details about the smooth cylinder and low speed cylinder, +11: Copper and fluorine-free [20-] are available as standard products.

refer to the catalogue on www.smc.eu .

O
2



Series CJ2

LN
S
50
CJ2z CJ2R CJ2RK CBJ2 CJ2Y*s CJ2X*5 S
(Buit-in speed controller type) (Direct mount type) (Direct mount, Non-rotating rod type) | (With end lock) *7 | Smooth Cylinder |Low Speed Cylinder %
Tl|=
Double acting  |Doubleacting |  Single acting Dowbleacting |  Single acting  [Double acting Double acting Double acting gl& %
cle
Single Double Single Single rod Single rod f Single rod Single rod . . . i) %n
rod rod rod (spring return) | (spring extend) Sl (spring return) | (spring extend) g e it 2t Sz e @ go
66 73 78 82 86 89 93 — — E
@10, D 16 216 @10, D 16 10,0 16 ofe ‘gg
20
o [ ® [ o o [ o [ [ () Standard HE
o o (] o o ([ o o o o ( D Efﬁ
— — @) — — — — — — — — CJ20-0A | |23
=
o5
— — { ] O O — — — O —_ —_ 10-, 11- slew
Zl=2NN
O O O O O O O O O O O 25A- %
O O O O O O O O O — — XB6 5|EN
o|lo|lo|lo|o| ol o] o — — — XB7 8|2 ©
b=
— — — — — — — — @) — — XB9 TR
Z|2N
=l
=™
— — — — — — — — — — — XB13 “l2O
— — @) — — @) — - @) ©) @) XC3 S
O — O O O O O O — — — XC8 ‘% go
2 8
— | — o | o| —] o] o] — O ©) — XC9 8|2
a|Ex
O | — | O O | O O O — XC10 £0
=(E
— | — O — — O — — O — — XC11 Bli
2o
o o © O O ) O o @) — — XC22 Y
HE
Z(=
O O O O ©) O O @ — — — XC51 =N
O ©) O O © O O O — — — XC85 5 ‘_3558
alZ
©|] |06 0o0o| o) 0o | o] o — — — X446 B
- N
ol ™
— — — — _ _ _ _ _ _ _ Gl o
X773 £l ©
B
S
=
(5]
i=]
e
5
g

N




Air Cylinder: Standard Type
Double Acting, Single Rod

Series CJ2

6,0 10,9 16

How to Order

] cJ2[Bl6-6olAIl 1z-[1[1-

[ [ 1 [ 1
e CDJ2 BII16|-|60|All |Z- -
-

| | |
With auto switch Bore size lpivot bracket
(Built-in magnet) 6 | 6 mm — None Refer to page 6 for details.
. 10 (10 mm - -
Mounting e Pivot bracket is . .
5 Sas 16 [ 16 mm N |shipped together with Auto switch mounting type
?Slc . the product, but not A Rail mounting
E | Double-side bossed Cylinder standard stroke [mm] @ assembled. B | Band mounting
D Double clevis Refer to “Standard Strokes” on page 6. - -
L Single foot *: Only for CJ2D (double c|evis) *: For ralil mounting, screws and nuts
gbl ; «: Pivot bracket is shipped for 2 auto switches come with the_ rail.
M Double foot Head cover port location @ together with the product, #: Refer to page 107 for auto switch
F Rod flange but not assembled. mounting brackets.
G Head flange Perpendicular h #: Except @ 6 *: @ 6: Band mounting only
=: Foot/Flange brackets are _ to axis _'- i
shipped together with the Rod end bracket & | ®Number of auto switches
product, but not assembled. . — None = 2 pcs.
* DobeLei\ clfevglié)nlyd 16 R Axial hl'.'.- V Single knuckle joint S 1 pc.
avariable for an : W Double knuckle joint n n_pes.
: *«: For double clevis, double side bossed, T Rod end cap (Flat type) .
[}
Cushion double foot and head flange, the port is ® Auto switch
! \ ) U Rod end cap (Round type) - -
— | Rubber bumper located perpendicular to the cylinder axis. — | — | without auto switch |
A Air cushion *: Rod end bracket is shipped - - -
together with the product, but not ~ *: For applicable auto switches,
*. @ 6: Rubber bumper only assembled. refer to the table below.
«: A knuckle joint pin is not provided % Enter the auto switch mounting type (A or
| x: Refer to “Ordering Example of Cylinder Assembly” on page 6. with the single knuckle joint. B) even when a built-in magnet cylinder
x: @ 6: Except knuckle joint without an auto switch is required.

Applicable Auto Switches /Refer to the Auto Switch Guide for further information on auto switches.

Electrical ? i Load voltage Auto switch model Lead wire length [m] i | AT
Type| Special function entry £ (Output) DC AC Band mounting Rail mounting 05| 1|3 |5 Nonef oo oad
E Perpendicular| In-line  |Perpendicular| In-line | () [(M)| (L) | (2) | (N)
3-wire (NPN) 5V12V MONV MON MONV MON ®  0/0 O — @) IC circuit
Grommet| | 3-wire (PNP) ' MIPV M9P MIPV M9P ® 0O —| O
;E_, T 2-wire 12V M9BV M9B M9BV M9B ® ® @ O|—| O o
2 Connector — H7C J79C — e — o 06 —
[} T 3-wire (NPN) 5V12V MONWV | MONW | MONWV | MONW | @ @ | @ | O | — O IC circuit| Rel
3| mioat, Yes| e (PNP)[24 V| — [ M9PWV | M9PW | MSPWV | MSPW | @ |@ @O [—| O o),
% 2-wire 12V M9BWV | M9BW | MOBWV | M9BW ®  0/0 O | — @) —
2 Water resistant Grommet 3-wire (NPN) 5V12V MINAV#L| MONA*! |MINAV*L| MONA*: | O |O | @ | O |— O (C circut
5 | (2-colour indicator) 3-wire (PNP) ' M9PAV*1| MOPA*1 | MOPAV*1| MOPA*1 | O |O | @ |O|—| O
Z 2-wire 12V M9BAV*!| MOBA*! |MIOBAV*:| MOBA** | O |O | @ | O |— @) —
Wit dagnostic output (2-colowr ndicaor) 4-wire (NPN) 5V,12V — H7NF — F79F ® —|® O|—| O |lCcicuit
- . e | 5V | — | A%V | A% | A%V | A% | |— @ —|—| — |comi —
% Grommet — 200V — — A72 A72H ® —\0 | —|—| — o
= —_— . 100V | A93V*? A93 A93V *2 A93 ® o 0o o —
3 INo| e 12y [100Vor less| A90V A90 A0V A90 ® |— (@ | —|—| — |Ccircu| Relay,
2 Yes 24V — — C73C A73C — e — o 00 — — | PLC
& Connector[No 24V or less — c80C A80C = ® —|©® ® ® — |Ccicui
Diagnostc indcation (2-colour indcator)| Grommet |Yes| — — — — A79W = e —\ 0 — | —| — —

+1: Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Please contact SMC regarding water resistant types with the above model numbers.
*2: 1 m type lead wire is only applicable to D-A93.

*: Lead wire length symbols: 0.5 m:----xeovvenneen — (Example) MONW Bmeeeenienienns Z (Example) MONWZ
1 - M (Example) MONWM  None:--«-:-ee-ee N (Example) H7CN
B Mecereenenennnnnnn L (Example) MONWL

*

: Since there are other applicable auto switches than listed above, refer to page 108 for details.

: For details about auto switches with pre-wired connector, refer to the Auto Switch Guide on www.smc.eu .

: Solid state auto switches marked with “O” are produced upon receipt of order.

: The D-A900/M9DIOO/A7OO/AB00/F7OOI70O auto switches are shipped together, (but not assembled). (For band mounting, only the auto switch mounting brackets are assembled before shipment.)

ZSNC

* % %



Air Cylinder: Standard Type
Double Acting, Single Rod

Specifi cations

Series CJ2

N
—
©)

=
S
&
@
=
o
=
=
j=1
<
@
=
=
3
a

Bore size [mm] 6 | 10 | 16
Action Double acting, Single rod
Fluid Air =
Proof pressure 1 MPa o =
Maximum operating pressure 0.7 MPa 3 i(\l
Minimum operating | Rubber bumper 0.12 MPa 0.06 MPa E 3 8
pressure Air cushion — 0.1 MPa @ g
. . Without auto switch: -10 °C to 70 °C . =
Ambient and fl uid temperature With auto switch: -10 °G to 60 °C (No freezing) é
| Cushion Rubber bumper | Rubber bumper/Air cushion gc\l
Symbo . . Lubrication Not required (Non-lube) ‘28
Rubber bumper Air cushion Piston speed Rubber bumper 50 to 750 mm/s 2
P Air cushion — 50 to 1000 mm/s S G
Allowable kinetic Rubber bumper 0.012J 0.035J 0.090 J &
U U ener Air cushion . 0.07J 0.18J gx
‘ ‘ ‘ ‘ o (Effective cushion length) (9.4 mm) (9.4 mm) 3 gg
x|
Stroke length tolerance +(1)'0 ols ©
e e
aeder | Made to Order S|Z
(For details, refer to pages 111 to 120.) Standard Strokes é %}ﬁ
Symbol Specifications [mm] ;’%8
-XAL[] | Change of rod end shape Bore size Standard stroke Maximum manufacturable stroke | | g
-XB6 | Heatresistant cylinder (-10 o 150 °C) « Not avalable with switch & withair cushion 6 15, 30, 45, 60 200 BE
-XB7 | Cold resistant cylinder (40 to 70 °C)  Not available with switch & with air cushion 10 15, 30, 45, 60, 75, 100, 125, 150 400 5 ;-;N
-XB9 | Low speed cylinder (10 to 50 mm/s) = Not available with air cushion 16 15, 30, 45, 60, 75, 100, 125, 150, 175, 200 400 E E’g
S *1 " R P } # Manufacture of intermediate strokes in 1 mm increments is possible. (Spacers are not used.) |5[< O
XB13*!| Low Spleed cylinder (5 t'O 50 mm/s) N(.)l avallab\.ewnh. a\rcushllon Produced upon receipt of order. g §
-XC3 | Special port location « Not available with air cushion #: Applicable strokes should be confirmed according to the usage. For details, refer to “Air | 8=
-XC8 | Adjustable stroke cylinder/Adjustable extension type Cylinders Model Selection” on www.smc.eu . In addition, the products that exceed the standard |3 & ;
-XC9 | Adjustable stroke cylinder/Adjustable retraction type stroke might not be able to fulfill the specifications due to the deflection etc. £|3 N
- El2N
-XC10 | Dual stroke cylinder/Double rod type . 3 . ' . ] g2
“XC11 | Dual stroke cylinder/Single rod type Mounti ng and Accessories  [referto page 22 for details about part numbers and dimensions. £0
-XC22 | Fluororubber seal + Not available with air cushion @---Mounted on the product. O---Can be ordered within the cylinder model. [ (B
XCOL | Wi hose mipple Mountin Basic Foot Flange Double™ Double clevis ign:
-XC85 | Grease for food processing equipment 9 9 clevis | (including T-bracket) g,‘_\')
-X446 | PTFE grease 2 | Mounting nut ® ® ® — — Els0
-X773*L| Short pitch mounting 2 |Rod end nut [ ] [ ] [ ] [ ] [ ] S E
1. & | Clevis pin — — — [ ] [ ] B(E
*1: @6 only - Single knuckle joint ©) ©) @) O O % f“% x
S | Double knuckle joint* ©) @) @) ©) @) ‘gg
Ordering Example of Cylinder Assembly & | Rod end cap (Flat/Round type) o o o o o 20
T-bracket — — — O [ ) =

Cylinder model:
CDJ2D16-60Z-NW-M9BW-B 1 bie clevis

#: A pin and retaining rings are included with double clevis and/or double knuckle joint.
#: Double clevis is only available for @ 10 and & 16.

Mounting Brackets/Part No.

Double Acting, Single Rod
CJ2RK

Auto switch
Band mounting

Mounting D: Double clevis

Pivot bracket N: Yes

Rod end bracket W: Double knuckle joint
Auto switch D-M9BW: 2 pcs.

Auto switch mounting B: Band mounting

*: Pivot bracket, double knuckle joint and auto switch are
shipped together with the product, but not assembled.

= Except @ 6

SvVC

O

([
o
4
[o)
£
IS
5
<
o
ore size [mm =5
Mounting bracket ElEX
9 6 10 16 3liy
Foot CJ-L006C CJ-L010C CJ-L016C % Eg
ol
Flange CJ-FO06C CJ-Fo10C CJ-FO016C L20
T-bracket™ — CJ-T010C CJ-T016C LE
#: T-bracket is used with double clevis (D). 3
] BN
Pivot bracket =] L)
: N (Gl ma
Refer to pages 101 to 108 for cylinders Moisture - =l O
with auto switches. Control Tube §
« Auto switch proper mounting position Series IDK - -
(detection at stroke end) and its When operating an actuator with a small diameter S
m_ot_mtlng height . and a short stroke at a high frequency, the dew (%
‘ M|n|mL_1m stroke for auto switch condensation (water droplet) may occur inside the o
goum;ng piping depending on the conditions. e
pera |ng range . Simply connecting the moisture control tube to the —
* Auto switch mounting brackets/Part ) - X
no. actuator will prevent dew condensation from oc- S
curring. For details, refer to the IDK series in the =]
catalogue on www.smc.eu §
\ J =




Series CJ2

Jeights A Precautions
[a] e mmmmmm——————————
: Rubber bumper Air cushion 1 Refer to page 121 before handling. 1
Bore size [mm] G 10 16 10 16 |.____p_g____----—g——-l
. . Basic 20 22 46 39 66
(B\:I‘E';n"é’rf;g;rtoke Axial piping 17 | 22 | 46 | 39 | 66
is zero) Double clevis (including clevis pin) — 24 54 43 74
Head-side bossed 20 23 48 40 68
Additional weight per 15 mm of stroke 2 4 ! 4 7__| % Mounting nut and rod end nut are included in the
Single foot 8 8 25 8 25 basic weight.
Mounting bracket | Double foot 16 16 50 16 50| «: Mounting nut is not included in the basic weight for
weight Rod flange 5 5 13 5 13 the double clevis.
Head flange 5 5 13 5 13 Calculation:
Single knuckle joint — 17 23 17 23 Example) CJ2L10-45Z
I?oublg knuckle joint_ o 25 21 25 21 ®Basic weight -+« -vveveveeeenn. 22 (@ 10)
Accessories (including knuckle pin) e Additional weight --- .-+ 4/15 stroke
Rod end cap (Flat type) 1 1 2 1 2 oCylinder Stroke:««-«:-+eveeveneee 45 stroke
Rod end cap (Round type) 1 1 2 1 2 ®Mounting bracket weight:---- 8 (Axial foot)
T-bracket — 32 50 32 50 22 +4/15x45+8=42¢g
Clean Series Low Speed Cylinder

Head cover

N

6
10-CJ2 | Mounting |10 —| Stroke || Headcover
16

Clean Series

Air cylinder which is applicable for the system which discharges leakage
from the rod section directly into the outside of clean room by relief port
and making an actuator's rod section having a double seal construction.

Specifi cations

Action Double acting, Single rod
Bore size [mm] 6, 10, 16
Maximum operating pressure 0.7 MPa

Minimum operating a6 0.14 MPa
pressure @10, @ 16 0.08 MPa
Cushion Rubber bumper/Air cushion

Standard stroke [mm]

Same as standard type. (Refer to page 6.)

Auto switch

Mountable (Band mounting)

Mounting

Basic, Double-side bossed*,
Single/Double foot*, Rod/Head flange*

%@ 10 and @ 16 only
Construction

—
=S

#: The above figure is for @ 16.

CJ2 X ‘ Mounting ‘%g —‘ Stroke H

Head cover Z
port location

Low Speed Cylinder

Smooth operation with a little sticking and slipping at low speed.
Can start smoothly with a little ejection even after being

rendered for hours.

The dimensions are the same as the double acting, single rod type.

Specifi cations

Action

Double acting, Single rod

Bore size [mm] 10, 16
Fluid Air
Proof pressure 1.05 MPa
Maximum operating pressure 0.7 MPa
Minimum operating pressure 0.06 MPa

Ambient and fl uid

Without auto switch: -10 to 70 °C (No freezing)

temperature With auto switch: -10 to 60 °C
Cushion Rubber bumper (Standard equipment)
Lubrication Not required (Non-lube)

Stroke length tolerance

+1.0
0

Piston speed

1 to 300 mm/s

Allowable kinetic @10

0.035J

energy @16

0.090J

For the detailed specifications, refer to the catalogue on www.smc.eu . ‘

For details, refer to the catalogue on www.smc.eu .

O



Construction (Not able to disassemble)

Air Cylinder: Standard Type
Double Acting, Single Rod

Series CJ2

D6
Rubber bumper

SN

@10, 16
Rubber bumper

i @ ©

210,016
Air cushion

AT ™A

With auto switch

With auto switch

I
With auto switch

Component Parts

No. Description Material Note No Description Material Note
1A | Rod cover Aluminium alloy 11 | Piston seal NBR

1B | Seal retainer Aluminium alloy @ 6 only 12 | Tube gasket NBR

2 | Head cover Aluminium alloy 13 | Wear ring Resin

3 | Cylinder tube Stainless steel 14 | Cushion needle Carbon steel

4 | Piston rod Stainless steel 15 | Cushion ring Aluminium alloy

5 | Piston A Aluminium alloy 16 | Needle seal NBR

6 | PistonB Aluminium alloy 17 | Mounting nut Rolled steel

7 | Piston Aluminium alloy 18 | Rod end nut Rolled steel

8 | Bumper Urethane 19 | Magnet —

9 | Rod seal NBR 20 | Spacer Aluminium alloy | @ 6: Without magnet
10 | Cushion seal NBR

O

Standard
Double Acting, Double Rod
CJ2W

Built-in Speed Controller [ Non-rotating Rod
Double Acting, Double Rod
CJ2ZW

U

Direct Mount

(With End Lock |[ Direct Mount, Non-rotating Rod |[

N
—
©)

=
S
&
@
=
o
=
=
j=1
<
@
=
=
3
a

CJ2

CJ2K

Double Acting, Single Rod rnge Acting, Spring Return/Extend

Single Acting, Spring Return/Extend
CJ2K

Double Acting, Single Rod
CJ2z

CJ2R

Double Acting, Single Rod

Single Acting, Spring Retum/Extend
CJ2R

Double Acting, Single Rod
CJ2RK

Single Acting, Spring Retum/Exend

| CJ2RK

CBJ2

Auto Switch

Made to Order




Series CJ2

Dimensions

Basic (B)

CJ2B6 — ‘Stroke ‘ ‘Head cover port location ‘Z

Rod end nut ¥ Mounting nut
MM NN GA Piping port 2 x M5 x 0.8 GB _
‘\ g rV| ]
H— Sl A
T [ [ |
A F T NA NB
H S + Stroke
Z + Stroke
Piping port 2 x M5 x 0.8
S
)
-3 L4 ) - = m g ; v
0 - A =
CO _d_ L] | \4}(
NC
803 SA + Stroke

ZA + Stroke

Head cover port location

Axial location (R)

CcJzB %g - ‘Stroke HHead cover port location | Z

Rod end nut

Section Y detail

Y Mounting nut

«: The overall cylinder length does not change.

Axial location (R)

0
B-0:3

Piping port M5 x 0.8

O
2

Y GA Piping port 2 x M5 x 0.8 GB
NN
MM o i T
T\ A, i i -
- N . ) o3
yd @
A NA NB
H S + Stroke
Z + Stroke
¥* i i .
For details of the mounting nut, refer to page 22 (mm]
Bore size A B © D F |GA |[GB | H MM NA [NB [NC | NDh 8 NN S | SA Z | ZA
6 15 | 12 14 3 8 |145]| 5 28 | M3x0.5 | 16 9.5 7 63018 M6x 1.0 | 51.5| 49 795 | 77
10 15 | 12 14 4 8 8 5 28 | M4x0.7 | 125| 95 | — Al M8 x 1.0 | 46 — 74 —
16 15 | 18.3| 20 5 8 8 5 28 | M5x0.8 | 125| 95 | — | 105y, | M10x1.0 | 47 — 75 —
9



Air Cylinder: Standard Type
Double Acting, Single Rod

Dimensions

Series CJ2

Basic (B)

With air cushion: CJ2B leg - ‘Stroke ‘A ‘Head cover port location |Z

¥¢ Mounting nut

Rod end nut GA  Piping port 2 x M5 x 0.8

‘ EEE
HE

— MH@‘

_;‘LHL‘ |

NA
S + Stroke
Z + Stroke
2 I K
WA WB
Head cover port location
Axial location (R)
Y For details of the mounting nut, refer to page 22. #: The overall cylinder length does not change.
Dimensions other than the table below are the same as those on page 9. [mm]
Bore size B © GA | GB [ NA |NB |WA |WB S Z
10 15 17 7.5 6.5 21 20 14.4 | 134 65 93
16 18.3 20 7.5 6.5 21 20 14.4 | 13.4 66 94

O
2

10

Standard
Double Acting, Double Rod
CJ2W

10

Built-in Speed Controller  |[ Non-rotating Rod
Double Acting, Double Rod | | Double Acting, Single Rod
CJ2ZW CJ2z CJ2K

U

Direct Mount

(With End Lock |[ Direct Mount, Non-rotating Rod |[

Double Acting, Single Rod

nd
CJ2

|

Double Acting, Single Rod
CJ2K

S

CJ2R

Double Acting, Single Rod

CJ2R

Double Acting, Single Rod || Si
CJ2RK

[Extend
CJ2RK

CBJ2

Auto Switch

Made to Order




Series CJ2

Dimensions

Single foot (L)

CJ2L6 — ‘Stroke HHead cover port location |Z

Piping port 2 x M5 x 0.8

=]
‘ l
NC
SA + Stroke
ZA + Stroke
Head cover port location ;X @ .'-Ch |
Axial location (R) | ounting hole
“ Mounting nut Pipingport 2x M5x0.8 ‘----.— --------
. Rod end nut NN \ GA GB - Cover surface
MM \
] % \ e = ] b
o3| L _ - S T ~ A" _ ) S N ol >
0 ‘ 1 —;[:j ‘ | / N7/ B
T : an 4 -
B-0s =

— LX
- XY LZ

A T NA NB

H S + Stroke
Z + Stroke
CJ2L %g - ‘Stroke HHead cover port location |Z
Piping port M5 x 0.8
<‘ g 2x@LC

Head cover port location
Axial location (R)

Mounting hole

*: The overall cylinder length does not change. ——— '! """""""
* Mounting nut F GA  Piping port 2 x M5 x 0.8 GB
Rod end nut NN ~ Cover surface
MM 1}{ | L/
I — or .-
==Y & X a2
-
5 LX
A Lz
XY [ NA NB
H S + Stroke
Z + Stroke
Y For details of the mounting nut, refer to page 22. (mml
Boresize |A| B |C|D |F |GA|GB|H B |LC ILH LT X LY LZ | MM NA NB NC | NN S SA T Z ZA
6 15|12 |14| 3 |8 |145| 5 |28 |15(45| 9(1.6|24(16.5|32|M3x05|16 |95| 7 |[M6x1.0[515|49|3 |5 |7 |795|77
10 15|12 (14| 4 |8 | 8 5 (28(15(45| 9(/1.6(24[16.5|/32|M4x0.7|125/95| —|M8x1.0(46 |—|— |5 |7 |74 |—
16 15/18.3|20| 5|8 | 8 5 (28(23|55(14|23(33|25 |42|M5x0.8|125/95| — |M10x10({47 |—|— |6 ]9 |75 |—

11



Air Cylinder: Standard Type
Double Acting, Single Rod

Dimensions

Series CJ2

Single foot (L)

With air cushion: CJ2L %g - ‘Stroke ‘A ‘Head cover port location |Z

Y& Mounting nut

Y For details of the mounting nut, refer to page 22.

GA  Piping port 2 x M5 x 0.8 GB Cover surface

T “’L:’

Do i ) ) ) i 5 ) ; 2
\ \ \ |

NA NB
S + Stroke
Z + Stroke

\ | g
.Y S . > L

WA WB

Piping port M5 x 0.8

Head cover port location
Axial location (R)

#: The overall cylinder length does not change.

Dimensions other than the table below are the same as those on page 11. [mm]
Bore size B C |GA |GB |LB [NA |[NB (WA |[WB | S Z
10 15 17 7.5 6.5 16.5 21 20 14.4 | 134 65 93
16 18.3 20 7.5 6.5 23 21 20 14.4 | 13.4 66 94

O
2

12

Standard
Double Acting, Double Rod
CJ2W

lll
Double Acting, Single Rod rnge Acting, Spring Return/Extend

Non-rotating Rod
Single Acting, Spring Return/Extend

Built-in Speed Controller  |[
Double Acting, Double Rod
CJ2ZW

U

Direct Mount

(With End Lock |[ Direct Mount, Non-rotating Rod |[

N
—
©)

=
S
&
@
=
o
=
=
j=1
<
@
=
=
3
a

CJ2

CJ2K

Double Acting, Single Rod
CJ2z

CJ2R

Double Acting, Single Rod

Single Acting, Spring Retum/Extend
CJ2R

Double Acting, Single Rod
CJ2RK

Single Acting, Spring Retun/Extend

| CJ2RK

CBJ2

Auto Switch

Made to Order




Series CJ2

Dimensions

Double foot (M)

CJ2M6 — z

H

Y Mounting nut

¥ Mounting nut

Rod end nut Piping port 2 x M5 x 0.8 NN
MM NN\ F_|. GA / cB__ _F /

N

oo

\ S| =]
(@)
1 | |
) =
— ~
- —
A T NA NB | Y | X
X|Y S + Stroke
LS + Stroke
Z + Stroke

CJ2M 12 — [Stroke | Z

4x@LC

Mounting hole

Cover surface

) 13| 5
| | —
LX
LZ
A4xDLC

Mounting hole

H ¥ Mounting nut ~ ————— lr -------------
= ——
¥ Mounting nut F |[GA  Piping port 2 x M5 x 0.8 GB F NN ;
Rod end nut NN Cover surface
MM [a] e Ay
TS i i
A [0
i = = O | >
o ) H %% E o~
— N
5 LX
A LZ
X1 .Y [ NA NB[Y |X
S + Stroke
LS + Stroke
Z + Stroke
Y For details of the mounting nut, refer to page 22. (mml
Bore size A|D|F |GAI|GB|H |[LB |[LC |LH |[LS |LT LX [LY Lz MM A NB NN S Z

6 15| 3 | 8 |145| 5 |28 |15|45| 9|655(16|24 (16532 | M3x05 |16 |95| M6x10 |[515| 3 | 5 | 7 |915
10 15 4 | 8| 8 5|28|15|(45| 9|60 |16|24|165|32 | M4x0.7 |[125[95| M8x1.0 |46 | — | 5 | 7 |86
16 5|5 | 8| 8 5 |128|23|55|14|65 |23|33|25 |42 |M5x0.8|125[95|M10x10 |47 |— | 6 | 9 |90

13

O
2



Air Cylinder: Standard Type
Double Acting, Single Rod

Dimensions

Series CJ2

Double foot (M)

With air cushion: CJ2M %g - AZ

Y Mounting nut
Rod end nut

Y Mounting nut

% Piping port 2 x M5 x 0.8 f@ Cover surface
[ iFE] Z
| | K/ -~
) —— T
NA NB [View E
S + Stroke
Z + Stroke
WA WB
Y For details of the mounting nut, refer to page 22.
With Air Cushion /bimensions other than the table below are the same as those on page 13. [mm]
Bore size B C |GA |GB |LB [NA |[NB (WA |[WB | S Z
10 15 17 7.5 6.5 16.5 21 20 14.4 | 134 65 93
16 18.3 20 7.5 6.5 23 21 20 14.4 | 13.4 66 94
14

O
2

Standard
Double Acting, Double Rod
CJ2W

lll
Double Acting, Single Rod rnge Acting, Spring Return/Extend

Non-rotating Rod
Single Acting, Spring Return/Extend

i

Built-in Speed Controller
Double Acting, Double Rod
CJ2ZW

U

Direct Mount

Single Acting, Spring Retum/Extend
CJ2R

(With End Lock |[ Direct Mount, Non-rotating Rod |[

N
—
©)

=
S
&
@
=
o
=
=
j=1
<
@
=
=
3
a

CJ2

CJ2K

Double Acting, Single Rod
CJ2z

CJ2R

Double Acting, Single Rod

Double Acting, Single Rod
CJ2RK

Single Acting, Spring Retun/Extend

| CJ2RK

CBJ2

Auto Switch

Made to Order




Series CJ2

Dimensions

Rod fl ange (F)

CJ2F6 — ‘Stroke HHead cover port location ‘Z

Y Mounting nut

Piping port 2 x M5 x 0.8

Rod end nut NN GA GB Cover surface
< MM -
m' 9 ‘\‘ g 1 ;}\ B
oo . 1 il - . ! - - - - - | m >
EZ ‘ | |
{ | [ \ \ ‘
FT T FX 2x@ FC
0
B-o3 A F NA NB (=4 Mounting hole
H S + Stroke
Z + Stroke
Piping port 2 x M5 x 0.8
0” ]
Q ]
o“o:' - - M o o o
° \
803 NC
SA + Stroke
ZA + Stroke
Head cover port location
Axial location (R)
CJ2F %g - ‘Stroke HHead cover port location ‘ Z
Y Mounting nut
ini Cover surface
Rod end nut GA  Piping port 2 x M5 x 0.8 GB_, .
] oY% MM o)\ | 1
i} \ &L ] 1
(I = ¢ . : : : O P T
m
7 ﬂt{ -
+ — T
B-0s FT FX
A F | NA NB (=4 2% @ EC
H S + Stroke Mounting hole
Z + Stroke
Piping port M5 x 0.8
Head cover port location
Axial location (R)
+: The overall cylinder length does not change.
Y For details of th ti t, refer t 22.
or details of the mounting nut, refer to page [mm]
Boresize | A | B |C |[D|F |[FB|FC |FT |FX |FY [FZ |GA GB |H MM NA NB NC NN S SBA T |[Z FZA
6 15 | 12 14| 3|8|13|45|16|24|14|32|145| 5 |28 | M3x0.5 |16 95| 7 | M6x1.0 |515|49| 3 |795| 77
10 15 | 12 14| 4| 8|13|45|16[24|14 (32| 8 5128 | M4x0.7 |125|95| — | M8x1.0 |46 — |—| 74 —
16 15118320 | 5|8 [19|55(|23|33|20|42| 8 5]128 | M5x0.8|125|95| — | M10x1.0 |47 — |— |75 —
15 V.
ZSVC



Dimensions

Air Cylinder: Standard Type
Double Acting, Single Rod

Series CJ2

Rod fl ange (F)

With air cushion: CJ2F leg - ‘Stroke ‘A ‘Head cover port location |Z

Y Mounting nut

Rod end nut

GA

Piping port 2 x M5 x 0.8

®©
w

Cover surface

Standard
Double Acting, Double Rod
CJ2W

N
—
©)

=
S
&
@
=
o
=
=
j=1
<
@
=
=
3
a

T

e ]

i
Hd

NA

—C

NB

S + Stroke

Z + Stroke

WA

Y For details of the mounting nut, refer to page 22.

WB

Piping port
| M5 x 0.8

5=

Head cover port location
Axial location (R)
#: The overall cylinder length does not change.

Dimensions other than the table below are the same as those on page 15. [mm]

Bore size

B

C

FB

GA

GB

NA

NB

WA |[WB | S Z

10

15

17

14.5

7.5

6.5

21

20

144 | 134 65 93

16

18.3

20

19

[25)

6.5

21

20

144 | 134 | 66 94

O
2

16

lll
Double Acting, Single Rod rnge Acting, Spring Return/Extend

Non-rotating Rod
Single Acting, Spring Return/Extend

Built-in Speed Controller  |[
Double Acting, Double Rod
CJ2ZW

U

Direct Mount

(With End Lock |[ Direct Mount, Non-rotating Rod |[

CJ2

CJ2K

Double Acting, Single Rod
CJ2z

CJ2R

Double Acting, Single Rod

Single Acting, Spring Retum/Extend
CJ2R

Double Acting, Single Rod
CJ2RK

Single Acting, Spring Retum/Exend

| CJ2RK

CBJ2

Auto Switch

Made to Order




Series CJ2

Dimensions

Head flange (G)

CJ2G6 — z

Rod end nut

NN

Piping port 2 x M5 x 0.8

Y Mounting nut

Cover surface GA GB - NN
MM
— \ [a) - ;
Q E:"!"SI IZ"'"'E I o
- _@_ m| > — |- > _ PO O?
L o i}
1 | |
‘ F. |
A T NA NB FT
EX 2x@ FC H S + Stroke F
EFZ Mounting hole 7 + Stroke
cJ2G 10 _[stroke | Z
16
Cover surface  Rod end nut % Piping port 2 x M5 x 0.8 GB Y Mounting nut
NN NN O
| MM Q ‘ i / /R )
x & ' 1 I Loy ™
1 O B S8 : — 2l
T —H T
Fz Mounting hole H S + Stroke F
Z + Stroke
Y For details of the mounting nut, refer to page 22. (mm]
Bore size A B © D F |[FB |FC |FT |[FX |FY |FZ |GA |GB | H MM NA |[NB NN S T Z
6 15 |12 14 | 3 8 | 13 | 45|16 | 24 | 14 | 32 |145| 5 | 28 | M3x0.5 |16 95 | M6x1.0 |515| 3 |875
10 15 | 12 14 | 4 8 |13 | 45|16 |24 | 14 | 32 | 8 5 | 28 | M4x0.7 |125| 95 | M8x 1.0 | 46 — |82
16 15 |183| 20 | 5 8 |19 | 55|23 |33 | 20| 42| 8 5 | 28 | M5x0.8 |125| 9.5 | M10x 1.0 | 47 — |83
17
ZS\NC



Air Cylinder: Standard Type
Double Acting, Single Rod

Dimensions

Series CJ2

Head flange (G)

L . 10
: —|Strok
With air cushion: - CJ2G 7 ¢4 AZ
Rod end nut
Cover surface GA Piping port 2 x M5 x 0.8
N ik
. ._6}, m _ S B B i .
[
\ | |
NA
S + Stroke
Z + Stroke

WA

Y For details of the mounting nut, refer to page 22.

With Air Cushion /bimensions other than the table below are the same as those on page 17. [mm]

Bore size B © FB | GA |GB |NA [NB |WA |WB S Z
10 15 17 145 | 75 6.5 21 20 144 | 13.4 65 93
16 18.3 20 19 7.5 6.5 21 20 14.4 | 134 66 94

O
2

WB

18

Standard
Double Acting, Double Rod
CJ2W

10

Non-rotating Rod
Double Acting, Single Rod [

Single Acting, Spring Return/Extend
CJ2K

Built-in Speed Controller  |[
Double Acting, Double Rod
CJ2ZW

U

Direct Mount

(With End Lock |[ Direct Mount, Non-rotating Rod |[

Double Acting, Single Rod

nd

CJ2

CJ2K

Double Acting, Single Rod
CJ2z

CJ2R

Double Acting, Single Rod

CJ2R

Double Acting, Single Rod || Si
CJ2RK

[Extend
CJ2RK

CBJ2

Auto Switch

Made to Order




Series CJ2

Dimensions

Double clevis (D)

CJ2D 19 - [Stroke| 2

+0.030

@ CDH9 o
Rod end nut GA Piping port 2 x M5 x 0.8 NB Clevis pin (& cd d9:8ﬁg§8)
MM GB
O
1 Q) (&) - —
o3 S j 0 /
7 A | |
o W ¥, S8 =85
' +0.2 [
CX+01 A NA
cz.2, H S + Stroke U
Z + Stroke R
ZZ + Stroke
With air cushion: CJ2D 10 _ Stroke | AZ
16
Rod end nut NB
Ga Piping port 2 x M5 x 0.8 GB
¢} /
q> Il
.o [ @ @ I
dl ] ' B I :
I [
NA
CZ-03 S + Stroke
Z + Stroke
ZZ + Stroke
WA WB
#: A clevis pin and retaining rings are included. (mm]
Bore size A B C |CD{d)] CX | CZ D GA | GB H MM NA | NB R S U VA Y4

10 15 12 14 3.3 3.2 12 4 8 18 28 M4 x 0.7 | 125|225 5 46 8 82 87
16 15 18.3 20 5 6.5 18.3 5 8 23 28 M5x0.8 | 125|275 8 47 10 85 93

With Air Cushion /bDimensions other than the table below are the same as the table above. [mm]
Bore size B © CZ | GA |GB | NA [NB |WA |WB S Z 77
10 15 17 15 7.5 19.5 21 33 14.4 | 26.4 65 101 106
16 18.3 20 18.3 7.5 24.5 21 38 144 | 31.4 66 104 112

19

O
2



Dimensions

Air Cylinder: Standard Type
Double Acting, Single Rod

Series CJ2

Double-side bossed (E)

CJ2E6 — z

Y Mounting nut

Pipi t2xM5x0.8 YY
Rod end nut NN 2 PN POR =X Vo X
[=) GB NN
MM = j-—
al \&
\ \( a | [E==]
—= > -
1 |
NA
A F T NB
H S + Stroke F Section YY detall
Z + Stroke
CJ2E 10—-Stroke Z
16
Y Mounting nut
NN GA  Piping port 2 x M5 x 0.8 GB YY
Rod end nut =
MM \ NN
\ 7] 2 )
T [ 1\ _ _ | ool'
L | @
A F | NA NB
Q Section YY detalil
H S + Stroke F
Z + Stroke
Y For details of the mounting nut, refer to page 22. (mm]
Bore size A B © D F GA | GB H MM NA | NB NDh 8 NN S VA
6 15 | 12 14 3 8 |145]| 5 28 | M3x05 | 16 9.5 69018 M6x1.0 | 515 87.5
10 15 12 14 4 8 8 5 28 M4x0.7 | 125 | 9.5 B3 M8 x 1.0 46 82
16 15 18.3 20 5 8 8 5 28 M5x0.8 | 125 | 9.5 105050 M10x 1.0 | 47 83
20

N

Standard
Double Acting, Double Rod
CJ2W

10

Non-rotating Rod
CJ2K

Built-in Speed Controller  |[
Double Acting, Double Rod
CJ2ZW

U

Direct Mount

(With End Lock |[ Direct Mount, Non-rotating Rod |[

Double Acting, Single Rod

nd
CJ2

|

Double Acting, Single Rod
CJ2K

S

Double Acting, Single Rod
CJ2z

CJ2R

Double Acting, Single Rod

CJ2R

Double Acting, Single Rod || Si
CJ2RK

[Extend
CJ2RK

CBJ2

Auto Switch

Made to Order




Series CJ2

Dimensions

Double-side bossed (E)

With air cushion: CJ2E %g - AZ

Y& Mounting nut

GA Piping port 2 x M5 x 0.8 cB

Rod end nut

NA NB
S + Stroke F
Z + Stroke
WA WB

Y For details of the mounting nut, refer to page 22.

With Air Cushion /bimensions other than the table below are the same as those on page 20. [mm]
Bore size B © GA [ GB [ NA |NB |WA |WB S} Z
10 15 17 7.5 6.5 21 20 14.4 | 134 65 101
16 18.3 20 7.5 6.5 21 20 14.4 | 13.4 66 102

21

O
2



Series CJ2

Dimensions of Accessories

(Option)

—

N
Single Knuckle Joint Clevis Pin Knuckle Pin 2
— 8
il @NDH10 o S ;
L = 5|2
. . L n L i 'r'éc gg
j—T'—_P._ E A BR ] Nl [k L tm ; £ S 2 |® 0
— [ = 8
S [ E B
[Ar] LB | | NXCRL Ell:ﬂj e EI: I:E] i 7 I
T X = 1 i F EN
L T L 12 J T 1 £
=0
Material: Stainless steel L E’
Material: Rolled steel i Material: Stainless steel [~ (=
, Part no.| {4 Ddg | d L [La|m |t |2 : g
Part no.| M€ A, | L, | MM [NDHI0NX| Ry | U: - T partno. /M Dg | g L |L.|m |t | e | |2x
bore size CD-J010| 10 |3.33%%| 3 |152[122]1.2[0.3 |TypeC32 bore size reaining g 3 E
1-J010C | 10 | 8 |21|M4x07|3.37%*¢|3.1| 8 | 9 CD-Z015| 16 |520:0% |4.8(227|18.3|1.5(0.7 | TypeC5 CD-J010| 10 (3.3200%| 3 [152[122(1.2|0.3|Type C32 ﬂééo
1-JO16C | 16 | 8 [25|M5x08|5'9%*¢(6.4(12 |14 CD-JAO10*| 10 |3.323930| 3 [182]152|1.2{0.3|Type C32 1Y-JO15| 16 |520:9% [4.8(166(122|1.5(0.7 | TypeC5 % s
. For @ 10 double clevis type, with air cushion and built-in speed controller. = For @ 10, a clevis pin is diverted. é §
#: Retaining rings are included with a clevis pin. #: Retaining rings are included with a knuckle pin. |5|8 X
Z|lgN
Double Knuckle Joint Mounting Nut Rod End Nut Z
- EIEIN
AR @ND hole H10 i J o 5 gg
_ ’ AXis d9 i 5|20
wajgpe s | | n L
LT S =0 3| @ £ Hp
|- 11 | St I ED=
J e ] J B e £[EN
i:-.t' . N = B o " L
T T o — . | L] - méo
Material: Rolled steel Material: Carbon steel Material: Carbon steel [ 3
Partno. || As | L | Li | MM partno. |Aoplcabel 5 | o q H Partno. [Apvicabe| g | q H B
v-3010C | 10 | 8 [15.2| 21 |M4x07 Ane- Thoresize| =+ | & ' AN Tooresize| =2 | &2 2 ES
Y-J016C 16 11 |16.6| 21 | M5x0.8 SNJ-006C 6 8 |92 |M6x10| 4 NTJ-006B 6 55|64 | M3x05]| 2.4 § 2 O
Partno. | NDJ9 INDHI0I NX | R. | U, SNJ-010C| 10 | 11 [12.7| M8x1.0 | 4 NTJ-010C| 10 | 7 |81 |M4x07 |32 |2
b 5(3
Y-3010C |3.3:28%(3.39%%| 32 | 8 | 10 SNJ-016C| 16 | 14 [16.2| M10x10 | 4 NTIOISC| 16 | 8 |92 |M5x08] 4 |1d
Y-3016C | 5982 | 529% | 65 | 12 | 10 SNKJ-016C*| 16 | 17 |19.6| MI2x10 | 4 kT
#: A knuckle pin and retaining rings are included. *: For @ 16 non-rotating type. (Use SNJ-016C £0
for @ 10 non-rotating type.) =
EIE
T-bracket Rod End Cap glax
gax
™ 555
N Flat type/CJ-CF OO Round type/CJ-CR OOO 2120
+:) é 3
~ B A i “(z
1 cl= ¥
=13 ' =) P b LAY
=1 A A || UL 8EG
N 0 — i e =l
e & LA Lw) EE__
] peT [ i = =
]
TY Material: Polyacetal |=| N
w Part no licabl E B
: Applicable
Flat type |Round type | bore size e il A RS § ©
i -CF -CR 11| M . e
Part no. [APPIC80e| 1| D10 [TH|TK (TN[TT [TU[TV [TW|TX|TY|TZ CJ-CFO06 |CICRO6] 6 16138 3x05 151816
CJ-CF010 | CJ-CRO10 10 8 |10 |13| M4x0.7 | 6 |10 | 8 5
CJ-T010C| 10 |45|3.3'3*°|29|18|31]| 2 | 9 |40/22|32|12| 8 CJ-CF016 | CJ-CRO16 | 16 |10|12|15| M5x0.8 | 7 |12 10 =
CJ-T016C 16 55| 5% 135/20(6.4(2.3|14|48(28|38|16|10 o
x: A T-bracket includes a T-bracket base, single knuckle joint, hexagon <
socket head bolt and spring washer. =
x: For dimensions of (U) and (S + Stroke), refer to the double clevis g
drawing on page 19. P=)
S
=
22

O



Air Cylinder: Standard Type
Double Acting, Double Rod

Series CJ2W

6,0 10,9 16 o

How to Order

B cowB 16]-[60]/A] z-

1 !
WinEnoEvicmm CDJ2W (L ||16]-|60|A|Z-|IM9BW | |-|B|-

With auto switch
(Built-in magnet) l

Mounting e Number of auto

Elj ?:aSitc Bore size switches oo
00 — .

6 | 6mm

F Flange 10 | 10 mm E - l pe.

«: Foot/Flange brackets 16 | 16 mm n n_pcs.

are shipped together
with the product, but

not assembled. Cylinder standard stroke [mm] e Auto switch mounting type @
Refer to “Standard Strokes” on page 24. A Rail mounting
. B Band mounting
Cushion e
Rubber bumper #: For rail mounting, screws
- - Auto switch @ and nuts for 2 auto switches
L Alr cushion come with the rail.

*: @ 6: Rubber bumper only [ — | without auto switch |

«: Refer to page 107 for auto
«: For applicable auto switches, switch mounting brackets.
refer to the table below. *: @ 6: Band mounting only
* Enter the auto switch mounting
type (A or B) even when a
built-in magnet cylinder without Made to Order ®
an auto switch is required. Refer to page 24 for details.

Applicable Auto Switches /Refer to the Auto Switch Guide for further information on auto switches.

B Load voltage Auto switch model Lead wire length [m] ) .
. . Electrical| "= | Wiring - - - Pre-wired | Applicable
Type| Special function enty | £|(Output) DC AC Band mounting Rail mounting 05| 1|3 |5 |None IR [l
Vs p Perpendicular| In-line [Perpendicular| In-line | (—) [(M)| (L) | (2) | (N)
3-wire (NPN) 5V12V MINV MON MINV MON ® (00 O — ©) IC circuit
Grommet 3-wire (PNP) ' M9PV M9P M9PV M9OP ® 0 O|—| O
S ) M9BV M9B M9BV M9B ® 0 O — O
= 2-wire 12V —
2 Connector — H7C J79C — o — 06066 —
Q Diagnostic indication 3-wire (NPN) 5V12V MONWYV | MONW | MONWV | MONW | @ @ | @ | O |— ©) IC circuit| Rel
3 |Pragnostic Inc Ves|Sire (PNP)[24 V[ " — [ 'mMoPwv | MoPw [ moPwVv | MoPw | @ (@ [@|O|—| © ey,
o | (2-colour indicator) - PLC
= 2-wire 12V M9BWV | M9BW | M9BWV | M9BW ® (00 O — ©) —
Iz Water resistant Grommet| |3-wire (NPN) 5V12V MINAV*L | MONA*L | MONAV*L| MONA*t | O |O | @ |O|—| O IC cicuit
= (2-colour ndicaton Suire (PNP) ' MOPAV* | MOPA*! [MOPAV*L| MOPA*1 | O |O [@[O|—| O
N 2-wire 12V M9BAV*1| MOBA*! IMI9BAV*L| MO9BA*: | O |O | @ | O |— ©) —
Withdiagnosticoutput (2 colour ndiato) 4-wire (NPN) 5Vv,12V — H7NF — F79F ® —|® O|—| O |[[Ccircui
3-wire -
s o P — 5V - A9BV A96 A6V A96 ® | —|®|—|—| — |Ccuf| —
s commetl — | 200v — — A72 | A72H | @ |— @ |—|—| — |
2 — || 100V | A93v*2 | A93 [A93V*2 | A3 (e |e|e|e|—
= INol 5 _ire 19\ |100Vorless| A9QV A90 A0V A90 o — 0| — | — IC circuit| Relay,
3 Yes 24V, — — C73C_| A73C — e — o/ ®/® — | — |PC
& Connector[No 24V or less — C80C A80C — ® | —®/® ® | — |Ccircut
Diagnostcindicaton (2colourindicator}| Grommeet [Yes — — — — A79W = ® —\ 0 ——| — —

+1: Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Please contact SMC regarding water resistant types with the above model numbers.
%2: 1 m type lead wire is only applicable to D-A93.

#: Lead wire length symbols: 0.5 m:-voveeeeeneen — (Example) MONW

Ime- - M (Example) MONWM
3m-.--- ---L  (Example) MONWL
5m.- ---Z (Example) MONWZ

None:-----weveeeee N (Example) H7CN
: Since there are other applicable auto switches than listed above, refer to page 108 for details.
: For details about auto switches with pre-wired connector, refer to the Auto Switch Guide on www.smc.eu .
: Solid state auto switches marked with “O” are produced upon receipt of order.
: The D-A900/M9DIOO/A7OO/AB0L/F7OOI70O auto switches are shipped together, (but not assembled). (For band mounting, only the auto switch mounting brackets are assembled before shipment.)

23 ZS\NC



Air Cylinder: Standard Type
Double Acting, Double Rod

Specifi cations

Series CJ2W

With auto switch:-10 °C to 60 °C

Bore size [mm] 6 | 10 | 16
Action Double acting, Double rod
Fluid Air
Proof pressure 1 MPa
Maximum operating pressure 0.7 MPa
Minimum operating | Rubber bumper 0.15 MPa 0.1 MPa
pressure Air cushion — 0.1 MPa
Ambient and I uid temperature Without auto switch: -10 °C to 70 °C (No freezing)

Standard

=
3
-4
@
>
=
[}
=2
=
j=1
<
@
=
S
3
=]
=
S
=
@
=
=
3
a
=3
=3
i=1
<
@
=
=
3
a

Cushion Rubber bumper | Rubber bumper/Air cushion C-Ig
Lubrication Not required (Non-lube) 2N
Piston speed Rubber bumper 50 to 750 mm/s izo
Symbol P Air cushion — 50 to 1000 mm/s H
Double acting, Double rod, Rubber bumper Allowable kinetic Rubber bumper 0.012J 0.035J 0.090J L=
Air cushion o 0.07J 0.18J B
[ l ﬂ Bl ] energy (Effective cushion length) (9.4 mm) (9.4 mm) Y
[ ] +1.0 SN
Stroke length tolerance 0 Blgm
\ \ €20
Air cushion Standard Strokes e
ol
| | it
ﬂ B Bore size Standard stroke z|gN
[ ] 6 15, 30, 45, 60 23
‘ ‘ 10 15, 30, 45, 60, 75, 100, 125, 150 i
16 15, 30, 45, 60, 75, 100, 125, 150, 175, 200 A
x; Manufacture of intermediate strokes in 1 mm increments is possible. (Spacers are not used.) _ <
Produced upon receipt of order. ° E’N
pade L «: Please consult with SMC for strokes which exceed the standard stroke length. = £
fie Made t_o Order «: Applicable strokes should be confirmed according to the usage. For details, refer to “Air Cylinders é s O
(For details, refer to pages 111 to 120.) Model Selection” on www.smc.eu . In addition, the products that exceed the standard stroke might || 3
Symbol Specifications not be able to fulfill the specifications due to the deflection etc. (8;."_ 3 ;
-XAL | Change of rod end shape Mou nting and Accessories  [referto page 22 for details about part numbers and dimensions. |- 2 N
Heat resistant cylinder (-10 to 150 °C) = ° d h d 0Pl d I E gg
-XB6 = Not available with switch & with air cushion Mounted on the product. Please order separately. | % (@)
M i Basi F Fl -
_XB7 Cold resistant cylinder (-40 to 70 °C) ounting asic oot ange (=
* Not available with switch & with air cushion = Mounting nut [ ] [ ] [ ] g’ﬂ:
= =
-XC22 | Fluororubber seal * Not available with air cushion el EOd Ienlg nUtkI o 8 g 8 Z;'(_\l)
- - c ingle knuckle join |2
B With hose nipple 2 [ Double knuckle joint" ) @) o 5120
-XC85 | Grease for food processing equipment O | Rod end cap (FlatRound type) @) [@) @) 2|8
-X446 | PTFE grease #: A pin and retaining rings are shipped together with double knuckle joint. 8 E
. 5|2
Mounting Brackets/Part No. N
Refer to pages 101 to 108 for cylinders with 9 ‘éa
auto switches. =
T S Bore size [mm] (W 2
« Auto switch proper mounting position (detection GG [SEEE 6 10 16 Tg E
at stroke end) and its mounting height Foot CJ-L006C CJ-L010C CJ-L016C Dcf» é’é
« Minimum stroke for auto switch mounting Flange CJ-FO06C CJ-F010C CJ-FO16C £z
) . S|IEm
Operatlng range _ Welghts ° 2 &)
» Auto switch mounting brackets/Part no. ol é =l
9l <[z
Bore size [mm] Rubber bumper Air cushion £ f;fx
A Precautions T e e o R R 1
Basic weight . 5lem
e e m e e e mmmm— === (When the sroke s zerg)| 5351 » 29 > 3 61 520
: Additional weight per 15 mm of stroke 3 4.5 7.5 4.5 7.5 - A—
1 Refer to page 121 before handling. | =
e o= - E g_ e e e e e = _g_ -a Mounting bracket | Foot 16 16 50 16 50 B
weight Flange 5 5 13 5 13 J
~ Single knuckle joint — 17 23 17 23 E B
Moisture - Double knuckle joint _ 25 21 25 21 =)
Control Tube Accessories (including knuckle pin) =
Series IDK - Rod end cap (Flat type) 1 1 2 1 2 R
When operating an actuator with a small diameter - Rod end cap (Ro.und type? 1 - 1 2 1 2 S
and a short stroke at a high frequency, the dew *: Mounting nut and rod end nut are included in the basic weight. U§)
condensation (water droplet) may occur inside the Calculation: %
piping depending on the conditions. Example). CJZ_WL]'O'A'SZ <<
Simply connecting the moisture control tube to the 'Ba5|_c‘ weight pnmmm 29 (2 10) -
actuator will prevent dew condensation from oc- OAdQ|t|0naI Weight «-oeveeeeeees 4.5/15 stroke g
curring. For details, refer to the IDK series in the OCyllnd_er stroke::------ o 45 stroke =]
catalogue on www.smc.eu. *Mounting bracket weight- - 16 (Foot) %
~ J 29+45/15x45+16=585¢g =
24

ZSNC



Series CJ2W

Clean Series

10-CI2W 19 _ [Stioke] 2

Clean Series

Air cylinder which is applicable for the system which
discharges leakage from the rod section directly into the
outside of clean room by relief port and making an
actuator’s rod section having a double seal construction.

Specifi cations

Action

Double acting, Double rod

Bore size [mm] 10, 16
Maximum operating pressure 0.7 MPa
Minimum operating pressure 0.1 MPa

Cushion

Rubber bumper

Standard stroke [mm]

Same as standard type. (Refer to page 24.)

For the detailed specifications, refer to the catalogue on www.smc.eu.

Construction (Not able to disassemble)

Auto switch

Mountable (Band mounting)

Mounting

Basic, Foot, Flange

ol

o SN

T

ol

S

i

With auto switch

25

N

L]




Air Cylinder: Standard Type
Double Acting, Double Rod

Series CJ2W

Construction (Not able to disassemble)

D6
Rubber bumper

@10, 16
Rubber bumper

10

4|

With auto switch

B
©
°
<
b
0

=
3
-4
@
>
=
[}
=2
=
j=1
<
@
=
S
3
=]
=
S
=
@
=
=
3
a
=3
=3
i=1
<
@
=
=
3
a

Extend

i
CJ2

CJ2K [

Double Acting, Single Rod

end

Non-rotating Rod

CJ2K

S

i

ol
e 55
i E
With auto sl8
switch I
AR
£lé N
3|EN
@10, D 16 35S
Air cushion 20
{04
1 DN
g0
3|2
v\ 2 =
B
- - 9]
| ] 1TEs |5|E o
‘ XD 4 N
-
With auto ©
switch i
EIE
rleX
[
55
£2°
Component Parts z
No. Description Material Note No. Description Material Note 5
(=)
1A Rod cover Aluminium alloy 10 Piston seal NBR =
1B Seal retainer Aluminium alloy @ 6 only 11 Tube gasket NBR §3’
2 Cylinder tube Stainless steel 12 Cushion needle Carbon steel &
3 Piston rod Stainless steel 13 Cushion ring Aluminium alloy §
4 Piston A Aluminium alloy 14 | Needle seal NBR 3 g
5 Piston B Aluminium alloy 15 Mounting nut Rolled steel i 8
ey
6 Piston Aluminium alloy 16 Rod end nut Rolled steel §
7 Bumper Urethane 17 Magnet — -
8 Rod seal NBR 18 Spacer A Aluminium alloy @ 6 only 5
9 Cushion seal NBR 19 Spacer B Aluminium alloy @ 6 only UE)
e
=
<C
g
S
I=}
]
=
26

O




Series CJ2W

Basic (B)

CJ2WB6 — |Stroke |Z

Y Mounting nut @
Rod end nut GA Piping port 2 x M5 x 0.8 GA % NN
Q <
MM ‘ MM )
b ] H ] e o3
. z ; ; h - = - - 4
=
=) LH%U:‘ ‘ ‘ tH m
A F [T NA NA [T| F A B-0s
H S + Stroke H + Stroke
Z + 2 x Stroke
CJ2wWB 10 _ Stroke | Z
16
2
o, ¥ Mounting nut [a)
NN § CAZ
Rod end nut =| /GA  Piping port 2 x M5 x 0.8 Q| NN MM ©
MM S 4 a
Q L i Q R
FRHAIE< - - - A— - e, o3
| om
A F | NA NA | F A
H S + Stroke H + Stroke
Z + 2 x Stroke
With air cushion: CJ2WB 10 _ Stroke | AZ
16
Y Mounting nut
Rod end nut GA  Piping port 2 x M5 x 0.8 [(jﬁ
| i } ; ) i3 ‘ i
|| ‘ ‘ [
T
NA NA
S + Stroke
Z + 2 x Stroke
%\ \ 3 ? \ \%
WA WA
Y For details of the mounting nut, refer to page 22. (mml
Bore size A B © D F GA H MM NA NDh 8 NN S T Z
o 61 117
6 15 12 14 3 8 14.5 28 M3 x 0.5 16 60018 M6 x 1.0 (66) (122)
10 15 12 14 4 8 8 28 M4 x 0.7 12.5 88022 M8 x 1.0 49 — 105
16 15 18.3 20 5 8 8 28 M5 x 0.8 12.5 10802 M10 x 1.0 50 — 106
With Air Cushion /bimensions other than the table below are the same as the table above. *()in S and Z dimensions: With auto switch
Bore size B © GA NA | WA S Z
10 15 17 7.5 21 14.4 66 122
16 18.3 20 7.5 21 14.4 67 123
27

% S\VC



Foot (L)

Air Cylinder: Standard Type
Double Acting, Double Rod

Series CJ2W

CJ2WL6 — z

Y Mounting nut A Piping port 2 x M5 x 0.8
Q
Rod end nut A F GA View E GA F NN
N
<
MM MM [0
= : 7
\ I E ‘ e ‘t:‘% | 4 O;’
N ) = @
—— N—— T
H - A B-0s
X Y [T NA NA [TLY X )
H S + Stroke H + Stroke View E
Z + 2 x Stroke
10 4x@LC
CJ2WL 16~ Stroke | Z Mounting hole
N jany
‘ N P w
Rod end nut ¥ Mounting nut View E }
MM GA  Piping port 2 x M5 x 0.8 GA|F NN MM Cover surface
o l / o
3 Q i ] h Q A
oIS S — e /i ol
o .tj H T & =l
i i )~
5 5 LX
A || |LF] A Lz
X Y | NA NA [ Y X
H S + Stroke H + Stroke
Z + 2 x Stroke
With air cushion: CJ2WL 10 _ Stroke | AZ
16
Rod end nut Y Mounting nut
GA  Piping port 2 x M5 x 0.8 GA Cover surface
ik "'r
N N i i i h, T o — ) . §
5 ? 9
ol
NA NA |View E
) S + Stroke
View E Z + 2 x Stroke
%H‘ \ S ? \
% ) ( [ |
WA WA
Y For details of the mounting nut, refer to page 22. (mm]
Bore size A|B|C|D|F |GA|H (LB |[LC |[LH LT |LX LY |LZ MM NA NN S [T [X |Y Z
61 117
6 15 |12 14 3 8 [145| 28 | 15 | 45 9116 | 24 |16.5| 32 | M3x0.5|16 M6 x 1.0 (66) 3 5 7 (122)
10 15 |12 14 4 8 8 28 | 15 | 45 9 |16 | 24 (16.5| 32 | M4x0.7 125 M8x 1.0 | 49 | — 5 7 105
16 15 |18.3| 20 5 8 8 28 | 23 | 55|14 | 23| 33 |25 42 | M5x0.8|125{M10x1.0| 50 | — 6 9 106
With Air Cushion  /Dimensions other than the table below are the same as the table above. *()in S and Z dimensions: With auto switch
Bore size B | C |GA|LB [NA WA |S |Z
10 15 17 | 7.5 [16.5| 21 |14.4| 66 | 122
16 18.3| 20 | 7.5 |23 21 |14.4| 67 | 123

O
2

28

B
©
°
<
b
0

=
3
-4
@
>
=
[}
=2
=
j=1
<
@
=
S
3
=]
=
S
=
@
=
=
3
a
=3
=3
i=1
<
@
=
=
3
a

i

Non-rotating Rod
Single Acting, Spring Return/Extend

Built-in Speed Controller  |[
Double Acting, Double Rod
CJ2ZW

U

Direct Mount

(With End Lock |[ Direct Mount, Non-rotating Rod |[

2

Single Acting, Spring Retum/Extend

|

Double Acting, Single Rod
CJ2K

Double Acting, Single Rod
CJ2z

CJ2R

Double Acting, Single Rod

Single Acting, Spring Retum/Extend
CJ2R

Double Acting, Single Rod
CJ2RK

Single Acting, Spring Retum/Exend

| CJ2RK

CBJ2

Auto Switch

Made to Order




Series CJ2W

Flange (F)

CJ2WF6 — z

Y Mounting nut Piping port 2 x M5 x 0.8

Rod end nut o
. <
View E GA % NN Cover surface
Q MM
| Haw)
o _ _ o ! - ] _Ci:;—r ! _ _ | E EL-
NA [T| F A FX 2x@FC
. H S + Stroke H + Stroke Fz Mounting hole
View E
Z + 2 x Stroke
CJI2WF 10 _ Stroke | Z
16
Rod end nut Y Mounting nut
GA  Pioi ) Cover surface
MM Piping port 2 x M5 x 0.8 GA NN MM
a)\ /| / a) |
ST SEl S -
==l - - - — <= - } W< 2|z
T T
dl |
T
FT
A F [ NA NA | F A EX
H S + Stroke H + Stroke FZ
Z + 2 x Stroke
2x@ FC
Mounting hole
With air cushion: CJ2WF 10 _ Stroke | AZ
16
Y Mounting nut
Rod end nut
GTA Piping port 2 x M5 x 0.8 GA Cover surface
e wr "l
HE ik
: ——Fpe———n )
T
NA NA
S + Stroke
Z + 2 x Stroke
\ \ S é \ \
oY R B Vol |
= b ="
WA WA
Y For details of the mounting nut, refer to page 22. (mm
Bore size A B @ D F FB |[FC |FT |FX |FY |FZ |GA | H MM NA NN S T VA
61 117
6 15 12 14 3 8 13 4.5 1.6 24 14 32 145 | 28 M3 x 0.5 | 16 M6 x 1.0 (66) (122)
10 15 | 12 14 4 8 13 4.5 1.6 24 14 32 8 28 | M4x0.7 | 125 | M8x 1.0 | 49 — 105
16 15 | 183 | 20 5 8 19 55 | 23 33 20 42 8 28 M5x0.8 | 125 | MI0x1.0| 50 — 106
With Air Cushion  /bimensions other than the table below are the same as the table above. *()in S and Z dimensions: With auto switch
Bore size B © GA | FB |NA |WA | S Z
10 15 17 75 | 145 21 14.4 66 122
16 18.3 20 7.5 19 21 14.4 67 123
29 Y
S S\VC



Air Cylinder: Standard Type
Single Acting, Spring Return/Extend

Series CJ2 Rt

N
S5M)
D 6,010, 16 :©
’ ’ E
o|2
B
How to Order S
#s0
Cylinder standard stroke [mm] Action S
Refer to “Standard Strokes” on page 31. S | Single acting, Spring return | #&** §
T | Single acting, Spring extend é
| | | | e
. . ' g
With auto switch C 6/-145||S — -IM9 _ B _ gy
DJ2B|16|-4 Z MO9BW &
| HHe!
With auto switch  (Built-in magnet) .g &
Mounting Pivot bracket e—! 5[5
B Basic — None Made to Order o |5|2X
- - - i Z|lgN
E | Double-side bossed Bore size ® N | Pivot bracket is shipped together Refer to page 31 for details. «38
; with the product, but not assembled. Auto switch . ) 2
D | Double clevis 6 | 6mm | |- , _ _ ® Auto switch mounting type g
L Single foot 10 |10 mm | |*: Only for CJ2D (double clevis) | — [ Without auto switch | - , =
M Double foot 16 | 16 mm | | *: Pivot bracket is shipped together +: For applicable auto A | Rail mountlr]g g
E Rod flange with the product, but not assembled. switches, refer to the B | Band mounting B|EN
#: Except @ 6 : ) SlaN
G Head flange table below. #: For rail mounting, screws =)
Rod end bracket i d nuts for 2 auto switch EIZ0
#: Foot/Flange brackets are shipped together with N * Enter the auto switch and nuts for 2 auto switches | g.s
— one mounting type (A or B) come with the rail. E
the product, but not assembled. v Single knuckle ioint N0 + Ref 107 § 2
=: Double clevis is only available for @ 10 and @ 16. Ingle knuckle join even when a built-in : Refer to page or auto (s
W Double knuckle joint magnet cylinder switch mounting brackets. nl's ;
Head cover port location e T Rod end cap (Flat type) without arcml auto switch | *: @ 6: Band mounting only £12K
. i ired. El2N
= For double clevis, double F U | Rod end cap (Round type) IS require . 2z
side bossed, double foot | Perpend!cular 23-'!- +- Rod end bracket s shipped together e Number of auto switches 20
and head flange, the port toaxis . with the product, but not assembled. — 2 pes. e
is I?]catetlj pderpenqlcular = ;A knuckle joint pin is not provided 8 1 pc. 2
to the cylinder axis. ) - with the single knuckle joint. n “n” pcs. =l
+: Not applicable to single R Axial *h-_r % |« @ 6: Except knuckle joint . 2N
i i 57
acting, spring extend (T). +; Refer to “Ordering Example of Cylinder Assembly” on page 31. § 0
Applicable Auto Switches /Refer to the Auto Switch Guide ~for further information on auto switches. 38
£ Load voltage Auto switch model Lead wire length [m g[E
. . |Electrical | 5 | Wiring gac vorad L0 WL = - Sac wie erng ] Pre-wired | Applicable | |.£]2
Type| Special function o 2| (output) DC AC Band mounting Rail mounting 05 (1|3 |5 |None . i ol
v 2 . Perpendicular| In-line  |Perpendicular] In-line | (—) [(M)| (L) | (Z)|(N) ‘%;g
3-wire (NPN) 5V12V MINV M9N MINV M9ON ® /06 O —| O IC cicuit ;%?O
Grommet 3-wire (PNP) ' M9PV M9P M9PV M9P ® 6 O|—| O LIE
§ 2-wire 12V M9BV M9B M9BV M9B ® 0O —| O . % 3
E Connector — H7C J79C — o — o000 — z|eX
2 Diagnostic indication Suie (NP 5Vv,12V BT @ (00 O | —| O IC circuit| Relay g ‘;%
> . 1 ] c|S
g (2-colour indicator) Yes| 3-wire (FNP) 24V — MOPWV | MOPW | MOPWV | MO9PW | @ @ |@®@ O —| O pc | 18|23 8
= 2-wire 12V M9BWV | M9BW |[M9BWV | M9BW | @ @@ @O |—| O — g g
7] Wat stant Grommet| | 3-wire (NPN) EV12V MINAV*1| MONA*! [MONAV#| MONA* | O (O | @ | O |—| O IC cireit Z2(z
] | vawr resistan 3ie (PNP) ' MIPAV*1[ MOPA*1 [MOPAV*[ MOPA*1 | O [O [@|O[—| O E|lx
Q | (2-colour indicator) - : ElE
Z 2-wire 12V M9BAV *1| MOBA*! IMOBAV*| MOBA*' | O (O | @ | O |—| O — 2 ﬁ'_énf
With diagnosticoutput (2-colourndator) 4-wire (NPN) 5V,12V — H7NF — F79F ® | — 10 0|— O |ICcircuit g ‘g Q
3-wire o 220
£ , (VPN equivn)| 5V — A96V A96 A6V A96 ® —|®|—|— | — |Ccicut — 2 £
E Grommet | — [200v [ — — A2 | A72H | @ [—|@[—|—| — | e
2 — ] 100V | A93V*2 | A93 |[A93V*2| A93 | e |e|e|e | —| — o &
3 No . 100 Vorless| A90V A90 A90V A90 ® | —|®|—|—| — |CoiuiRelay | |G 0
5 2-wire 12V =l O
3 Connector &S 24V — — C73C | A73C — e —el@e|/®| — | — |rcl|l|s
& No 24V or less — C80C A80C = ® —|©® ® ® — |Ccicui =
Diagnostc indicaton (2colourindicator}| Grommeet [Yes — — — — A79W = e —\0|—|—| — — =
+1: Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance. 2
Please contact SMC regarding water resistant types with the above model numbers. (%
x2: 1 m type lead wire is only applicable to D-A93. o
*: Lead wire length symbols: 0.5 m:----ceoveenneen — (Example) MONW Bmeeeeiennns Z (Example) MONWZ 2
im-- -+ M (Example) MONWM None:-----wevveeee N (Example) H7CN
B Mecereenenennnnnnn L (Example) MONWL g
*: Since there are other applicable auto switches than listed, refer to page 108 for details. §
*: For details about auto switches with pre-wired connector, refer to the Auto Switch Guide on www.smc.eu . -
x: Solid state auto switches marked with “O” are produced upon receipt of order. &
#: The D-A900/MIOO/A7OO/A800/F7OON70O auto switches are shipped together, (but not assembled). (For band mounting, only auto switch mounting brackets are assembled before being shipped.) =

2 SVC 30



Series CJ2

Spring extend

Specifi cations

= Bore size [mm] 6 | 10 | 16

i Action Single acting, Spring return/Single acting, Spring extend

Fluid Air
Spring return Proof pressure 1 MPa

Maximum operating pressure 0.7 MPa
Minimum operating | Spring return 0.2 MPa 0.15 MPa

Symbol pressure Spring extend 0.25 MPa 0.15 MPa

Single acting, Spring return,  Single acting, Spring extend, ; - Without auto switch: -10 °C to 70 °C ;

Ruk?ber burr?perp 9 gul?biflghn?pesrp g extend Ambient and fl uid temperature With auto switch. 10 °G to 60 G (NO freezing)
Cushion Rubber bumper

:W ] :ﬁ Lubrication Not required (Non-lube)

| | Stroke length tolerance 30

Piston speed 50 to 750 mm/s
Allowable kinetic energy 0.012J | 0.035 J | 0.090 J

wade

oder | Made to Order
(For details, refer to pages 11110 120.) Standard Strokes Spring Reaction Force

Symbol Specifications [mm]

-XALJ | Change of rod end shape Bore size Standard stroke Bore size Spring reaction force [N]

-XC22 | Fluororubber seal 6 15, 30, 45, 60 [mm] Primary Secondary

-XC51 | With hose nipple 10 15, 30, 45, 60 6 1.77 3.72

-XC85 | Grease for food processing equipment 16 15, 30, 45, 60, 75, 10 3.53 6.86

-X446 | PTFE grease 100, 125, 150 16 6.86 14.2

-X773*1| Short pitch mounting/Single acting, spring return x: Manufacture of intermediate strokes in 1 mm Spring with primary ~ Spring with secondary

*1: @ 6 only

Refer to pages 101 to 108 for cylinders with
auto switches.

« Auto switch proper mounting position (detection
at stroke end) and its mounting height

» Minimum stroke for auto switch mounting

« Operating range

« Auto switch mounting brackets/Part no.

A\ Precautions

1 Refer to page 121 before handling. |

Ordering Example of Cylinder Assembly

x: Applicable strokes should be confirmed according to
the usage. For details, refer to “Air Cylinders Model
Selection” on www.smc.eu. In addition, the products

increments is possible. (Spacers are not used.)
#: Please consult with SMC for strokes which

exceed the standard stroke length.

that exceed the standard stroke might not

mounting load mounting load

IN ouT
=Hevd =
= - -1
A VYV

When the spring is set
in the cylinder

When the spring is

be able to contracted by applying air

fulfill the specifications due to the deflection etc.

Mounting Brackets/Part No.

Bore size [mm]

Mounting bracket

6 10 16
Foot CJ-L006C CJ-L010C CJ-L016C
Flange CJ-F006C CJ-F010C CJ-F016C
T-bracket*! — CJ-T010C CJ-T016C

«1: T-bracket is used with double clevis (D).

Mounting and Accessories

/Refer to page 22 for details about part numbers and dimensions.

Cylinder model: CDJ2D16-45SZ-NW-M9BW-B

Double clevis

Pivot bracket

Double knuckle joint

Mounting D: Double clevis

Pivot bracket N: Yes

Rod end bracket W: Double knuckle joint
Auto switch D-M9BW: 2 pcs.

Auto switch mounting B: Band mounting

«: Pivot bracket, double knuckle joint and auto switch are
shipped together with the product, but not assembled.

31

@--Mounted on the product. O---Can be ordered within the cylinder model.

. ) Double™ | Double clevis

Mounting Basic Foot Flange clevis | (including T-brackef)
S | Mounting nut [ J [ J [ J — —
% Rod end nut [ ) [ ) [ [ J [ )
& | Clevis pin — — — [ J [ ]
c Single knuckle joint O O O O O
S | Double knuckle joint™ @) ©) ©) O @)
8 Rod end cap (Flat/Round type) O O O O ©)
T-bracket — — — O [ )

* %

: A pin and retaining rings are shippe

d together with double clevis and double knuckle joint.

: Double clevis is only available for @ 10 and @ 16.

Moisture
Control Tube
Series IDK

L

N
"

When operating an actuator with a small diameter and a
short stroke at a high frequency, the dew condensation
(water droplet) may occur inside the piping depending
on the conditions.

Simply connecting the moisture control tube to the
actuator will prevent dew condensation from occurring.
For details, refer to the catalogue on www.smc.eu .

-

_/

O

SvVC



Air Cylinder: Standard Type
Single Acting, Spring Return/Extend

Series CJ2

Weights g
- S
; Elw]
Spring Return [a] 5O
Bore size [mm] 6 10 16 %
) ) Axial Head-side ) Axial unble glews Head-side ) Axial DO.Uble glews Head-side g
Mounting Basic inin bossed Basic ioin (including bossed Basic ioin (including bossed ol
piping PIPING 1 clevis pin) PIPING 1 clevis pin) kS §§
15 stroke 17 15 18 28 28 29 28 62 62 69 64 (,;5 = 8
30 stroke 20 18 21 35 35 35 35 77 e 84 79 g
% 45 stroke 23 21 23 44 44 45 45 95 95 102 97 =
2 60 stroke 26 24 27 54 54 55 54 113 113 119 115 <
2 75 stroke 134 134 141 136 £
8 100 stroke 167 167 174 169 §
125 stroke 204 204 212 206 L&
150 stroke 227 227 234 229 %
o & | single foot 8 8 8 8 25 Eﬁ
£ £ | Double foot 16 16 16 16 50 kS 5
§ g Rod flange 5 5 5 5 13 EE
£ | Head flange 5 5 5 5 13 B
ol=
Single knuckle joint — —_ — 17 23 o v
Double knuckle joint . . . 25 2 2z
& |(including knuckle pin) “%48
S Rod end cap -4
9] >
3 (Flat type) 1 1 1 1 2 =
o oc
< Rod end cap 52N
(Round type) ! L 1 1 2 g ;g
T-bracket — — — 32 50 5120
ols
#: Mounting nut and rod end nut are included in the basic weight. 3 s
#: Mounting nut is not attached to the double clevis, so the mounting nut weight is already subtracted. [
Calculation: KE ;
Example) CJ2L10-45SZ Z|EN
eBasic weight «--eoveeeeeeenens 44 (@ 10-45 stroke) E: S g
® Mounting bracket weight:---- 8 (Single foot) %Q
44+8=52¢ LS
Spring Extend [a] %g
i £
Bore size [mm] 6 10 . 16 _ SHE
. . Head-side . Axial Do'uble c_Iews Head-side . Axial Doluble glews Head-side § &
Mounting Basic Basic L (including Basic S (including =
bossed piping o bossed piping - bossed oz
clevis pin) clevis pin) Q|5
15 stroke 18 19 28 28 30 29 63 63 71 67 e gg
30 stroke 21 22 34 34 36 35 77 7 85 80 “%8
% 45 stroke 24 24 42 42 44 43 93 93 100 96 %
2 60 stroke 27 28 51 51 52 51 109 109 116 112 =
Q 75 stroke 129 129 137 133 [ %;né
(=) k7]
@ 100 stroke 159 159 166 162 HEN
125 stroke 193 193 201 196 ° % 8
150 stroke 213 213 221 217 518
- " Z(=
< Single foot 8 8 8 25 |2
28 Foout £lix
s 3 Double foot 16 16 16 50 3 2y
S @ g
E % Rod flange 5 5 5 13 5 «:%g
5 | Head flange 5 5 5 13 = 20
Single knuckle joint| ~ — — 17 23 =
.. [5]
" lDoubIle knuckle Jomt . . 25 21 N
@ |(including knuckle pin) 3z B
5] w
2 ROF? ‘i't'd cap 1 1 1 2 gl O
8 (Flat type) =
< Rod end cap 1 1 1 2
(Round type) s
T-bracket — — 32 50 UE)
#: Mounting nut and rod end nut are included in the basic weight. %
#: Mounting nut is not attached to the double clevis, so the mounting nut weight is already subtracted. <
Calculation: -
Example) CJ2L10-45TZ s
®Basic weight «----eoveeeeeeeen 42 (@ 10-45 stroke) =}
e Mounting bracket weight:---- 8 (Single foot) 2
42+8=509 =
32

O
2




Series CJ2

Construction (Not able to disassemble)

Single acting, Spring return

J6

@10, D 16 W13 3 14 10 () 12 &) (1

19 (5 (4

L ]

With auto switch

Single acting, Spring extend

76 @0

@10, D 16 18 (A 11 (9 10 (2)

6 i

A!!;

= f‘,,—m‘.
\ Mlir 4|i|l
N I

;

With auto switch

Component Parts

No. Description Material Note No. Description Material Note
1A | Rod cover Aluminium alloy 10 | Piston seal NBR
1B | Seal retainer Aluminium alloy @ 6 only 11 | Tube gasket NBR
2 | Head cover Aluminium alloy 12 | Wear ring Resin
3 | Cylinder tube Stainless steel 13 | Return spring Piano wire
4 | Piston rod Stainless steel 14 | Spring seat Aluminium alloy
5 | Piston A Aluminium alloy 15 | Mounting nut Rolled steel
6 | Piston B Aluminium alloy 16 | Rod end nut Rolled steel
7 | Piston Aluminium alloy 17 | Magnet —
8 | Bumper A Urethane 18 | Rod seal NBR
9 | Bumper B Urethane
33



Single Acting, Spring Return: Basic (B)

Air Cylinder: Standard Type

Single Acting, Spring Return/Extend

Series CJ2

CJ2B6 — ‘Stroke ‘ S ‘Head cover port location ‘Z

Standard

Double Acting, Single Rod

RIUCRNOESTRETTETENN | Double Acting, Double Rod

CJ2

cJ2w

% Mounting nut Piping port M5 x 0.8 GB
°3 > Sectlor_l Y Rod end nut NN K o
S o} detail MM o o O
1 Q , ] L
_ = ‘ ) _ _ o (=
== J,H,H_ ‘ / y 5
N 0 >
B_os o
A F NA NB g EO
H S + Stroke 2|2
Z + Stroke 8 e
0 5lzx
oo <) Piping port M5 x 0.8 zlgN
© [0) Lot
! NC ~(E
803 SA + Stroke 5 ;-;N
ZA + Stroke s gg
Head cover port location 3 &
Axial location (R) oz
2] £ ;
£EN
10 953
CJ2B 14 - ‘Stroke ‘ S ‘Head cover port location | Z HE
2 s
. 453
5120
Q S E
— i Y GB_ 5(E
Piping port M5 x 0.8 NN ¥ Mounting nut Piping port M5 x 0.8 5lox
- O ‘%:N
MM g : o 70
) s : _ o il _ _ _ A el L
> > Section Y detail Y m HE
zleX
! 90X
Head cover po_rt location Rodend nut| A Fl | NA NB B_os § g g
'_?:Ial |OC|;'3.'[ICI_)nd(F\’|) h H S + Stroke % ?O
*: e overall cylinaer leng
does not change. Z + Stroke ,Z_, E
Slex
3=
Y For details of the mounting nut, refer to page 22. 8 ‘gﬁ
[mm] (823
S (&1
Ei"zf A|lB|C|D|FI|GB|H | MM |NA|NB [NC [NDh8| NN | 5t |16t 31to|46to|6lto]| 76t0 |101t0|126t0 [%
15st | 30st | 45st | 60st | 75st |100st|125st|150st (S| ey
o 37 |46 [ 50 |64 | [ | _ | _ B A
6 15| 8 9] 3 8 5 |28 |M3x05]|3 95| 7 60018 | M6 x1.0 @2 | 61) | 65 | (69) g O
10 [ 15|12 |14 | 4 | 8 | 5 | 28 |[M4x0.7| 48|95 | — | 80m |M8x1.0| 455 | 53 65 77 — — — — =
16 15 |118.3| 20 | 5 8 5 | 28 IM5x0.8/ 48| 95| — | 1080 |M10x1.0| 455 54 66 78 84 108 126 138
=
Bore SA Z ZA fg’
. 5to [16t0|31to|46to|61to| 76to |101to|126t0| 5to |16 to|31 to|46 to|61 to| 76to [101to|126t0| 5to |16 to|31 to|46 to|61 to| 76to (101 to|126 to g
15 st |30 st|45 st| 60 st| 75 st|100 st {125 st| 150 st| 15 st|30 st|45 st|60 st| 75 st|100 st|125 st|150 st| 15 st|30 st |45 st|60 st |75 st|100 st|125 st|150 st ;
6 |345(435|475|615 |\ | _ | _ |65 | 74|78 | 92| |\ | | _ |625/715/755/895 | | _ | _
(39.5)| (48.5) | (52.5) | (66.5) (70) | (79) | (83) | (97) (67.5) | (76.5) | (80.5) | (94.5) s
10 |[—|=—]=]=]=]=1=]—=1msler]e3fis| — | —[—]=—]=]=1=1=1=1=1=1= =]
6 | —| —|—|—|—|—|—|— 1735/ 8|94 |106|112|136|154|166| — | — | — | — | — | — | — | — @
<
=

#:()inS, SA, Z and ZA dimensions: With auto switch

34




Series CJ2

Single Acting, Spring Return: Double-side Bossed (E)

CJ2E6 — sz

Section Y detail

\ @ NDh8

Section YY detail

s« Mounting nut Y GB YY
O:IE > Rod end nut NN Piping port M5 x 0.8 NN
— o) MM [a)
R j\ & . |:v' 1E
. — — T “ H - _ “\l"
== yuil I
T \, I
_ 12 03 A F_| |LNA NB
H S + Stroke F
Z + Stroke
cJ2E 19 _[stroke| sz
16
Piping port M5x 0.8 GB__ YY
Y« Mounting nut NN
) . .
:ﬁ * \ T Section YY detail
. . B - 3 | os| |
ol @
N ;
/ 0
Rod end nut A = NA NB B.oas
H S + Stroke |F
Z + Stroke
Y For details of the mounting nut, refer to page 22.
[mm]
Bore = &
size A|[B|C |D|F [GB|H | MM |NA |NB NDh 8| NN |5t [16to|31to|46to|61to|76t0|101to|126to| 5t0 [16t0(3Lto|46to|6Lto|76to (100to| 126t
155t (30 st|45st|60st|75st|100st|125st | 150st | 15t |30 st| 45 st |60 st|75st| 100st | 125t | 150t
o 37 |46 | 50 | 64 73 |82 | 86 | 100
6 15| 8 9 8 | 5|28 |M3x05/3 |95| 6050s |ME6EX10 I e e e e I e e el
10 15 |12 | 14 8 | 5 |28 |M4x0.7|4.8|9.5| 850, |M8x10|{455|53 65|77 | —|—|—|—|815/89(101(113| — | — | — | —
16 15 [18.3] 20 8 | 5 |28 |M5x0.8|4.8|9.5|1000, [M0Xx10[455|54 | 66 | 78 | 84 [108|126|138|735| 90 |{102|114 |120| 144|162 |174
#: () in S and Z dimensions: With auto switch
35

O



Single Acting, Spring Return/Extend

Air Cylinder: Standard Type

S

eries CJ2

Single Acting, Spring Return: Single Foot (L) S
- 2mM
CJ2L6 — ‘Stroke ‘ S ‘Head cover port location ‘Z 20
Y Mounting nut _F Piping port M5 x 0.8 GB m '__'_q}’ = g;
Rod end nut NNY O oo | A § é(\l
o3 MM Cover surface | =
@ cbo o\ 2x@LC e 21 1G]
1 Q ” ‘W""; \ Mounting hole “f = S
- — - - : - - \ 2
Nl 9 2193 5 g
T —— : : an N £
Bos X LX A
A Y | [.NA NB Lz =
H S + Stroke <
2N
Z + Stroke SN
BlE™
D% > Piping port M5 x 0.8 x é O
o ¢ EE
| ] - 8=
H 5[z
& 2|5
NC 2z
803 SA + Stroke %8
ZA + Stroke z
Head cover port location WE
Axial location (R) 5|EN
SN
2E
5|g©
10 - 2x@LC =8
CcJ2L 16~ ‘Stroke ‘S ‘Head cover port location ‘Z Mounting hole e
W Y SN
NN ey 2ES
A F % Mounting nut Piping port M5x 0.8  GB_ £0
Cover surface L
< MM A -
¢ ﬁ L/ z
Ou;’ 1 i = = S - \* ol > £
KJ - g[20
+ - 3|5
ol 3
2 o
B.Ss Rod end nut/| 15 NA NB LX 5|2
s} 4
X L Y . ) LZ E%Q
+ Stroke 3
Z + Stroke - gﬁo
Piping port M5 x 0.8 L=
EE
rleX
I g
g2
o120
Head cover port location =HE
Axial location (R) Z(z
+: The overall cylinder length does not change. § g é
S|E
Y For details of the mounting nut, refer to page 22. 8 ;Q
[mm] o2
S B
Ei"zr: A|[B|C|D|F |[GB|H |LB|LC |LH LT X LY |Z |[MM NA NB |NN |5t [16t|3Lto|46t0|6Lto] 7610 |10100| 12600 (%
15st | 30st | 45st [ 60st | 75st | 100st [ 125st| 150t |[S| oy
37 | 46 | 50 | 64 2l R
6 1512 [ 14| 3 8 5 28|13 |45| 9|1.6|24|165| 32 |M3x05|3 9.5 |M6x1.0 — | — | — | — m| M
(42) | (51) | (55) | (69) =l O
10 15(12 [ 14| 4 8 5 28|15 |45| 9|1.6|24|165| 32 |M4x0.7(4.8|9.5|M8x10|455| 53 |65 | 77 | — | — | — | — =
16 15 |183| 20 | 5 8 5128 |23|55|14|23|33|25 |42 |M5x08|4.8|9.5|MI0x10|455| 54 | 66 | 78 | 84 | 108 | 126 | 138
=
- SA z ZA =
- 5to |16t0|31to|46to 61to| 76t0 |101to[126to| X | Y | 5to |16to |31to|46to|61to| 76t0 [101to|126t0| 5to |16to |31to|46t0o|61lto| 76t0 [101to|126t0 g
15st [ 30 st | 45st | 60 st | 75 st | 100 st | 125 st | 150 st 15st | 30st|45st|60st | 75st|100st|125st150st| 15st | 30 st | 45 st | 60 st | 75 st | 100 st | 125 st | 150 st ;
6 |345|M5 (475615 | | | g |, |65 (7478 02| | | | _ |625/715/755/895 | | | _
(39.5)|(48.5)|(52.5) | (66.5) (70) | (79) | (83) | (97) (67.5)|(76.5)|(80.5) | (94.5) s
10 [—[—|=]=]=1=1=]=15]7]ms|sr]|o3faos| — | —|—|=—]—=—]—-|=-|=]=-|=-]=1]= =]
16 | —|—|—]|—]—|—]—]—16]9[735/82 |94 [106|112]136|154|166] — | — | — | —| —| — [ —| — @
<
#:()inS, SA, Z and ZA dimensions: With auto switch =

36




Series CJ2

Single Acting, Spring Return: Double Foot (M)

CJ2M6 — sz

H

F | s Mounting nut GB F % Mounting nut !
Rod end nut NN Piping port M5 x 0.8 NN 2x@LC Cover surface
MM \ED a / Mounting hole ;
N Q ; == i:i ; -
B - ; R R ISR ) ol >
5 I} \/ ot o) =
I I | | 3
— -
A Y | | NA NB | Y X Lz
X S + Stroke
LS + Stroke
Z + Stroke
CJiz2™m 10 _ Stroke | SZ
16
4x@LC
Mounting hole
H an A
NN 3 et
) - T
A F_| ¥« Mounting nut GB_ F  Piping port M5 x 0.8 Cover surface
MM ‘ ¢ Mounting nut
\ D - AN
S} i AR
et T Eh © o| >
=]
H i X2
— -
Rod end nut - NA NB - LX
X Y Y X LZ
S + Stroke
LS + Stroke
Z + Stroke
Y For details of the mounting nut, refer to page 22. [mm]
Bore s
e A D F |[GB| H |[LB [LC |LH | 5to |16to|31to|46to|61to| 76to |101to|126to| LT | LX | LY |LZ MM NA
15st| 30 st |45 st| 60 st | 75 st | 100 st | 125 st | 150 st
51 60 64 78
6 15 3 8 5 28 | 13 | 45 9 ©6) | 65) | 69) | ©3) | — — — [ 16| 24 [165| 32 | M3x05 | 3
10 15 4 8 5 28 | 15 | 45 9 | 595 | 67 79 91 — — — — | 16| 24 |16.5| 32 | MA4x0.7 | 4.8
16 15 5 8 5 28 23 | 55| 14 | 635 | 72 84 96 102 | 126 | 144 | 156 | 2.3 | 33 |25 42 | M5x0.8 | 4.8
Bore S YA
size NB NN 5to |16to|31to|46to|61lto| 76to [101to|126to| X Y | 5to |16to|31to|46to|61to| 76to |101to|126 to
15 st | 30 st | 45 st | 60 st | 75 st {100 st | 125 st| 150 st 15 st | 30 st | 45 st | 60 st | 75 st {100 st | 125 st| 150 st
37 46 50 64 77 86 90 | 104
6 |95 | M6x10 | oyl sy ||| — | | T Tl e|en|es|ay| — | ||~
10 95 | M8x1.0 | 455 | 53 65 77 — — — — 5 7 855| 93 | 105 | 117 | — — — —
16 9.5 | M10x1.0 | 455 | 54 66 78 84 108 | 126 | 138 6 9 88.5| 97 109 | 121 | 127 | 151 | 169 | 181
#: () in LS, S and Z dimensions: With auto switch
37

O
2



Air Cylinder: Standard Type
Single Acting, Spring Return/Extend

Single Acting, Spring Return: Rod Flange (F)

Series CJ2

N
- 2mM
CJ2F6 — ‘Stroke ‘ S ‘Head cover port location ‘Z 20
Y Mounting nut Piping port M5 x 0.8 GB %
o3 < Rod end nut NN Cover surface E 3 =
) 2 MM 8| \ S
&L FEE nls QO
] ] N i IV e &l 2
Lo
| tH J=t4_ ‘ / =
N B, FT EX 2x@ FC g
A F NA NB £z Mounting hole 3
H S + Stroke 2
Z + Stroke - =
Pipi tM5x0.8 éﬁ
™ iping por x 0. 2
o3 o ping p S
© ) x|s 0O
' e ; - g
“—H:i—“—‘;q S
o NC 2l
0 slaX
803 SA + Stroke S Dii,(_\')
ZA + Stroke £0
Head cover port location — j
Axial location (R) <
LN
ele
10 =E
- st 5
CJ2F 16~ ‘Stroke ‘S ‘Head cover port location |Z 2% @ FC e
GB - Mounting hole ‘g 2 ;
NN ¥ Mounting nut Piping port M5 x 0.8 Cover surface = %N
< e
) E @)
o3 - - - WV M > BE
ni h&%ﬂ ol Sy
1 2N
I £
B_8_3 Rod end nut ET EX § s O
A F NA NB £z NE
H S + Stroke 8|2
Z + Stroke = é?\:‘
L)
Piping port M5 x 0.8 § O
)2 = EE
4N @ é,!
g
. S|z
Head cover port location sz
Axial location (R) HE
x: The overall cylinder length does not change. f §
5|EX
SIEE
Y For details of the mounting nut, refer to page 22. 8 ‘gﬁ
[mm] | of% )
S (&1
Eiozree A|B|C|D|F |FB|FC|FT|FX|FY |[FZ |GB|H | MM |NA NB NC | NN |[5t0 [16t0]31t0]46t0(61t0] 7610 |10110]12610 (%
15st |30 st|45st |60 st |75 st|100st[125st|150st |G| oy
37 | 46 | 50 | 64 2l R
6 15112 [ 14| 3 8 |11 |45|16|24|14|32| 5 | 28 |M3x05(3 95| 7 [M6x10 — | — | — | — w| 0
(42) | (51) | (55) | (69) =l O
10 15(12 |14 | 4 8 |13 |45|16|24|14|32| 5 | 28 |M4x07/48|9.5| — [M8x10{455| 53 |65 | 77 | — | — | — | — =
16 15 1183| 20 | 5 8 | 19|55(23|33|20|42| 5 |28 |[M5x08|4.8|9.5| — |M10x10/455| 54 | 66 | 78 | 84 | 108 | 126 | 138
=
Bore SA z ZA =
- 5to |[16to|31to|46to|61to| 76t0 |101to|126to| 5to [16to|31to|46to|61to| 76to |101to[126t0| 5to |16to|31to|461to|61to| 76to [101to|1261to g
15st |30 st |45st|60st|75st|100st|125st|150 st| 15 st | 30 st |45 st | 60 st | 75 st | 100 st| 125 st150 st| 15 st | 30 st | 45 st | 60 st | 75 st | 100 st {125 st| 150 st ;
6 |345|435475/615) | | | | 65|74 |78 |02 | | | _ | _ |625/715(755/895/ | | |
(39.5)|(48.5)| (52.5) | (66.5) (70) | (79) | (83) | (97) (67.5)|(76.5)| (80.5) | (94.5) s
10 | — [ -] =] —=—]=]=1=1=1Jms|l1|os3]wos]| — ][] === =-|=]=T]=1]=1]—= =]
6 |—| —|—|—|—|—|—|—1]735|8 |94 |106|112|136|154|166| — | — | —| — | —| —| — | — @
<
=

#:()inS, SA, Z and ZA dimensions: With auto switch

38




Series CJ2

Single Acting, Spring Return: Head Flange (G)

CJ2G6 — sz

GB ¥¢ Mounting nut
Cover surface Rod end nut NN Piping port M5 x 0.8 NN
L / M AN P C
Q . s ‘(D/
T 2| . o —
tH ‘ / H- ]
I i
A F_|ILNA NB FT Bos
FX 2x@FC H S + Stroke F
FZ Mounting hole Z + Stroke
CJ2G 10 _ Stroke | SZ
16
GB_
Cover surface .
NN Piping port M5 x 0.8 Y Mounting nut
MM O
Q) i )
S i i ]
i Het _ s SN Al
m
/ i T
FX 2x@FC A F | [LNA NB||_ |FT B.o
Fz Mounting hole H S + Stroke F —
Rod end nut, 7 + Stroke
Y For details of the mounting nut, refer to page 22. (mm]
Bore
- A B @ D F FB FC FT FX FY Fz GB H MM NA | NB NN
6 15 8 9 3 8 11 45 1.6 24 14 32 5 28 M3 x 0.5 3 9.5 M6 x 1.0
10 15 |12 14 4 8 13 4.5 1.6 24 14 32 5 28 M4 x 0.7 4.8 9.5 M8 x 1.0
16 15 |18.3 20 5 8 19 5.5 2.3 33 20 42 5 28 M5 x 0.8 4.8 9.5 M10 x 1.0
Bore = Z
- 5to 16to | 31to | 46to | 61to | 76to | 101to | 126to | 5to 16to | 31to | 46to | 61to | 76to | 101to | 126 to
15 st 30 st 45 st 60 st 75st | 100st | 125st | 150 st | 15 st 30 st 45 st 60 st 75st | 100st | 125 st | 150 st
6 37 46 50 64 . . . . 73 82 86 100 . . . .
(42) (51) (55) (69) (78) (87) (92) (105)
10 45.5 53 65 77 — — — — 81.5 89 101 113 — — — —
16 45.5 54 66 78 84 108 126 138 81.5 90 102 114 120 144 162 174
#: () in S and Z dimensions: With auto switch
39

O



Air Cylinder: Standard Type )
Single Acting, Spring Return/Extend ~ Series CJ 2

Single Acting, Spring Return: Double Clevis (D)

CJ2D 10 - sz

Double Acting, Single Rod
CJ2

Piping port M5 x 0.8 NB @ CDH9"3 %
MM Rod end nut GB Clevis pin (@ cdd9-30e0)

CJ2W

Standard

cX:3 A NA
H S + Stroke U
Z + Stroke R

ZZ + Stroke

&
(@]
@D
gl
ey
3
o
Q
RIUCRNOESTRETTETENN | Double Acting, Double Rod

i

=
3
3
@
2N
N
SN
0
@
2
=
E
o

[mm]

k-]
o)
o
o
£
IS
g
o
T
o
5]
P4

Bore size A B |C |[CDICX|CZ| D |GB| H MM NA|NB| R | U |5to |16to|31to|46to|61to| 76to|101to[126 to
(cd) 15 st | 30 st | 45 st | 60 st | 75 st |100 st|125 st| 150 st
10 15 |12 | 14 [33[32[12 | 4 | 18| 20 | M4x0.7 |48 |225| 5 | 8 [455| 53 | 65 | 77 | — | — | — | —
16 15 |183] 20 |5 [65[183] 5 | 23 | 20 | M5x0.8 | 4.8 [275| 8 | 10 [455| 54 | 66 | 78 | 84 | 108 | 126 | 138

Single Acting, Spring Return/Extend
CJ2K

l

VA Y74

Bore size 5to |16to|31to|46to|61to| 76to |101to(126to| 5to |16to|31to|46to|61to| 76to |101to|126 to

15 st |30 st |45 st| 60 st | 75 st |100 st|125 st|150 st| 15 st | 30 st | 45 st | 60 st | 75 st |100 st|125 st|{150 st
10 735 | 81 93 | 105 | — — — — | 785| 86 98 | 110 | — — — —
16 755| 84 | 96 | 108 | 114 | 138 | 156 | 168 | 83.5| 92 | 104 | 116 | 122 | 146 | 164 | 176

#: A clevis pin and retaining rings are included.

Double Acting, Single Rod
CJ2z

Built-in Speed Controller
Double Acting, Double Rod

CJ2zW

U

CJ2R

Double Acting, Single Rod

Direct Mount

Single Acting, Spring Retum/Extend
CJ2R

Double Acting, Single Rod
CJ2RK

Single Acting, Spring Retum/Exend

CBJ2

(With End Lock |[ Direct Mount, Non-rotating Rod |[
| CJ2RK

Auto Switch

Made to Order

SMC 40

O



Series CJ2

Single Acting_], Spring Extend: Basic (B)

CJ2B6 — TZ

Rod end nut Y Mounting nut
MM GA Piping port 2 x M5 x 0.8
(3} C)
oo S) [a) q>
3 ® S s ]
4 =1 . I A - - - _ o9 _
S L] ‘ @ ‘
0
8_
03 T Bos
A F NA NB
H + Stroke S + Stroke
Z + 2 x Stroke
CJ2B 10 _ Stroke | TZ
16
v Y Mounting nut
Section Y GA i
Rod en't\J/lr,:/lljt detail NN Piping port M5 x 0.8 .
fa ®
Q &t L
| - | N7 B - _ B o$ |
i \//t’ o}
¥
N
Bos
A F | NA NB :
H + Stroke S + Stroke
Z + 2 x Stroke
v For details of the mounting nut, refer to page 22.
[mm]
Bore size A B @ D E GA H MM NA NB NDh 8 NN T
6 15 12 14 3 8 14.5 28 M3 x 0.5 16 3 68015 M6 x 1.0 3
10 15 12 14 4 8 8 28 M4 x 0.7 12.5 4.8 8302 M8 x 1.0 —
16 15 18.3 20 5 8 8 28 M5 x 0.8 12.5 4.8 105022 M10 x 1.0 —
S Z
Bore size 5to 16 to 31to 46 to 61to 76to | 101to | 126 to 5to 16 to 31to 46 to 61to 76to0 | 101to | 126 to
15st | 30st | 45st | 60st | 75st | 100st | 125st | 150st | 15st | 30st | 45st | 60st | 75st | 100st | 125 st | 150 st
6 46.5 55.5 59.5 73.5 - . . o 74.5 83.5 87.5 | 1015 o . . .
(51.5) | (60.5) | (64.5) | (78.5) (79.5) | (88.5) | (92.5) | (106.5)
10 48.5 56 68 80 — — — — 76.5 84 96 108 — — — —
16 48.5 57 69 81 87 111 129 141 76.5 85 97 109 115 139 157 169

#: () in S and Z dimensions: With auto switch

41

O
2



Air Cylinder: Standard Type

Single Acting, Spring Return/Extend

Single Acting, Spring Extend: Double-side Bossed (E)

Series CJ2

CJ2E6 — TZ

Double Acting, Single Rod
CJ2

Rod end nut 2| s Mounting nut <
a Bls ;
MM NN = GA Piping port 2 x M5 x 0.8 3 =]
S < glEm
o P L)
Q = m' s
- = - = Bzl - - - - ol =
= aal ‘ om : g
A F NA NB B3s £
H + Stroke S + Stroke F &
Z + 2 x Stroke BE
BlEm
A e)
EE
8=
o5
5|5 x
2z
3™
£0
g8
\ 5|20
ﬁi S|%
L FIE
o3
I ED=
Section Y detail - TN
Section YY al2m
Rod end nut # Mountingnut Y GA  Piping port M5 x 0.8 Yy detail £ o
MM NN NN (¢} —
o \/D — ¢ 2
e W3 ; x 14
1 5 5 3 - - . : Bl eo| I
m =|2
— e ElzO
7/ T 3|2
2 o
A F | NA NB B3s 8|5
H + Stroke S + Stroke F olg (Q\:I
Z + 2 x Stroke bl
50
EE
o §,é
(=) k7]
5123
Y For details of the mounting nut, refer to page 22. 2 =
LU
32y
Bore size A B © D F GA H MM NA NB NDh 8 NN = Eg
o|E
52°
6 15 12 14 3 8 145 28 M3 x 0.5 16 3 65015 M6 x 1.0 ‘i —
[5]
10 15 12 14 4 8 8 28 M4 x 0.7 12.5 4.8 85002 M8 x 1.0 Sl o~
16 15 18.3 20 5 8 8 28 M5 x 0.8 12.5 4.8 103022 M10 x 1.0 E A
S z gl ©
Bore size 5to 16to | 31to | 46to | 61to | 76to | 101to | 126to | 5to 16to | 31to | 46to | 61to | 76to | 101to | 126 to E L
15 st 30st | 45st 60 st 75st | 100 st | 125st | 150 st | 15 st 30st | 45st 60 st 75st | 100 st | 125 st | 150 st
6 465 | 555 | 59.5 | 735 | . . | 825 | 915 | 955 | 1095 | B B B S
(51.5) | (60.5) | (64.5) | (78.5) (87.5) | (96.5) | (100.5) | (114.5) Z
10 48.5 56 68 80 — — — — 84.5 92 104 116 — — — — %
16 48.5 57 69 81 87 111 129 141 84.5 93 105 117 123 147 165 177 <
#: () in S and Z dimensions: With auto switch k)
S
9
D
]
=

O
2

42




Series CJ2

Single Acting, Spring Extend: Single Foot (L)

CJ2L6 — Stroke | TZ

2x@LC

Mounting hole \
Rod end nut Y Mounting nut

F ipi .
MM NN GA Piping port M5 x 0.8 Cover surface

O
S % T\ N
© Q - o N
oo [ o — 18 - - [ - - - I
o | iy i T : H N7 T «Q 2
B I I | 1\ 3
T 2
B-0s 8os | A 5 NB LX
Rod id Head id X[ Y [Tl NA Lz
0d cover siae ead cover siae H + Stroke S + Stroke
Z + 2 x Stroke
CJ2L 10 _ Stroke | TZ
16
2x@LC
Mounting hole \
& &
¥ Mountingnut L
Rod end ipi .
od end nut NN F GA  Piping port M5 x 0.8 Cover surface
< MM
® D AN
R \ Q i p
oo | iy N - A - - - = : 7 om| >
i} Tt %% ==
T -
0
B-os A ar NA NB LX
X Y LZ
H + Stroke S + Stroke
Z + 2 x Stroke
Y For details of the mounting nut, refer to page 22.
¢} pag (mm]
Bore size A B C D F GA | H LB |LC |LH |[LT |[LX |[LY [LZ MM NA NB NN T
6 15 | 12 14 3 8 145 | 28 15 | 45 9 16 | 24 |16.5| 32 M3x0.5 |16 3 M6 x 1.0 3
10 15 | 12 14 4 8 8 28 15 | 45 9 1.6 | 24 | 16.5| 32 M4 x0.7 | 125| 4.8 M8 x 1.0 —
16 15 | 18.3| 20 5 8 8 28 23 | 55 | 14 | 23 | 33 |25 42 M5x0.8 | 125| 48 | MI0x1.0 | —
S) Z
Bore size 5to | 16to | 31to | 46to | 61to | 76to |101to|126to| X Y 5to | 16to | 31to | 46to | 61to | 76to |101to | 126 to
15st | 30st | 45st | 60st | 75st | 100 st | 125 st | 150 st 15st | 30st | 45st | 60st | 75st | 100 st | 125 st | 150 st
6 46.5 | 55,5 | 59.5 | 735 . . o o 5 7 745 | 835 | 87.5 | 1015 . . . .
(51.5) | (60.5) | (64.5) | (78.5) (79.5) | (88.5) | (92.5) |(106.5)
10 48.5 56 68 80 — — — — 5 7 76.5 84 96 108 — — — —
16 48.5 57 69 81 87 111 129 141 6 9 76.5 85 97 109 115 139 157 169

#: () in S and Z dimensions: With auto switch

43

O
2



Single Acting, Spring Extend: Double Foot (M)

Air Cylinder: Standard Type
Single Acting, Spring Return/Extend

Series CJ2

CJ2M6 — TZ

4x@LC
Mounting hole \
H + Stroke 7'@” -I '_$'7
¥« Mounting nut —
MM Rod end nut NN F GA Piping port 2 x M5 x 0.8 F Y Mounting nut Cover surface
‘\ 3 ‘\
\ Q TR i ----F-F
Ay S E———— © "E
(== O
‘ bd | | 5 -
A R T T
— —
- T NB - LX
A X Y NA Y X LZ
S + Stroke
LS + Stroke
Z + 2 x Stroke
ca2m 19 _[sroke | TZ
16
4x@LC
Mounting hole
N N
A )
H+Stroke
¥ Mounting nut F |[GA  Piping port M5 x 0.8 F ¥ Mounting nut c 0
MM Rod end nut NN SYErsUrace
A \ £
T 1 - - > - - - - - >
Ss H N N
-
A ] NA NB 5 LX
X Y Y X LZ
S + Stroke
LS + Stroke
Z + 2 x Stroke
Y For details of the mounting nut, refer to page 22. (mml
Bore L
. A D F |GA| H [LB |LC |LH | 5to |16to|31to|46to|61lto| 76to [101to|126to| LT | LX | LY |LZ MM
15st | 30 st | 45st | 60 st | 75 st | 100 st | 125 st | 150 st
60.5 | 69.5 | 73.5 | 87.5
6 15 3 8 145| 28 15 | 45 9 (65.5) | (74.5) | (78.5)| (101.5) — — — — 1.6 24 | 165 32 M3 x 0.5
10 15 4 8 8 28 | 15 | 45 9 | 625 | 70 82 94 — — — — |16 | 24 |165| 32 | M4x0.7
16 15 5 8 8 28 23 | 55| 14 | 665 | 75 87 99 105 | 129 | 147 | 159 | 23 | 33 | 25 42 | M5x0.8
Bore S YA
size NA [NB NN 5to |16to|31to|46to|61lto| 76to [101to|126to| X Y | 5to |16to|31to|46to|61to| 76to |101to|126 to
15st | 30st|45st| 60 st| 75 st|100st|125 st|150 st 15st | 30st|45st| 60 st| 75 st|100st|125 st|150 st
46.5 | 55.5 | 59.5 | 73.5 86.5 | 95.5 | 99.5 [113.5
6 |16 |3 | M6X1O |51 5l60s5)|@645) 785 — | — | — | — | % | 7 |eus)|aws)|ass)|uss — | — | — | —
10 125/ 4.8 | M8x1.0 | 485 | 56 68 80 — — — — 5 7 88.5 96 | 108 | 120 | — — — —
16 125/ 4.8 | M10x 1.0 | 485 57 69 81 87 111 | 129 | 141 6 9 91.5| 100 | 112 | 124 | 130 | 154 | 172 | 184

#:()in LS, S and Z dimensions: With auto switch

44

Standard

Double Acting, Single Rod

i

k-]
o)
o
o
£
IS
g
o
T
o
5]
P4

l

Built-in Speed Controller
Double Acting, Double Rod

U

Direct Mount

Single Acting, Spring Retum/Extend

(With End Lock |[ Direct Mount, Non-rotating Rod |[

RIUCRNOESTRETTETENN | Double Acting, Double Rod

=
3
-4
@
>
=
[}
=
=
=
<
2
=
=
3
=]

Single Acting, Spring Return/Extend

Double Acting, Single Rod

Double Acting, Single Rod

Double Acting, Single Rod

Single Acting, Spring Retum/Exend

| CJ2RK

CJ2

cJ2w

CJ2K

CJ2K

CJ2z

CJ2zW

CJ2R

CJ2R

CJ2RK

CBJ2

Auto Switch

Made to Order




Series CJ2

Single Acting, Spring Extend: Head Flang_;e (G)

CJ2G6 — TZ

Rod end nut x
Cover surface MM NN 2 GA Piping port 2 x M5 x 0.8 s Mounting nut
Q <
1 o) . )
ok Q =S| ]
_ . . | E E 7 “H — M . _ _ IS 03 _
tH =0 ‘ H-{ o
T H T
FX 2x@ FC T FT B-0s |
Fz Mounting A F NA NB
hole H + Stroke S + Stroke F
Z + 2 x Stroke
CJ2G 10 _ Stroke | TZ
16
Cover surface Rod end nut NN GA  Piping port M5 x 0.8 Y Mounting nut
MM O
o A ®
\ Q i [
m| > 7 - - ™ _ _ _ _ I\ o3 N |
| Tl \ ' o
H T
2x@ FC 0
B_
FX Mounting A FT 03
FZ hole F | NA NB
H + Stroke S + Stroke F
Z + 2 x Stroke
¥ For details of the mounting nut, refer to page 22.
[mm]
Bore
e A B © D F FB FC FT FX FY Fz GA H MM NA NB NN
6 15 12 14 3 8 13 45 1.6 24 14 32 14.5 28 M3x0.5 | 16 3 M6 x 1.0
10 15 12 14 4 8 13 4.5 1.6 24 14 32 8 28 M4 x0.7 | 125 | 4.8 M8 x 1.0
16 15 18.3 20 5 8 19 5.5 2.3 33 20 42 8 28 M5x0.8 | 125 | 4.8 M10 x 1.0
Bore = Z
- 5to 16to | 31to | 46to | 61to | 76to | 101to | 126to | 5to 16to | 31to | 46to | 61to | 76to | 101to | 126 to
15 st 30 st 45 st 60 st 75st | 100st | 125st | 150 st | 15 st 30 st 45 st 60 st 75st | 100 st | 125st | 150 st
6 46.5 55.5 59.5 73.5 o . . . 82.5 91.5 95.5 | 109.5 . . . .
(51.5) | (60.5) | (64.5) | (78.5) (87.5) | (96.5) | (100.5) | (114.5)
10 48.5 56 68 80 — — — — 84.5 92 104 116 — — — —
16 48.5 57 69 81 87 111 129 141 84.5 93 105 117 123 147 165 177
#: () in S and Z dimensions: With auto switch
45

O



Air Cylinder: Standard Type
Single Acting, Spring Return/Extend

Single Acting, Spring Extend: Rod Flange (F)

Series CJ2

N
S
CJ2F6 — [Stroke | TZ 20
Rod end nut ¥¢ Mounting nut S
. 2x@LC 3
MM NN GA Piping port M5 x 0.8 Mounting hole Cover surface g % ;
% Y o 1 I ES
1 V] \ N & gz
« @ Q - nlz0
og| f— oo . i - — } _ _ _ EVal _ | m| > El
m © = | 3
T T ! %
0 0 é
B-o3 |8-0:3 A FT NB FX =
F_[T|. NA Fz F
Rod cover side  Head cover side H + Stroke S + Stroke £
Z + 2 x Stroke BE
o2
CJ2F %g — |Stroke | TZ €23
¥ Mountin 4x@LC =
o Mounting hol Cover surface |5 S
- ounting hole =
O MM Rod end nut NN GA  Piping port M5 x 0.8 9 8 E
¢ o 1 5lax
- Q Tit z g,(_\l)
3 - = 2 | |3
T H - f
B-0s A FT NB FX NEN
F | NA ]
FZ sleX
H + Stroke S + Stroke HE 8
Z + 2 x Stroke ols
st 5
Q
alz
Y For details of the mounting nut, refer to page 22. RIE ;
[mm] | = 3 N
Bore = z E R
size B |C |D |F |[FB|FC|FT [FX|FY|FZ|GA|H| MM [NA|NB| NN | T [5to[16 to[31 to[46 to[61 to] 76 o [101 to[126 to] 5 to [16 to[31 to[46 to[61 to| 76 to [101 tof126t0 |2 %8
15 st|30 st|45 st|60 st|75 st|100 st|125 st 150 st|15 st[30 st|45 st|60 st|75 st|100 st{125st{150st LS
46.5(555(59.5|735 7451835 |87.5 | 1015 2
6 |15|12 |14|3|8|13|45|16(24|14|32|15|28|M3x05[1%6 |3 |[M6x1.0|3 a1 609 | 089] —| —| — | 05| g w2y | — | — || — fo
10 15(12 |14| 4|8 [13|45|16(24(14|32| 8 |28(M4x0.7|125(48|M8x1.0|—|485|/56|68|80| —|—|—|—|765/84(96|108| —| — | — | — g,(_\')
16 15(183|120| 5|8 [19|55(23[33|20|42| § |28|M5x0.8|125/4.8|M10x1.0/—|485|57 |69 |81 |87 |111|129|141|765| 85 |97 |109|115|139|157| 169 § éo
x: () in S and Z dimensions: With auto switch s g
8|2
Single Acting, Spring Extend: Double Clevis (D) e gg
10 £0
— |Stroke . ]
CJ2D 1¢ - [Stroke | TZ & COHg® aE
o -0.030. (o=
Rod end nut GA Plplng port M5 x 0.8 NB Clevis pin (Q cd d9*0.060) QO: %é
o MM O |92
| d a d ‘% EN
1 <<
- \ Q 1 i ol 8
o fa LA - - I . . ) . bis B °$ i E
J| T sS85 - > o s
T T £ % X
oxig: |- A NA 8% | |S|E5
0 H + Stroke S + Stroke U - 5lem
CZo3 4 ETS)
Z + 2 x Stroke R alg
ZZ + 2 x Stroke %
| N
ol ™
#: A clevis pin and retaining rings are included. Sl m
mml 2| O
S 2
Boresize | A | B |C |[CD|CX|CZ| D |GA| H MM NA|NB|R |U |5t |16to|31to|46to|61lto|76t0|101t0[126t0
(cd) 15 st| 30 st | 45 st | 60 st | 75 st | 100 st|125 st|150 st =
10 15 |12 14 | 3.3 |32 |12 4 8 28 | M4x0.7 |125|178| 5 8 | 48.5| 56 68 80 — — — — =
16 15 | 183| 20 | 5 6.5 [183| 5 8 28 | M5x0.8 125|228 | 8 10 | 48.5| 57 69 81 87 | 111 | 129 | 141 2
=)
Z 7z =
Bore size 5to |16to|31to|46to|61to| 76to [101to|126to| 5to [16to|31to|46to |61 to| 76 to |101 to|126 to g
15 st | 30 st |45 st| 60 st | 75 st | 100 st|125 st|150 st| 15 st | 30 st | 45 st | 60 st | 75 st |100 st|125 st|150 st 2
10 845| 92 | 104 | 116 | — — — — [89.5| 97| 109 | 121 | — — — — é
16 86.5| 95 | 107 | 119 | 125 | 149 | 167 | 179 | 94.5| 103 | 115 | 127 | 133 | 157 | 175 | 187 s
46

O




Air Cylinder: Non-rotating Rod Type
Double Acting, Single Rod

Series CJ2K

@ 10, D 16

How to Order

Bore size Cylinder standard stroke [mm]
10 |10 mm Refer to “Standard Strokes” on page 48.
16 |16 mm
_ | | | L | ' .
QluEtcelicy CDJ2K [Bj|16/-|60| |Z- -IM9BW||_|-|B|-
m— T .
With auto switch  (Built-in magnet)
Mounting e Pivot bracket Made to Order
B Basic None Refer to page 48 for details.
E | Double-side bossed —— ——
D Double clevis N P!vot bracket is shipped together Auto switch
3 Single foot -+ FooFiange brackets with the product, but not a-ssembled. Auto switch mounting type
M Double foot ’ hioped h #: Only for CJ2D (double clevis) [ — [Without auto switch A | Rail mounting
are shipped together #: Pivot bracket is shipped together - B | Band mounting
F Rod flange with the product, but with the product, but not assembled. *#: For applicable auto : _
G Head flange not assembled. switches, refer to the *: For rail mounting, screws
; table below. and nuts for 2 auto
Head cover port location @ Rod end bracket ® = " " o switch switches come with the rail
] : — None ; #: Refer to page 107 for auto
. mounting type (A or B
— Per[;):r;()j(li(s:ular h V Single knuckle joint even Whgenys bl(1i|'[-in ) switch mounting brackets.
. W Double knuckle joint magnet cylinder without )
B T Rod end cap (Flat type) an auto switch is required. @ Number of auto switches
R Axial hti‘ 9] Rod end cap (Round type) — 2 pcs.
#: Rod end bracket is shipped together with the product, but not assembled. S 1 pe.
= For double clevis, double side bossed, double foot and head #: A knuckle joint pin is not provided with the single knuckle joint. “n” pes.

flange, the port is located perpendicular to the cylinder axis.

«: Refer to “Ordering Example of Cylinder Assembly” on page 4 8.
Applicable Auto Switches /Refer to the Auto Switch Guide ~for further information on auto switches.
N E= - Load voltage Auto switch model Lead wire length [m] ) )
Type| Special function Elgﬁttrrl;/:al % ((\g\ﬁzgﬂ) DC AC Band mounting Rail mounting 05| 1| 3|5 [None E(:ﬁnmé'crte:r Ap;lacl)lggble
E Perpendicular| In-line  |Perpendicular| In-line | (=) |[(M)| (L) [ (Z) [(N)
3-wire (NPN) 5V12V MONV M9N MINV M9N ® 06 O —| O (C circut
Grommet| | 3-wire (PNP) ' MOPV M9IP MIPV M9IP ® 6O/ —| O
ﬁ - 2-wire 12V M9BV M9B M9BV M9B ® @0 O|—| O .
5 Connector — H7C J79C — o — o000 —
ol. o 3-wire (NPN) 2V MONWV | MONW |MONWV | MONW | @ (@ @ O|—| O iC cireuit| Rela
E 3‘;‘%2?;&5::;‘:;?2%" Yes[3uire (PNP) |24 V| —  [M9PWV [ M9PW [M9PWV | M9PW | @ |@ | @O |—| O o
% 2-wire 12V M9BWV | M9BW |[MO9BWV | M9OBW | @ @ @ O|—| O —
z Water resistant Grommet 3-wire (NPN) 5V12V MINAV#1| MONA*L [MINAV# MONA*L | O |O | @ |O|—| O C circut
= (2-colour indicator) 3-wire (PNP) ' MIPAV*1| MOPA*! IMOPAV*I| MOPA*1 | O O | @ | O |—| O
2 2-wire 12V M9BAV *!| MOBA*! IM9BAV*!| MOBA*! | O |O | @ |O|—| O —
With dagnostc output (2-colour incicator 4-wire (NPN) 5V,12V — H7NF — F79F ® —|® O |—| O |Ccircui
3-wire .
ﬁ . (Wi — 5V — A96V A96 A96V A96 ® |— | ®|—|—| — |[Ccircutf —
= Grommet — 200 V — — A72 A72H e —0|—|—| —
2 —_ | 100V | A93V*#? A93 AQ3V *2 A93 ® o666 | — B
% No ) 100V or less| A90V A90 A0V A90 ® | —|@®|—[—| — |Ccicu| Relay,
2-wire 12V
2 ConnectorE 24V — — C73C A73C — ®  —1 00 6 — — | PLC
& No 24V or less — c80C A80C — ® | —|®©/® ® | — |Ccircu
Diagnostcindicaton (2colourindicator}| Grommeet [Yess — — — — A79W — e —\0|—|—| — —
=1: Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.

Please contact SMC regarding water resistant types with the above model numbers.

x2: 1 m type lead wire is only applicable to D-A93.

+: Lead wire length symbols: 0.5 m-------vevnnee — (Example) MONW S Z (Example) MONWZ
im-- - M (Example) MONWM None:- ----N (Example) H7CN
3m:---- --L  (Example) MONWL

*: Since there are other applicable auto switches than listed, refer to page 108 for details.

#: For details about auto switches with pre-wired connector, refer to the Auto Switch Guide on www.smc.eu .

x: Solid state auto switches marked with “O” are produced upon receipt of order.

#: The D-A900/MIOOT/A7TOL/A800/F7HON70O auto switches are shipped together, (but not assembled). (For band mounting, only auto switch mounting brackets are assembled before being shipped.)

47 Y
2 S\VC



Air Cylinder: Non-rotating Rod Type

Double Acting, Single Rod

Series CJ2K

Specifi cations g
: . 5 N
A cylinder which rod does not 3
B i 1 il g
rotate because of the hexagonal ___ Bore size [mm] 0 1 6 s
d sh Action Double acting, Single rod E
rod snape. Fluid Air 3
Non-rotating accuracy Proof pressure 1 MPa 5 E%
@ 10: #1.5°, @ 16: +1° M.a>f|mum opera.tmg pressure 0.7 MPa g g'ﬂ
. Minimum operating pressure 0.06 MPa nl= 0O
Can Operate without Without auto switch: -10°C to 70 °C 5
lubrication. of’:?'é' Ambient and fl uid temperature With auto switch: -10°C 10 60 °C (No freezing) §
_',.-"'" = Cushion Rubber bumper N
e~ £
Wﬁ g Lubrication Not required (Non-lube) =0
.rl"'"t Stroke length tolerance 10 S
o Rod non-rotating accuracy +1.5° | +1° = =
Piston speed 50 to 750 mm/s %
Symbol Allowable kinetic energy 0.035J | 0.090J .
Double acting, Single rod, Rubber bumper & =
£
S
é:ﬂ I Standard Strokes S|2
\ \ 2|5
[mm] |z g,(_\l)
Bore size Standard stroke £0
pade ¥ z
ovder | Made to Order 10 15, 30, 45, 60, 75, 100, 125, 150 e
(For details, refer to pages 111 to 120.) 16 15. 30, 45, 60, 75, 100, 125, 150, 175, 200 _ §’N
P Ll5
Sl S S #: Manufacture of intermediate strokes in 1 mm increments is possible. (Spacers are not used.) E gg
-XAL] | Change of rod end shape x: Please consult with SMC for strokes which exceed the standard stroke length. 52O
-XC3 | Special port location x: Applicable strokes should be confirmed according to the usage. For details, refer to “Air % K
X " - " - Cylinders Model Selection” on www.smc.eu . In addition, the products that exceed the standard | =
XC9 | Aduustable stroke cylinder/Adjustable retraction type stroke might not be able to fulfill the specifications due to the deflection etc. a1z ;
-XC10 | Dual stroke cylinder/Double rod type |2 N
-XC22 | Fluororubber seal . . % BN
-XC51 | With hose nipple Mou nting and Accessories  jreferto page 22 for details about part numbers and dimensions. || 8
GACED) Grease for food processing equipment @:--Mounted on the product. O-+-Can be ordered within the cylinder model. — =
X446 | PTFE grease Double* |Double cevis| | |2 e
= Mounting Basic Foot SEGE clevis |(nclding T-racke) ‘z '(_\I)
A Precautlons T | Mounting nut ° ® () — — E|Z0
P —————————— 2 | Rodend nut o ° ° o ° 38
I Refer to page 121 before handling. | @ | Clevis pin — — — [ L HE
b e d Single knuckle joint O O ©) ©) O Eé?\:l
& | Double knuckle joint*! ) @) ©) @) O %8
: ; S | Rodend Flat/Round t z
Ordering Example of Cylinder Assembly o | Bodend cep (FatRound ype) © S S - . 2

Cylinder model: CDJ2KD16-60Z-NW-M9BW-B

Double clevis

Band mounting

Mounting D: Double clevis

Pivot bracket N: Yes

Rod end bracket W: Double knuckle joint
Auto switch D-M9BW: 2 pcs.

Auto switch mounting B: Band mounting

#: Pivot bracket, double knuckle joint and auto switch are
shipped together with the product, but not assembled.

+1: A pin and retaining rings are shipped together with double clevis and double knuckle joint.

Mounting Brackets/Part No.

Double Acting, Single Rod
CJ2RK

. gy
Bore size [mm] i
Mounting bracket £
10 16 )
Foot CJ-L016C CJK-LO16C %O

Flange CJ-F016C CJK-F016C
N
T-bracket*! CJ-T010C CJ-T016C B
x1: T-bracket is used with double clevis (D). @]
Refer to pages 101 to 108 for cylinders with auto switches. fg’
(5]
* Auto switch proper mounting position (detection at stroke end) and its mounting height I=)
* Minimum stroke for auto switch mounting <
» Operating range 5
 Auto switch mounting brackets/Part no. §
©
]
=

SvVC

O

48

(With End Lock |[ Direct Mount, Non-rotating Rod |[




Series CJ2K

Weights
ld]
Bore size [mm] 10 16
. . Basic 25 47

Basic weight Axial piping 25 47

(When the stroke — - —

is zero) Double F:Iews (including clevis pin) 27 55
Head-side bossed 29 50

Additional weight per 15 mm of stroke 4 7
Single foot 8 25

Mounting bracket | Double foot 16 50

weight Rod flange 5 13
Head flange 5 13
Single knuckle joint 17 23
Double knuckle joint

ACCESSOres (including knuckle pin) 25 21
Rod end cap (Flat type) 1 2
Rod end cap (Round type) 1 2
T-bracket 32 50

= Mounting nut and rod end nut are included in the basic weight.

#: Mounting nut is not included in the basic weight for the double clevis.

Calculation:
Example) CJ2KL10-45Z
® Basic weight -+ veveereiinnn 25 (2 10)
® Additional weight -----+-------- 4/15 stroke
® Cylinder stroke «-«««:veoveeneen 45 stroke
® Mounting bracket weight --- 8 (Single foot)

25+4/15x45+8=45¢

Construction (Not able to disassemble)

8
M 2l Pauil AN
i 1 il
@ T el
- UL |
Rod section With auto switch
Component Parts
No. Description Material Note No Description Material Note
1 | Rod cover Aluminium alloy 9 | Rod seal NBR
2 | Head cover Aluminium alloy 10 | Piston seal NBR
3 | Cylinder tube Stainless steel 11 | Tube gasket NBR
4 | Piston rod Stainless steel 12 | Wear ring Resin
5 | Piston A Aluminium alloy 13 | Mounting nut Rolled steel
6 | PistonB Aluminium alloy 14 | Rod end nut Rolled steel
7 | Piston Aluminium alloy 15 | Magnet —
8 | Bumper Urethane

49

O



Air Cylinder: Non-rotating Rod Type )
Double Acting, Single Rod  Series C-J 2 K

Basic (B) g
5N
10 - g3
CJ2KB 7 —|Stroke ||Head cover port location |Z 20
n]= O

A Y Mounting nut E
Section Y detail GA  Piping port 2 x M5 x 0.8 GB_ - %;8

Rod end nut / (DO %’

o2 1 ' \\\EIJ\ i .2 Wz
& < il 51 i 3 =N
&1 < M/ ™ 253

d BB 03 Rod . NA NB BA 03 ZPE

od section H S + Stroke 8 £
Z + Stroke slex
zl=2NN
3™
Piping port M5 x 0.8 - )

Head cover port location 5|28

Axial location (R) B=
#: The overall cylinder length does not change. o] % ;

==
Z[EN
Y Refer to page 22 for details of the mounting nut. (SNJ-016C for @ 10, SNKJ-016C for @ 16) [mm] E gg
- £0

Bore size A BA |BB |CA |CB F GA |GB H KA MM NA |NB NDh 8 NN S YA L8

10 15 |15 |12 17 | 14 | 8 8 5 28 | 42 | M4x07 | 125 95 1054, | M10x1.0 | 46 | 74 [ (B
16 15 | 183|183 | 20 | 20 | 8 8 5 28 | 52 | M5x08 |125| 95 | 1285.,, | Mi12x10 | 47 | 75 i;’%
52O

. 3|2

Double-side Bossed (E) 2=
10 £ ign:

[s] 55
CJ2KE 16~ Stroke | Z ég
§0

EE
o §,é

(=) k7]
5l=3
z|2©

o o

z 2
ElZ
3|2
Section Y detail Y YY  Section YY detail § ‘ig
4 Mounting nut GA  Piping port 2 x M5 x 0.8 GB 8120

NN als

Rod end nut NN \ (DQ ‘i —
x 4T ] [5]
] }_'_ : ot L o 8 o~
<, 7 I - - 0 = CDI — E B
X MM/ + % O
. B-0s —
Rod section A F | NA NB =
H S + Stroke I.F =
Z + Stroke c%
i=]
2
Y Refer to page 22 for details of the mounting nut. (SNJ-016C for @ 10, SNKJ-016C for @ 16) [mm]

v}
Bore size A B © F GA | GB H KA MM NA | NB NDh 8 NN S Z 8
10 15 | 15 17 8 8 5 28 | 4.2 M4 x 0.7 125 | 95 109020 M10 x 1.0 46 82 S
16 15 | 183 | 20 8 8 5 28 | 5.2 M5 x 0.8 125 | 95 128 07 M12 x 1.0 47 83 =

2 SVC 50



Series CJ2K

Double Clevis (D)

CJ2KD %g — |Stroke (Z
Piping port 2 x M5 x 0.8 NB ) CDH9+3’°3°
Rod end nut ca GB Clevis pin (& cd d93620) -
> MM ®
% \ ¢
| = -
o 0 / o2
o9 Ay (¢ Z . = = = [ I
o SSTL s Q% 3
+0.2 X !
CX+0.1 A NA BA_03
BB_8,3 H S + Stroke U Rod section
Z + Stroke R
ZZ + Stroke
=: A clevis pin and retaining rings are included. (mm]
Bore size A BA |BB |[CA |CB |CD(cd)| CX | GA | GB H KA MM NA | NB R S ) Z 7z
10 15 | 15 12 17 14 | 33 | 3.2 18 28 | 4.2 M4x0.7 | 125 |225| 5 46 8 82 87
16 15 | 18.3 | 18.3 | 20 20 | 5 6.5 23 28 | 5.2 M5x0.8 | 125|275 | 8 47 10 85 93
Single Foot (L)
CJ2KL ig - ‘Stroke HHead cover port location |Z
2x@LC
Mounting hole
View E
fod end nut _F IGA % Mounting nut w L
oc ene NN Piping port 2 x M5 x 0.8 GB__ T
MM Q?" Cover surface
. I . ® AN
e B s — B Y| @) o>
@ S2ip i 4 8 &N
2 ! 0 = x i o ;
<7 | BB ) BA_
[0) 03, = Rod section %3 LX
A . LZ
x| LY |NA NB View E
H S + Stroke
Z + Stroke
Head cover port location
Axial location (R)
#: The overall cylinder length does not change.
¥ Refer to page 22 for details of the mounting nut. (SNJ-016C for @ 10, SNKJ-016C for @ 16) (mm]
Boresize | A |[BA|BB |[CA CB |F A GB |[H KA LB IIC LUH LT LX MM  NA N NN
10 15 (15 |12 |17 |14| 8 | 8 | 5 |28 |42|215/55| 14 |23| 33| 25| 42 |[M4x0.7|125/9.5|M10x1.0{ 46 | 6 | 9 | 74
16 15 (18.3|183| 20 | 20| 8 | 8 | 5 |28 |52|23 [55| 14 23|33 | 25|42 |M5x0.8(125|9.5[M12x1.0{ 47| 6 | 9 | 75
51

N



Air Cylinder: Non-rotating Rod Type )
Double Acting, Single Rod  Series C-J 2 K

Double Foot (M) g
5 N
10 2m
CJ2KM 16~ Stroke | Z %O
4x@LC S
1 Mounting hole g
o|2
Pan N L 33
H . N 1 = c E’g
¥ Mountingnut e e &2 O
Rod end nut GA ! 5
—_— GB_ F_ « Mounting nut Cover surface 8
Piping port 2 x M5 x 0.8 < Mounting nut
MM E
MM NN A 5
] ey 7\ N
I fon) &
n - - - {%:E & | > =0
| H p & 3z F
¥ - Gl
— — ) LX &
- - Rod section v
X | LY |NA NB|Y | | X 4 =0
S + Stroke B
LS + Stroke 8 £
Z + Stroke N4
zl=2NN
Y Refer to page 22 for details of the mounting nut. (SNJ-016C for @ 10, SNKJ-016C for & 16) (mm] ;En
mm] |5
Bore size A | F |GA|IGB|H |KA |[LB |[LC |LH LS LT |X LY LZ MM NA NB NN S X Y g BE
10 15 8 8 5 28 |42 |215|55| 14 | 64 | 23|33 | 25| 42 | M4x0.7 |125]| 95 |[M10x1.0| 46 6 9 89 g E’,’N
16 15 8 8 5 28 | 5.2 |23 55| 14 | 65 | 23| 33 | 25 | 42 | M5x0.8 |125| 9.5 | M12x 1.0 | 47 6 9 90 £ £m
ol8
(=
ol &
(] EN)
Rod Flange (F) 2 EE
10 : SlEN
CJ2KF 16~ Stroke ||Head cover port location |Z @ ;8
ViewE_ 2x@FC LS
Y Mounting nut Mounting hole %
- =04
Rod end nut NN GA  Piping port 2 x M5 x 0.8 GB - - Cover surface gN
C BT
\ \‘ % ) 5[ O
, "t . 3|2
. {: ) Uk . S8
B-; 1 L {J 3 - - - - {%:E g I B [ E E g_oJ §
0 | s} 4
ol T | Mw/] I N T =%
g 0 BA- 03
O BB o3 . -0.3 1S
FT Rod section 1
A F | NA INE) View E =(z
H S + Stroke e é,!
Z + Stroke oo X
=|2N
g5
- o =L
Piping port M5 x 0.8 S =
gliw
3=
o|lEX
ol
ol
o=
527
Head cover port location =
. . [5]
Axial location (R) 8
#: The overall cylinder length does not change. 2 B
[}
gl O
. 4 s
Y Refer to page 22 for details of the mounting nut. (SNJ-016C for @ 10, SNKJ-016C for @ 16) (mm] —
mm
=
Bore size A |BA BB |[CA |ICB |F |[FB |[FC |FT [FX |[FY |[FZ GA GB |H KA MM NA NB NN S Z fg—’-
10 15 (15 |12 17 | 14 8 |175|/ 55|23 | 33 | 20 | 42 8 5 28 | 42| M4x0.7 |125] 95 |M10x1.0| 46 | 74 g
16 15 (18.3/18.3| 20 | 20 8 |19 55|23 | 33| 20 | 42 8 5 28 | 52| M5x0.8 [125]| 95 |M12x1.0| 47 | 75 ?
g
S
I=}
]
=

2 SVC 52



Series CJ2K

Head Flange (G)

CJ2KG 19 - z

Cover surface NN GA  Piping port 2 x M5 x 0.8 GB_ . % Mounting nut
/ Rod end nut / NN
l ' \ ] ae] |04
- - e =82 —_— - =1 <3
MM,/ - $ b
FX » B EC A | |FINA NB|| |FT ® BL,
Fz = H S + Stroke F Rod section '
Mounting
hole Z + Stroke
¥ Refer to page 22 for details of the mounting nut. (SNJ-016C for @ 10, SNKJ-016C for @ 16) mmi
Bore size A | B | C F |[FB |[FC |FT |FX |FY |FZ |GA |GB | H [KA MM NA [NB NN S z
10 15 |15 17 8 |175| 55| 23 | 33 20 42 8 5 28 | 42 | M4x0.7 [125| 95 | M10x1.0 | 46 82
16 15 |18.3| 20 8 |19 55| 23 | 33 20 | 42 8 5 28 | 52| M5x0.8 |125| 95 | M12x1.0 | 47 83

53

O
2



Air Cylinder: Non-rotating Rod Type
Single Acting, Spring Return/Extend

Series CJ2K RoHS 1 -

N
M)
D10, D 16 e
,
o|2
SR
How to Order e
s 2|30
Cylinder standard stroke [mm] Action 8
Refer to “Standard Strokes” on page 55. S | Single acting, Spring retum §
T | Single acting, Spring extend %N
=]
- éo
| | '
| 5
LEtcEal CDJ2K |B(|16/-145||S|| |[Z- -MI9BW| |-B|- 82
T — | — | EE
With auto switch  (Built-in magnet) g =
ing ® Pivot bracket Made to Order o |5
Mou_ntmg . N Refer to page 55 for details. SE
B Basic Bore size ® - -one &
E |Double-side bossed Pivot bracket is shipped together ) p : £
D Double clevis 10 | 10 mm N with the product, but not assembled. Auto switch Auto S.WItCh =
- 16 |16 mm - - - mounting type -
L Single foot #: Only for CJ2D (double clevis) L — [ Without auto switch | A1 Rai " E
M Double foot #: Foot/Flange brackets #: Pivot bracket is shipped together =: For applicable auto ai moun "_19 SEIN
E Rod flange are shipped together with the product, but not assembled. switches, refer to B | Band mounting =2
B Head flange with the product, but the table below. «: For rail mounting, screws =HE 8
led. . ’ w
not assembled Rod end bracket * Enter the auto switch and nuts for 2 auto switches S 5
Head cover port location = None mounting type (A or come with the rail. '9'3 Z
E V Single knuckle joint B) even when a built- «: Refer to page 107 for auto = =
. Perpendi_cular %-‘__ W Double knuckle joint inlmagnet cylinder switch mounting brackets. < g%
to axis T Rod end cap (Flat type) :Ivl\tir:gﬁtisa?eatti?e 3 ) slen
U | Rod end cap (Round type) q - @Number of auto switches af3 8
R Axial ht.-; x: Rod end bracket is shipped together with the product, but not — 2 pcs. - S
. assembled. S 1 pc. 3
: joint pin i i i i joi n “n” pcs. 2
= For double clevis, double side bossed, double foot and head flange, the *: A knuckle joint pin i not provided with the single knuckle joint. p > %
port is located perpendicular to the cylinder axis. . “ . . N %’.—)
+ Not applicable to single acting, spring extend (T). =: Refer to “Ordering Example of Cylinder Assembly” on page 55. § 20
Applicable Auto Switches /Refer to the Auto Switch Guide ~for further information on auto switches. 38
£ Load volt Auto switch model Lead wire length e
) . |Electrical | S | Wiring 04 VoTage L0 SWIE = - ead wire length [m] Pre-wired | Applicable £l
Type| Special function o 2| output) DC AC Band mounting Rail mounting 05| 11| 3|5 [None il - ol
Vs s Perpendicular| In-line | Perpendicular| In-line | (=) [(M)| (L) [ (2) |(N) %;g
3-wire (NPN) 5V12V M9INV M9N MINV M9N ® 6 O —| O IC circuit ;%TO
Grommet 3-wire (PNP) ' M9OPV M9P M9OPV M9P ® @0 O|—| O LIE
§ 2-wire 12V M9BV M9B M9BV M9B ® 6O/ —| O o Tg 3
% Connector — H7C J79C — e — o000 — xleX
£ |Diagnostic indication S (NP 5V,12V MONWV | MINW | MONWV | MONW | @ |® |® O —| O IC circuit| Rel g E’%
3 (2-gco|our ndicator) Yes|3uire (PNP)[24 V|” — M9PWV | MO9PW [M9PWV | M9PW | @ @ |@]|O|—| O F?L%V g2
% 2-wire 12V M9BWV | M9BW |[MO9BWV | M9OBW | @ @ @ O|—| O — < E ©
a2 Water resistant Grommet Suire (NPN) 5Vv,12V RIERE R e ST 0 101010 | — O IC circuit z g
% - 3-wire (PNP) ' MIPAV*1| MOPA*! IMIPAV*| MOPA*L | O (O | @ |O|—| O = 4
& | (2-colour indicator) - = = = = 3l
2-wire 12V M9BAV*1| MOBA*! IM9BAV *!| MOBA O|0|@|O|—| O — sl
With diagnostc output (2-colour incicator 4-wire (NPN) 5V,12V — H7NF — F79F ® — | ® O |—| O |Ccircui g Z Q
= 250
S-wire 5v | — | A%V | A% | A%V | A% | @ |—|e@|—|—| — |cowi| — | (B
5 Yes (NPN equivalent)| — E —
= Grommet — 200V — — A72 A2H | @ |—|@|—|—| — . g
2 — L] 100V | A93v*2 | A93 |A93V*2| A93 (e (e |e|@|—| — o &
= No ) 100V or less| A90V A90 A90V A90 ® |—|®|—|—| — |Ccicut| Relay, | |G| 0
S 2-wire 12V pc |l lel O
2 Comnector |Yes| 24V — — C73C A73C = o —1 00 6 — — =
& No 24V or less — C80C A80C — ® —|©® ® ®  — |Ccicui = R
Diagnostcindicaton (2colourindicator}| Grommeet [Yes — — — — A79W = e —\0|—|—| — — =
+1: Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance. £
Please contact SMC regarding water resistant types with the above model numbers. UE)
+2: 1 m type lead wire is only applicable to D-A93. o
*: Lead wire length symbols: 0.5 m------eoveveeens — (Example) MONW B, Z (Example) MONWZ 2
im---- -+ M (Example) MONWM None:-----wevveeee N (Example) H7CN
BMererrrreenennenns L (Example) MONWL g
*: Since there are other applicable auto switches than listed, refer to page 108 for details. E
#: For details about auto switches with pre-wired connector, refer to the Auto Switch Guide on www.smc.eu . -
+: Solid state auto switches marked with “O” are produced upon receipt of order. &
#: The D-A900/MIOO/A7OO/A800/F70OA 70O auto switches are shipped together, (but not assembled). (For band mounting, only auto switch mounting brackets are assembled before being shipped.) =

Z;SVC >4



Series CJ2K

A cylinder which rod does not
rotate because of the hexagonal
rod shape.

Non-rotating accuracy
@ 10: £1.5°, J 16: £1°
Can operate without

lubrication.

Spring
extend

Spring return

Symbol
Single acting, Spring return,
Rubber bumper

i

Single acting, Spring extend,
Rubber bumper

—={

—T

Specifi cations

Bore size [mm] 10 16
Action Single acting, Spring return/Single acting, Spring extend
Fluid Air
Proof pressure 1 MPa
Maximum operating pressure 0.7 MPa
Minimum operating pressure 0.15 MPa

Ambient and fl uid temperature

Without auto switch: -10 °C to 70 °C

With auto switch: -10 °C to 60 °C (No freezing)

Cushion Rubber bumper (standard equipment)
Lubrication Not required (Non-lube)
Stroke length tolerance 10

Rod non-rotating accuracy +1.5° ‘ +1°
Piston speed 50 to 750 mm/s

Allowable kinetic energy 0.035J [ 0.090J

Standard Strokes

Spring Reaction Force

e

pade 2

{ {

Made to Order
(For details, refer to pages 111 to 120.)

Symbol

Specifications

-XAO

Change of rod end shape

-XC51

With hose nipple

-XC85

Grease for food processing equipment

-X446

PTFE grease

A\ Precautions

1 Refer to page 121 before handling.

Ordering Example of Cylinder Assembly

Cylinder model: CDJ2KD16-45SZ-NW-M9BW-B

Double clevis

Pivot bracket

Double knuckle joint

[mm]
Bore size Standard stroke Bore size Spring reaction force [N]
10 15, 30, 45, 60 [mm] Primary | Secondary
16 | 15,30, 45, 60, 75, 100, 125, 150 10 353 6.86
: . . 16 6.86 14.2
#: Manufacture of intermediate strokes in 1 mm

increments is possible. (Spacers are not used.)

#: Please consult with SMC for strokes which
exceed the standard stroke length.

#: Applicable strokes should be confirmed
according to the usage. For details, refer to “Air
Cylinders Model Selection” on www.smc.eu. In
addition, the products that exceed the standard
stroke might not be able to fulfill the
specifications due to the deflection etc.

Spring with primary  Spring with secondary
mounting load mounting load

ouT
—

'—“»% =_mr—1
_ _ AN

When the spring is
contracted by applying air

When the spring is set
in the cylinder

Mounti ng and ACCessories  [referto page 22 for details about part numbers and dimensions.

@:--Mounted on the product. O-:-Can be ordered within the cylinder model.

Mounting

Basic

Double** | Double clevis

Foot clevis |(including T-brackef)

Flange

Mounting nut

Rod end nut

Standard

Clevis pin

Single knuckle joint

Double knuckle joint*!

Option

Rod end cap (Flat/Round type)

[ OO0 @@

T-bracket

| |O|0]0]|] |@|®
[ OO0 |@|®
Olo|0o|0|e|e]|
@O 00 ee

+1: A pin and retaining rings are shipped together with double clevis and double knuckle joint.

Mounting Brackets/Part No.

Bore size [mm]
Mounting bracket
10 16
Foot CJ-LO16C CJK-LO16C
Flange CJ-Fo16C CJK-F016C
T-bracket*! CJ-T010C CJ-T016C

x1: T-bracket is used with double clevis (D).

Mounting D: Double clevis

Pivot bracket N: Yes

Rod end bracket W: Double knuckle joint
Auto switch D-M9BW: 2 pcs.

Auto switch mounting B: Band mounting

#: Pivot bracket, double knuckle joint and auto switch are
shipped together with the product, but not assembled.

55

Refer to pages 101 to 108 for cylinders with auto switches.

 Auto switch proper mounting position (detection at stroke end) and its mounting height

* Minimum stroke for auto switch mounting
» Operating range
 Auto switch mounting brackets/Part no.

SvVC

O




Air Cylinder: Non-rotating Rod Type
Single Acting, Spring Return/Extend

Series CJ2K

Weights g
Spring Return [a] Spring Extend RN ES)
Bore size [mm] 10 16 Bore size [mm] 10 16 %

| Double | g | Doube g | Double | e | Double | g E
. . | Axial | clevis ; .| Axial | clevis ; . . | Axial | clevis ; .| Axial | clevis ; ol
Mounting Basic| .. |. . | side |Basic| .. |. . | side Mounting Basic| .. |. . | side [Basic| .. |. " | side | |58 ;
piping | (including hossed piping | (including bossed piping | (including hossed piping | (including bossed| |25 &
clevis pin) clevis pin) clevis pin) clevis pin) § = 8
(] )
15 stroke 30 |30 | 30 |31 |64 |64 70 66 15 stroke 29 | 29 | 31 |31 |64 |64 | 72 69 2
30 stroke 38 | 38 38 [ 39|79 |79 86 | 81 30 stroke 35 | 35 37 [ 38| 79| 79| 8 | 83 E
£ 45 stroke 48 | 48 | 48 | 49 | 97 | 97 | 104 | 99 £ 45 stroke 44 | 44 | 46 | 46 | 95 | 95 | 103 | 99 < ~
2 60stroke | 58 | 58 | 58 | 59 |116|116| 122 |118 2 60stroke | 52 | 52 | 54 | 55 [111|111| 119 |115 5;8
£ 75 stroke 138 | 138 | 144 | 140 2 75 stroke 133 (133 | 140 | 137 %”
a 100 stroke 171 (171 | 178 | 173 & 100 stroke 163 | 163 | 170 | 167 | L&
125 stroke 209 | 209 | 215 | 211 125 stroke 198 [ 198 | 206 | 202 %
150 stroke 232|232 | 238 | 234 150 stroke 219 | 219 | 227 | 223 ?ﬁ
o 5| _Single foot 8 25 5| _Single foot 8 25 '0?% 58
£ 2| Double foot 16 50 £ 2| Double foot 16 50 EE
=] =] =2
S § Rod flange 5 13 S § Rod flange 5 13 g =
5 | Head flange 5 13 5 | Head flange 5 13 e
Single knuckle joint 17 23 Single knuckle joint 17 23 2 é
Double knuckle joint Double knuckle joint =
g | ncidingknuckiepin) 25 21 g | ncdingknuckie pin) 25 21 u:
2 | Rodend cap 1 2 2 | Rodend cap 1 2 BE
g (Flat type) g (Flat type) SEIN
= 2(\]
< Rod end cap 1 9 < Rod end cap 1 9 g =]
(Round type) (Round type) SIE O
T-bracket 32 50 T-bracket 32 50 '9'3 =
#: Mounting nut and rod end nut are included in the basic weight. #: Mounting nut and rod end nut are included in the basic weight. a1 § ;
#: Mounting nut is not included in the basic weight for the double clevis. #: Mounting nut is not included in the basic weight for the double clevis. E g
Calculation: Calculation: E gg
Example) CJ2KL10-45SZ Example) CJ2KL10-45TZ 20
®Basic weight - ---48 (@ 10) ®Basic weight - --44 (@ 10) - S
oCylinder Stroke::«««--+:veevennee 45 stroke o Cylinder Stroke::-««-«: veeeeeneee 45 stroke 2
e Mounting bracket weight:---- 8 (Single foot) ®Mounting bracket weight:---- 8 (Single foot) ign:
48+8=569 44+8=52¢g S
g0
3|2
2 o
B
g
5

O

56

(With End Lock |[ Direct Mount, Non-rotating Rod |[

Single Acting, Spring Retum/Extend
CJ2R

Double Acting, Single Rod
CJ2RK

Single Acting, Spring Retum/Exend

| CJ2RK

CBJ2

Auto Switch

Made to Order




Series CJ2K

Construction (Not able to disassemble)

Single acting, Spring return

10
1]
/] il
i ll'
Rod section | ] )
With auto switch
Single acting, Spring extend
e Skl
§ | l N
Rod section ‘ . .
With auto switch
Component Parts
No. Description Material Note No. Description Material Note
1 | Rod cover Aluminium alloy 10 | Tube gasket NBR
2 | Head cover Aluminium alloy 11 | Wear ring Resin
3 | Cylinder tube Stainless steel 12 | Return spring Piano wire
4 | Piston rod Stainless steel 13 | Spring seat Aluminium alloy
5 | Piston A Aluminium alloy 14 | Mounting nut Rolled steel
6 | PistonB Aluminium alloy 15 | Rod end nut Rolled steel
7 | Piston Aluminium alloy 16 | Magnet —
8 | Bumper Urethane 17 | Rod seal NBR
9 | Piston seal NBR
57

O



Air Cylinder: Non-rotating Rod Type )
Single Acting, Spring Return/Extend ~ Series C-J 2 K

Single Acting, Spring Return: Basic (B) g
5 N
10 : 2m
CJ2KB 16~ Stroke | S |Head cover port location |Z 20
2 Piping port M5 x 0.8 %
[=) TS ;
=2 % S(\l
S i
i 720
T _ &
Head cover port location E
N Axial location (R) N
«: The overall cylinder length does not change. %:,8
Section Y detall i GB, L
Y ¥ Mounting nut Piping port M5 x 0.8 (=
o) Rod end nut v e
(Do (DO =)

. MM " , .
o3 v S 4
| 7 it - - - - - | <| 7 o2
3 1 R glé

©
T \ X T 5] =
0 Nz
BB.Gs A F | .NA NB|  Rod section BA0: SE
H S + Stroke Z
Z + Stroke %

* i i . 5|EN
For details of the mounting nut, refer to page 22 mm] |3 gg
Bore = z 5 ;O
size A BABBCACB |[F GB H KA (MM NANB NDh 8| NN |5to|16to[31to|46to|61to|76t0(10lto|12to| 5to [16to|31to|46to|6Lto(76to|101to| 12610 % E

155t |30st|45st]|60st|75st|100st| 125t | 150st | 15st|30st| 45 st |60 st| 75t | 100st | 125t | 150t §§
10 15(15 (12 |17|14| 8 | 5 |28|4.2|M4x0.7(4.8]9.5]| 1030y, [MI0Xx1.0|455|53 |65 |77 | — | — | — | — |735|81 |93 [105| — | — | — | — ‘g %;;
16 15(18.3(18.3/20 (20| 8 | 5 |28 |5.2|M5x0.8(4.8|9.5|12.9,, [M12x1.0|455| 54 | 66 | 78 | 84 | 108|126 |138|735| 82 | 94 |106 112 136|154 | 166 = g,N
al2m
0
Single Acting, Spring Return: Double-side Bossed (E) %n:
CJ2KE 16~ Stroke | SZ 223

S E

[ee] ofz

2 o)z
S 5lix
Q %,_,
¥ £ @)

EE
- T §,é

(=) k7]
5123

Section Y detail Y GB YY Section YY detail s
. Rod end nut NN # Mounting nut Piping port M5 x 0.8 NN 28
g MM 3|2y
0} AN
o it i o B
w{ e v | 5 52°

@ 3 -k,:} / - 5 %
BBTO 1 } E S
-4 A F | [.NA NB|F | Rod section 4| m
H S + Stroke % O
Z + Stroke —

S

Y For details of the mounting nut, refer to page 22. [mm] %
Bore = Z §
size A BABBCACB |[F GB H KA (MM NANB NDh 8| NN |[5to|16to|31to|46to|61to|76t0|101to|126t| 5to [16t0|31to|46t0 |61t |76t |101t0|126t0

15t 30st |45t |60st| 75t |100st | 125st | 150st| 15t |30 st |45 st |60 st| 75 st | 100st | 125t | 150st g

10 15(15 |15 |17|17| 8 | 5 |28|4.2|M4x0.7(4.8]9.5| 1030y, [M10x1.0|455|53 |65 |77 | — | — | — | — |81.5/ 89 {101|113| — | — | — | — 2
16 15 (18.3{18.3/20 (20| 8 | 5 |28 [5.2|M5x0.8(4.8]9.5|12.30,, [M12x1.0|455| 54 | 66 | 78 | 84 | 108|126 |138|81.5| 90 |102|114 |120|144|162|174 é
<

=

SMC >

O



Series CJ2K

Single Acting, Spring Return: Double Clevis (D)

10
— |Stroke
CJ2KD 7¢ —|[Stroke | SZ
Piping port M5 x 0.8 NB @ CDHg'$ %%
. . —0.030.
OQ? MM Rod end nut GB Clevis pin (& cdd9 g 0p0)
o \
< ZTIp L7 r
T A iy ; : - - . <
m m
;l:
CXio3 A NA
BB o3 H S + Stroke U Rod section
Z + Stroke R
ZZ + Stroke
#: A clevis pin and retaining rings are included. (mm]
S
Bore size A |BA [BB |[CA CB |CD|CX|GB| H |KA MM NA INB [R | U 5to | 16to | 31to | 46to | 61to | 76to |101to|126 to
(cd) 155t | 30st | 45t | 60st | 75 st | 100 st| 125 st| 150 st
10 15 (12 |12 14 | 14 | 33|32 | 18 | 20 | 4.2 | M4x0.7 | 4.8 |225| 5 8 |455| 53 65 77 — — — —
16 15 |18.3/18.3| 20 | 20 | 5 65|23 |20 |52 | M5x0.8|4.8|275| 8 | 10 |455| 54 66 78 84 | 108 | 126 | 138
Z zZ
Bore size 5to | 16to | 31to | 46to | 61to | 76to |101to|126to| 5to | 16to | 31to | 46to | 61to | 76to |101to| 126 to
15st | 30st | 45st | 60st | 75st |100st|125st|150 st| 15st | 30st | 45st | 60 st | 75 st [100 st | 125 st| 150 st
10 73.5| 81 93 | 105 | — — — — | 785 ]| 86 98 | 110 | — — — —
16 75.5| 84 96 | 108 | 114 | 138 | 156 | 168 | 83.5| 92 | 104 | 116 | 122 | 146 | 164 | 176
Single Acting, Spring Return: Single Foot (L)
CJ2KL %g - ‘Stroke ‘ S ‘Head cover port location ‘ z
Piping port M5 x 0.8
2x@LC
Head cover port location Mounting hole
Axial location (R)
x: The overall cylinder length does not change.
View E scs B e
Rod end nut F. Y Mounting nut -
Piping port M5 x 0.8
QQ7 NN o8 Cover surface
¢ MM o
o? . Y T / _ . _ _ _ v [ e ] ﬁ% >
e S = 3 S aEEE
< 4
T L A 1
0 - ) BA S,
BB-os - INBI Rod section LX
A ) LZ
X Y NA View E
H S + Stroke
Z + Stroke
Y For details of the mounting nut, refer to page 22.
[mm]
ziozr: A |BA |BB |[CA |ICB |F GB |[H KA B |C LH LT LX LY LULZ MM NA NB NN
10 15 | 15 12 17 14 8 5 28 | 42 |215| 55| 14 | 23 | 33 25 | 42 M4 x0.7 | 48 | 9.5 | M1I0Ox 1.0
16 15 [18.3]18.3| 20 | 20 8 5 28 | 5.2 |23 55| 14 | 23| 33 | 25 | 42 M5x0.8 | 48 | 9.5 | M12x 1.0
Bore = z
o 5to [16to|3L1to|46to |61to|76t0 |101to|126t0| X Y | 5to |16to|31to|46to|61to| 76to |101to|126t0
15st | 30 st | 45t | 60 st | 75 st [100 st| 125 st | 150 st 15st | 30 st | 45t | 60 st | 75 st [ 100 st| 125t | 150 st
10 45553 |65 |77 | — | — | — | — 6 9 |735)81 |93 |105| — | — | —
16 455| 54 | 66 | 78 | 84 | 108|126 |138| 6 9 |735| 82 | 94 |106 | 112|136 | 154 | 166
59



Air Cylinder: Non-rotating Rod Type
Single Acting, Spring Return/Extend

Series CJ2K

Single Acting, Spring Return: Double Foot (M) g
5N
10 4x@LC g
CJ2KM — |Stroke | SZ X g
16 - Mounting hole %O
N 8
W \ \‘j ‘g
H GB__ F = |2
Rod end nut F ¥ Mounting nut i ¥ Mounting nut S E ;
NN = Piping port M5 x 0.8 Cover surface BlsN
Lol i
- t y - - - - > ) m| > E]
= N I ] b
< ] §N
o X I
i NB Sl Rod section LX g ©
A Lz =
X Y NA Y X g
S + Stroke &
LS + Stroke -0?% S
Z + Stroke = %
5]
. . [mm] |Sf=
Y For details of the mounting nut, refer to page 22. e
& =
4 =
Bore L= UZ
size A | F |GB|H [LB |[LC |LH |5t |16to|31to|46t0o|61lto|76t0|101to(126to| LT |LX |LY |LZ [KA MM NA NB NN =
15st | 30 st | 45st | 60 st | 75 st [100 st| 125 st | 150 st L=
10 15| 8 5 |28 |215|/55|14 (63571 |83 |95 | — | —| — | — |23]|33|25|42 |42|M4x0.7|48|95|M10x1.0 2
16 15| 8 | 5 | 28|23 |55]| 14 [635| 72 | 84 | 96 |102|126|144/156|23 |33 | 25 |42 |52 | M5x08 48|95 |M12x1.0 |5 %N
ol=
=1 ]
Bore = z s e O
size 5to |16to|31to|46to|61lto|76t0|101to(126to| X | Y | 5to |16to|31to|46to|61to| 76to [101to|126t0 % E
15st | 30t | 45st | 60 st | 75 st |100 st| 125 st | 150 st 15st | 30t | 45st | 60 st | 75 st | 100 st | 125t | 150 st =
10 [455[53 |65 77| —| — | —[—]6 ] 9 [885][ 96 [108]120] — | —| —[— AR
16 [455| 54 | 66 | 78 | 84 |108|126|138| 6 | 9 |885| 97 |109 |121|127|151|169 | 181 £ AN
S ELN
a 58
Single Acting, Spring Return: Rod Flange (F) LS
cI2kF 10 _[stroke | s [Head tlocation |Z {1
16~ roke ead cover port location 2N
=)
GB 2x@ FC 5120
. - - olg
Rod end nut View E % Mounting nut Piping port M5 x 0.8 Mounting hole % ~
v Cover surface =
NN < £l
\# | =} 5%
i T o ,§ g
: : : : : - L | : Lol | |20
SN % O I
| s XS i LI
FT EE
NB -BA_S,3 glex
A Fl LL.NA Rod section FX gla
H S + Stroke _ - 5 ég
Z + Stroke View E 2 %O
g a
z 2
Piping port M5 x 0.8 § %X
S| &Y
=
_ I
Head cover port location § o
Axial location (R) 3z M
«; The overall cylinder length does not change. ﬁ 8
Y For details of the mounting nut, refer to page 22. (mm] E
Bore = Z =
. A BABBCACB | F [FB|FC|FT|FX|FY|FZ|GB|H |KA| MM [NANB| NN |[5to|16to|3Lto|46to|61to|76to|101t0|126t0| 5to |16to|3Lto|46to|61 to|76to|101t0|126t0 U§)
15t |30 st 45t |60 st|75st|100st[125st|150st| 15 st |30 st |45 st| 60 st | 75 st | 100st|125st| 150 st o
10 |15(15 |12 |17|14]| 8 [175|55]2.3|33]20|42| 5 |28|4.2|M4x0.7|4.8|9.5|M10x1.0|455|53 | 65|77 | —|— | — | —|735/81 |93 |105| —|— | — | — =z
16 |15|183|183]20|20| 8 [19 |5.5[2.3|33|20|42| 5 |28|5.2|M5x0.8(4.8|9.5[M12x1.0(45.5]| 54 | 66 | 78 | 84 | 108 | 126|138 [73.5| 82 | 94 | 106 | 112 | 136 | 154 | 166 >
s
I=}
]
=
60

O




Series CJ2K

Single Acting, Spring Return: Head Flange (G)

CI2KG 19 - sz

GB = Piping port M5 x 0.8

Rod end nut
Cover surface 4 Mounting nut
v\ NN g o
1 N | ®
a | > =r _ _ _ _ _L % T 08
il [ ==E:is B ! <] <3l
i <
l X f
FX 2x@FC A F| | NA NB||_ |FT . B-0a
FZ Mounting H S + Stroke F Rod section :
hole
Z + Stroke
Y For details of the mounting nut, refer to page 22.
[mm]
i;)zree A B C F |FB |FC |FT |[FX [FY |FZ |GB | H |KA MM NA [NB NN
10 15 |15 17 8 |[175| 55 |23 | 33 | 20 | 42 5 28 | 42 | M4x0.7 | 48 | 9.5 | M10x 1.0
16 15 |18.3| 20 8 |19 55|23 | 33 | 20 | 42 5) 28 | 52 | M5x0.8 | 48 | 9.5 | M12x 1.0
Bore = Z
size 5to0 [16to|31to|46to |61to|76t0 |101to|126t0| 5to |16to [31to|46to|61to| 76t |101to|126t0
15st| 30st|45st | 60st|75st|100st|125st|150st| 15st| 30 st | 45st | 60 st | 75 st | 100 st| 125 st | 150 st
10 45553 |65 |77 | —| — | — | — [85|/89 101|113 — | — | — | —
16 455| 54 | 66 | 78 | 84 | 108 | 126|138 |81.5| 90 |102|114 | 120|144 |162| 174
61

O
2



Air Cylinder: Non-rotating Rod Type
Single Acting, Spring Return/Extend

Single Acting, Spring Extend: Basic (B)

Series CJ2K

10
— |Stroke
CJ2KB 7¢ —|[Stroke | TZ
. . Y Mounting nut
Section Y detall .
GA  Piping port M5 x 0.8
MM Rod end nut
o3 \ Aé I -2
T T [ N - - _ - ! .
m 7 [ T Zd <
m ] [}
) <
N T
q>°<b BB ™~ q;c’v BAS
03 A F | NA NB| |. Rod 03
H + Stroke S + Stroke section
Z + 2 x Stroke
Y For details of the mounting nut, refer to page 22. (mm]
Bore = z
size A BABBCACB |[F GAH KA MM NANB [ NDh8 | NN |5t |16to|31to[46t0|61to|76t0|101to|126t0| 5t0 [16to(3Lto|46t0|61to|76t0(101t0 (126t
155t |30st|45st|60st|75st|100st| 1255t |150st| 15t |30 st|45st|60st| 75 st|100st|125st 150t
10 [15(15 |12 [17[14| 8 | 8 |28[4.2|M4x0.7]125(4.8]10.30,,|M10x1.0{485|56 |68 |80 | — | — | — | —[765|84 | 96 |108] — | — | — | —
16 15(183[183|20|20| 8 | 8 |28 |5.2|M5x0.8|125|4.8 12_8_022 M12x1.0|485| 57 | 69 | 81 | 87 |111|129|141|765| 85 | 97 |109|115|139|157 |169
Single Acting, Spring Extend: Double-side Bossed (E)
10
— | Stroke
CJ2KE g —[Stroke | TZ
2
a
=
S
Section Y detail y S Mounting nut Section YY detail
NN
GA  Piping port M5 x 0.8 Yy
MM Rod end nut NN
027 \ £ {5 b 027
3 Ex HE ] 2|
m (- . ) / ‘ < o ¥
3
(DOQ) BB_8,3 N q)c}v BA_C
A F | NA NB F| Rod -0.3
H + Stroke S + Stroke section
Z + 2 x Stroke
Y For details of the mounting nut, refer to page 22.
[mm]
Bore = Z
size A BABBCACB |[F GAH KA |[MM NANB [ NDh8 | NN |5t |16to|31to[46t0(61to|76to|101t0|126t0| 5to [16t0(3Lto(46to|61to|76t0|10to|126t
15t| 30 st|45st|60st|75st|100st | 125st | 150st |15 st |30 st |45 st| 60 st| 75 st| 100t | 1255t | 150st
10 15|15 |15 |17 |17 | 8 | 8 | 28 |4.2|M4x0.7|125|4.8 10_8_022 M10x1.0[485| 56 |68 |80 | — | — | — | — [845| 92 [104|116| — | — | — | —
16 15(18.3(183/20| 20| 8 | 8 | 28 |5.2|M5x0.8|125(4.8 12,8.027 M12x1.0{485| 57 | 69 | 81 | 87 |111|129|141|84.5| 93 |105|117|123|147|165|177
62

O

SvVC

Standard

Double Acting, Double Rod || Double Acting, Single Rod

i

CJ2

cJ2w

CJ2

rnge Acting, Spring Return/Extend

Non-rotating Rod
Single Acting, Spring Return/Extend

i

.
2
©
=]
c
S
O
°
@
o]
o1
(2]
c
=
=
=
o

U

Direct Mount

Single Acting, Spring Retum/Extend

(With End Lock |[ Direct Mount, Non-rotating Rod |[

Double Acting, Single Rod

CJ2z

=
3
x
@
=>
=
@
=
£
j=1
<
@
=
=
3
a

CJ2zW

Double Acting, Double Rod

CJ2R

Double Acting, Single Rod

CJ2R

CJ2RK

Double Acting, Single Rod

Single Acting, Spring Retum/Exend

| CJ2RK

CBJ2

Auto Switch

Made to Order




Series CJ2K

Single Acting, Spring Extend: Double Clevis (D)

10

CJ2KD 16~ Stroke | TZ
@ CDH9" %%
Rod end nut GA Piping port M5 x 0.8 NB Clevis pin (Q cd dg:gggg) N
MM ©
1 ! , o
o | T SEt < : s - — et <|
m L < m
" T
d)o@ cxist LA NA - ;
. BA_
BB_os H + Stroke S + Stroke U Rod section 03
Z + 2 x Stroke R
ZZ + 2 x Stroke
* A clevis pin and retaining rings are included. (mm]
S)
Bore size A |BA |[BB [CA |ICB |[CD|CX|GA| H |KA MM NA INB [R |U 5to | 16t0 | 31to | 46to | 61to | 76to |101to | 126 to
(cd) 155t | 30st | 45st | 60st | 75st | 100t | 125 st| 150 st
10 15 |15 |12 17 | 14 | 3.3 3.2 | 8 28 | 4.2 | M4x0.7 |125(17.8| 5 8 |48.5| 56 68 80 — — — —
16 15 |18.3|18.3| 20 | 20 | 5 65| 8 | 28 |52 |M5x0.8|125(22.8| 8 | 10 |485| 57 | 69 | 81 | 87 | 111 | 129 | 141
Z Y4
Bore size 5to | 16to | 31to | 46to | 61to | 76to |101to|126to| 5to | 16to | 31to | 46to | 61to | 76to | 101 to | 126 to
15st | 30st | 45st | 60st | 75st | 100st|125st|150st| 15st | 30st | 45st | 60st | 75st | 100 st | 125 st | 150 st
10 845| 92 (104|116 | — | — | — | — |895| 97109 (121 | — | — | — | —
16 86.5| 95 | 107 | 119 | 125 | 149 | 167 | 179 | 94.5| 103 | 115 | 127 | 133 | 157 | 175 | 187
Single Acting, Spring Extend: Single Foot (L)
10
— |Strok
CI2KL 71¢ TZ
View E ¥ Mounting nut
NN FIGA Piping port M5 x 0.8
MM Rod end nut O?‘ Cover surface
On;? Y S q S - - - - :? N Y m| >
) d ) 7 e
< 3
17 o - N4 f o
® BBfog [ BA—O.3
- Rod LX
A X Y [ NA NB section View E LZ
H + Stroke S + Stroke
Z + 2 x Stroke
Y For details of the mounting nut, refer to page 22. [mm]
Bore size A |BA |BB [CA |ICB |[F |[GA |[H |KA B LC L[H LT LX LY Lz MM NA NB NN
10 15 | 15 12 17 14 8 8 28 | 42 |215] 5.5 14 | 23 | 33 25 42 M4 x0.7 |125| 4.8 | M10x 1.0
16 15 [18.3|18.3| 20 | 20 8 8 28 | 5.2 |23 55| 14 | 23 | 33 | 25 | 42 | M5x0.8 |125| 48 | M12x1.0
Bore size = X Y Z
5t015st [16t030st|31to45st|46t060st|61to 75 st| 7610100 st 101t 125 st|126to 150 st 5t015st | 161030 st|31to45st|46t060st|61to 75st| 76t0 100 st |101 to 125 st| 126 to 150 st
10 48.5 56 68 80 — — — — 6 9 76.5 84 96 108 — — — —
16 48.5 57 69 81 87 111 129 141 6 9 76.5 85 97 109 115 139 157 169
63 Y
2 S\VC



Air Cylinder: Non-rotating Rod Type
Single Acting, Spring Return/Extend

Single Acting, Spring Extend: Double Foot (M)

Series CJ2K

N
2™
CJ2KM TQ - [Stroke | TZ £C
4x@DLC %
Mounting hole =
5 g
T Tl|=
H + Stroke +# Mounting nut i e b s §§
NN F |GA ' 5 g,ﬂ
Piping port M5 x 0.8 F % Mounting nut Cover surface 0% @)
MM Rod end nut 8
\;4 A :
N 4 s
T - - - 4 > ;N
Si ] H h O aaz | 155
- < - %’
- - 4 - =
H H LX =
A _)'< Y | NA NB Y )(_I Rod LZ £
section &
S + Stroke = "é,
LS + Stroke [ 2
Z + 2 x Stroke g &
op—
ok
=5
Y For details of the mounting nut, refer to page 22. [mm] ==
S 5
Boresizel A | F [GA| H |KA |LB [LC |LH | 5to |16to|31to|46to|61to|76to|101to(126t0| LT [LX |LY |LZ MM NA |NB NN —(=
15t |30t | 45st | 60st | 75 st |100 st| 125t | 150 st <
10 15| 8 8 |28 |42|215/55|14 |665| 74 |8 |98 | — | — | — | — |23|33|25|42 | M4x0.7 [125| 4.8 | M1I0x1.0 |2 %N
16 15| 8 8 | 28 |52|23 |55| 14 |665| 75 | 87 | 99 | 105|129 |147|159|23 |33 | 25 | 42 | M5x0.8 |125]| 4.8 | M12x1.0 g 58
O @
ofs
S Z 9 8
Bore size| 5to |16t [31to [46to|61to|76to |101to|126to| X | Y | 5to [16to|31to|46to|61to| 76to [101to|126t0 e
15st [ 30 st | 45t | 60 st | 75 st {100 st| 125 st | 150 st 15st | 30 st | 45st | 60 st | 75 st [ 100 st| 125 st | 150 st ‘g %;
10 [485[56 |68 80| —| — | —[—]6 | 9 [o15] 99f111]123] — | — | — [ — Z|2N
16 [485| 57 | 69 | 81 | 87 |111[129|141| 6 9 915|100 |112 124|130 |154|172|184 a 58
Single Acting, Spring Extend: Rod Flange (F) _|Em
10 S8
— |Stroke =
CJ2KF ¢ —[Stroke | TZ e I
. X = E
View E ¥ Mounting nut Mounting hole e ggn\:l
NN GA 23
= . Cover surface £0
Rod end nut Piping port M5 x 0.8 v 1
MM cl)(J L&
6 i€ S
o3 s o9 €8x
. S < - s - - <|1 1 g RE e
m m = EAN
e $ ' * slze3
C ET 220
0} BB.Ss e~ BA o3 EX HE
: A F | NA NB Rod F7 Z(
H + Stroke S + Stroke section View E % g é
Z + 2 x Stroke 2IEN
520
52
(x
[5]
| N
Y For details of the mounting nut, refer to page 22. T D
[mm] |G| o0
gl O
Bore size A |BA |BB |CA |CB F FB |FC |FT |FX |FY |FZ [GA |H KA MM NA NB NN =
10 15 |15 12 17 14 8 |175| 55| 23 | 33 20 | 42 8 28 | 4.2 M4 x0.7 |125| 48 | M10x1.0
16 15 |18.3]183| 20 | 20 8 |19 55 || 28 | &8 20 | 42 8 28 | 5.2 M5x0.8 |125| 48 | M12x1.0 é
=
7]
Bore size = Z £
5t015st [16t030st|31to45st|461t0 60 st|61to75st| 76t0100st [101t0125st|126t0 150st| 5to 15t | 16to 30 st | 31to 45 st |46to 60 st | 61 to 75 st | 7610100t | 101 to 125 st| 126 to 150 st 2
10 48.5 56 68 80 — — — — 76.5 84 96 108 — — — — =
16 48.5 57 69 81 87 111 129 141 76.5 85 97 109 115 139 157 169 s
P
]
=
64

SvVC

O



Series CJ2K

Single Acting, Spring Extend: Head Flange (G)

cyzka 10

16~

Cover surface

Stroke | TZ

NN

GA

Piping port M5 x 0.8

Y Mounting nut

1 MM Rod end nut \ ) (DO
J | > = ‘ i B ) N/ 1 <3
@ ik S 1 S <3
L | < i
T 4
2x @ FC 0
B-
EX Mounting FT qu 03
FzZ hole A F | NA NB section
H + Stroke S + Stroke F
Z + 2 x Stroke
Y For details of the mounting nut, refer to page 22.
[mm]
Bore size B © F FB FC FT FX FY FZ | GA H KA MM NA |NB NN
10 15 17 8 175 | 55 2.3 33 20 42 8 28 4.2 M4 x 0.7 125 | 4.8 M10 x 1.0
16 183 | 20 8 19 5.5 2.3 &3 20 42 8 28 5.2 M5 x 0.8 125 | 4.8 M12 x 1.0
Bore size S £
5t015st [16t030st|31to45st [46t0 60 st|61to75st | 76t0100st [101t0125st|126t0 150st| 5to 15st | 16to 30 st| 31to 45 st | 46to 60 st| 61 to 75 st | 760 100 st | 101 to 125 st | 126 to 150 st
10 48.5 56 68 80 — — — — 84.5 92 104 116 — — — —
16 48.5 57/ 69 81 87 111 129 141 84.5 93 105 117 123 147 165 177
65

O
2



Air Cylinder: Built-in Speed Controller Type
Double Acting, Single Rod

Series CJ2Z

e
S5M)
J 10, D 16 :©
,
C b ?—5:;
<8
How to Order = I
— B0
- . )= 2
Bore size Cylinder standard stroke [mm] =
10 [ 10 mm Refer to “Standard Strokes” on page 67. ;.:é
16 |16 mm % g
=0
_ | | | | | L,
R g =N
— — — — — Tl =
QUuEleElices CDJ2Z B|16/-|60] |Z M9OBW B s
T g
With auto switch  (Built-in magnet) e
o Pivot bracket £l
Mounting e — None Made to Order 2 o
B Bgsu: N Pivot bracket is shipped together Refer to page 67 for details. £0
E | Double-side bossed with the product, but not assembled. . . . =4
D Double clevis : Auto switch Auto switch mounting type =&
L Single foot *: Only for CJ2D (double clevis) | | Without auto switch | i i &
9 #: Foot/Flange brackets =: Pivot bracket is shipped together — A Rail mountmg = EIN
M Double foot are shipped together with the product, but not assembled. | *: For applicable auto B Band mounting < N
F Rod flange with the product, but switches, refertothe | .. For rail mounting, screws | Zf& 8
G | Head flange not assembled. Rod end bracket table below. and nuts for 2 auto SE
) — None * Enter the auto switch switches come with the rail. |3 s
Head cover port location e V; Single knuckle joint mounting type (A or B) #: Refer to page 107 for auto | (g
b dicul : W Double knuckle joint even when a built-in switch mounting brackets. |2 ;
— o |- T | Rodendoap (Flatype) | ol CHEEE - e
. U | Rod end cap (Round type) quired. @ Number of auto switches |3 b 8
== = Rod end bracket is shipped together with the product, but not — 2 pcs. WE
R Axial hf a assembled. S 1 pe. (5
#: A knuckle joint pin is not provided with the single knuckle joint. n ‘n” pcs. é’ﬂﬁ
= For double clevis, double side bossed, double foot and head flange, the ; B : ) . ‘g(\l
port is located perpendicular to the cylinder axis. «: Refer to “Ordering Example of Cylinder Assembly” on page 67. =|3 8
S|3
Applicable Auto Switches /Refer to the Auto Switch Guide ~for further information on auto switches. SE
lectical 5 P Load voltage Auto switch model Lead wire length [m] IP ied g §
Type| Special function gﬁttnryca 5 (OL:?rTl?t) o G Band mounting Rail mounting 05 (1| 3|5 [None C;ﬁn‘zg& Applicable load | |5 s
2 Perpendicular| In-line | Perpendicular| In-line | (—) [(M)| (L) | (Z) |(N) gg
3-wire (NPN) 5V 12V MINV MON MINV M9ON ® /0 O —| O IC circut £0
Grommet 3-wire (PNP) ' M9PV M9P M9PV M9P ® /0 O —| O L g
S 2-wire 12V M9BV M9B M9BV M9B ® /e O|—| O . EE
% Connector — H7C J79C — e  — 06006 — & >4
£ |Diagnostic indicati 3-wire (NPN) 5V 12V MINWV| MONW [MINWV| MONW | @ (@ [@|O[—| O [ ..l o g ‘é%
2 |2 eolour ndicaton) Yes[3uire (PNP) |24 V| —  [M9PWV| M9PW |M9PWV| M9PW | @ (@ @ [O[—[ O oo | [EE
% 2-wire 12V M9BWYV | MO9BW |[M9BWV |[M9BW | @ @ | @ O |—| O — z ? O
2] Wat istant Grommet 3-wire (NPN) 5V 12V MINAV*| MONA*L IMINAV*L I MONA*| O |O | @O |—] O IC circuit 2 =
=)y "vater resisian 3-wire (PNP) ’ MIPAV*L] MOPA* [MIPAV¥L[MOPA*I| O [O|@|O|—]| O £l
3 (2-colour indicator) - " 3|3
2-wire 12V M9BAV *1| M9BA *1 IMIBAV*1|M9BA*| O |O | @|O|—| O — S e
Wi diagnosic outut (- color el 4-wire (NPN) 5V,12V — H7NF — F/I9F | @ |—| @ | O |—| O |[ICcircuit 5 gg
N o] b=
3-wire 5V | — | A%V | A9 | A%V | A% | @ o —|—| — |icomit| — | [&2°
5 Yes (NPN equivalent)| — e
E Grommet — le00v | — — A72 | AT2H (@ |—|@|—|—| — [ <
2 — | 100V |[A93V*2| A93 [A93V#*2| A93 | @ |e|/e|e@|—| — o &
3 No ) 100Vorlss) A9OV | A90 | A90V | A90 ® |—|®|—|—| — |iCcircuit| Relay, | |G| M
& 2-wire 12v =l O
? Comector | 24V — — C73C | A73C — ® | — o e e — | — |rc|l|s
& No 24Vorless| — C80C | A80C — ® —|©® ® ® — |[Ccircui &
Diagnostic indicaion (2-colour ndeator}| Grommet | Yes — — — — A79W — ® —\0|—|—| — —
=
+1: Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance. 2
Please contact SMC regarding water resistant types with the above model numbers. UE)
+2: 1 m type lead wire is only applicable to D-A93. o
*: Lead wire length symbols: 0.5 m----ceoveenneen — (Example) MONW Bmeeeieninns Z (Example) MONWZ =z
im-- -+ M (Example) MONWM None:-----weuveeee N (Example) H7CN
B Mereerrrnreneanans L (Example) MONWL g
*: Since there are other applicable auto switches than listed, refer to page 108 for details. E
*: For details about auto switches with pre-wired connector, refer to the Auto Switch Guide on www.smc.eu . -
*: Solid state auto switches marked with “O” are produced upon receipt of order. §
kS

: The D-A900/MOOIOT/ATOO/A800/F7HON7ON auto switches are shipped together, (but not assembled). (For band mounting, only auto switch mounting brackets are assembled before being shipped.)

2 SVC 66




Series CJ2Z

Specifi cations

Space-saving air cylinder with
speed controller built-in cylinder
cover

Bore size [mm] 10 16
Action Double acting, Single rod
Fluid Air
Proof pressure 1 MPa
Maximum operating pressure 0.7 MPa
Minimum operating pressure 0.06 MPa

Ambient and fl uid temperature

Without auto switch: -10 °C to 70 °C

With auto switch: -10 °C to 60 °C (No freezing)

Cushion Rubber bumper
Lubrication Not required (Non-lube)
Stroke length tolerance 10

Speed controller Built-in

Piston speed

50 to 750 mm/s

Allowable kinetic energy 0.035J 0.090J
Symbol
Double acting, Single rod, Rubber bumper Standard Strokes
E:":ﬂ I [mm]
Bore size Standard stroke Maximum manufacturable stroke
Jé }f’ }f’% 10 15, 30, 45, 60, 75, 100, 125, 150 400
16 15, 30, 45, 60, 75, 100, 125, 150, 175, 200 400

*: Manufacture of intermediate strokes in 1 mm increments is possible. (Spacers are not used.)
x: Applicable strokes should be confirmed according to the usage. For details, refer to “Air

5]
% Made to Order Cylinders Model Selection” on www.smc.eu . In addition, the products that exceed the standard
(For details, refer to pages 111 to 120.) stroke might not be able to fulfill the specifications due to the deflection etc.
Symbol Specifications . .
XA | Change of rod end shape Mountlng and AcCCessories  [referto page 22 for details about part numbers and dimensions.
-XC51 | With hose nipple @--Mounted on the product. O-:-Can be ordered within the cylinder model.
-XC85 | Grease for food processing equipment Double*X [ Double clevis
-X446 | PTFE grease ReRY D et R clevis |(including T-brackef)
2 | Mounting nut [ ) [ ) [ ] — —
P t ‘2 |Rod end nut () [ ] [ J [ J [ ]
Vi l \ recau |OnS & | Clevis pin — — — [ ] [ ]
- - Single knuckle joint @) @) @) ©) ©)
1 Refer to page 121 before handling. 1 S | Double knuckle joint*? O O @) @) @)
e e e s e e === & [Rod end cap (Flat/Round type) @) @) O O O
T-bracket — — — O ()

#1: A pin and retaining rings are shipped together with double clevis and double knuckle joint.

Ordering Example of Cylinder Assembly

, Mounting Brackets/Part No.
Cylinder model: CDJ2ZD16-60Z-NW-MIBW-B

Double clevis K
Bore size [mm]
Mounting bracket
10 16
Foot CJ-L010C CJ-L016C
Flange CJ-F010C CJ-F016C
T-bracket*! CJ-T010C CJ-T016C

x1: T-bracket is used with double clevis (D).

Pivot bracket

Auto switch Refer to pages 101 to 108 for cylinders with auto switches.

Band mounting

* Auto switch proper mounting position (detection at stroke end) and its mounting height
* Minimum stroke for auto switch mounting

« Operating range

 Auto switch mounting brackets/Part no.

Mounting D: Double clevis

Pivot bracket N: Yes

Rod end bracket W: Double knuckle joint
Auto switch D-M9BW: 2 pcs.

Auto switch mounting B: Band mounting

#: Pivot bracket, double knuckle joint and auto switch are
shipped together with the product, but not assembled.

67

O
2



Air Cylinder: Built-in Speed Controller Type
Double Acting, Single Rod

Weights
-
]
Bore size [mm] 10 16
. . Basic 36 61
Basic weight Axial piping 36 61
(When the stroke — - —
is zero) Double.clews (including clevis pin) 40 68
Head-side bossed 37 63
Additional weight per 15 mm of stroke 4 7
Single foot 8 25
Mounting bracket | Double foot 16 50
weight Rod flange 5 13
Head flange 5 13
Single knuckle joint 17 23
Double knuckle joint
. (including knuckle pin) 25 21
Accessories Rod end cap (Flat type) 1 2
Rod end cap (Round type) 1 2
T-bracket 32 50

= Mounting nut and rod end nut are included in the basic weight.

#: Mounting nut is not included in the basic weight for the double clevis.
Calculation:
Example) CJ2ZL10-45Z

@ Basic weight:------ .-+ 36 (D 10)
® Additional weight - .-+ 4/15 stroke
® Cylinder stroke «««««+evveeveens 45 stroke

® Mounting bracket weight --- 8 (Single foot)
36 +4/15x45+8 =56 g

Series CJ2Z

Standard

Double Acting, Double Rod || Double Acting, Single Rod

1(
Double Acting, Single Rod rnge Acting, Spring Return/Extend

Non-rotating Rod

CJ2

cJ2w

CJ2

CJ2K

CJ2K

1/

Single Acting, Spring Return/Extend

SN
O [ O
O
. . =
Construction (Not able to disassemble) alz
320
£0
® @ ® o
NG =|Z
X N A!!L §20
N il
Kj <A 10 FIE
oz
ol
With auto switch E-,g
£O
EE
rleX
Component Parts o5
No. Description Material Note No. Description Material Note § éﬂ
1 | Rod cover Aluminium alloy 12 | Rod end nut Rolled steel z ? O
2 | Head cover Aluminium alloy 13 | Piston seal NBR 2 =
3 | Cylinder tube Stainless steel 14 | Rod seal NBR £ %!
4 | Piston rod Stainless steel 15 | Check seal A NBR s Zé%
5 | Piston A Aluminium alloy 16 | Check seal B NBR 8 %’8
6 | Piston B Aluminium alloy 17 | Tube gasket NBR S
7 | Piston Aluminium alloy 18 | Needle seal NBR E>
8 | Bumper A Urethane 19 | Wear ring Resin 3 g
°
9 | Bumper B Urethane 20 | Check seal sleeve Aluminium alloy S o
10 | Speed controller needle Carbon steel 21 | Retaining ring Carbon tool steel gl O
11 | Mounting nut Rolled steel 22 | Magnet — E
=
S
=
7]
=]
=
<C
£
S
e
8
=

O

68




Series CJ2Z

Basic (B)

CJ2ZB %g - \Stroke HHead cover port location |Z

Y Mounting nut

Rod end nut
Piping port 2 x M5 x 0.8 GB N leyc Piping port M5 x 0.8
«
:-s@[n _ ] _@:;sl o3 * B}
1 0 5
[/ |
BS, Head cover port
NA NB location
S + Stroke Axial location (R)
Z + Stroke *; The overall cylinder
length does not change.
WA WB
Section Y detail
¥ For details of the mounting nut, refer to page 22. mmi
Bore size A B © D F |GA |GB | H MM NA |NB NDh 8 NN WA |WB |[WW | S YA
10 15 | 15 17 | 4 8 |75 |65 | 28 | M4x0.7 | 21 | 18 8.3 022 M8x1.0 |14.4|135| 45 | 63 | 91
16 15 | 183 | 20 5 8 75 | 6.5 28 M5 x 0.8 21 18 10_8_022 M10x1.0 | 144|135 | 45 64 92
Double-side Bossed (E)
cJ2ze 19 _[stroke |z
16
Rod end nut Y Y Mounting nut ©
GA Piping port 2 x M5 x 0.8 GB Yy 2
NN\ SR a Wiy,
NN =
MM ©
a S ¢
Q e i
A I iy
= = )
|/
A | |F]. NA NB B-0s
H S + Stroke F
g Z + Stroke
=2
S} . |
Q\ 7
[ - l A ]
\ I ~J/
) WA WB
Section Y detail
Section YY detail
Y For details of the mounting nut, refer to page 22. mmi
Bore size A B C D F |GA |GB | H MM NA |[NB NDh 8 NN WA |WB |[WW | S Z
10 15 |15 17 4 8 75 | 6.5 28 M4 x 0.7 21 18 8_3.022 M8x1.0 |14.4|135| 45 63 99
16 15 |183| 20 | 5 8 |75 |65 | 28 | M5x08 | 21 | 18 105y, | M10x1.0 |14.4|135| 45 | 64 | 100

69

O
2



Double Clevis (D)

Air Cylinder: Built-in Speed Controller Type
Double Acting, Single Rod

Series CJ2Z

e
19 Srote] 3
CJ2zD 16~ Stroke | Z ;O
Rod end nut @ CDH9§* =
NB Clevis pin (@ Cddo=33%) o g ;
GA  Piping port 2 x M5 x 0.8 GB 35
) a) 1 e % B2
2 Sﬁ [& 1 [ . > 2
- - T )| o9
] N ‘ 1 E
O : | [ ® 2
2N
+0.2 A NA 8*8-3 %8
CXi01 H S + Stroke Y 3
CZ3s Z + Stroke R S G
ZZ + Stroke &
s o 33
—=t—— =
c|8
43 [© | F=
ol=
WA L—»"VB £l
A ERN
g")
x: A clevis pin and retaining rings are included. ;?no
[mm] (&
Bore size A B C |[CD|CX |CZz| D |GA |GB | H MM NA [NB | R U WA WB WW |S z 7zz [ E
10 15 |15 17 | 33| 382 |15 4 75 |195| 28 M4 x 0.7 21 31 5 8 [14.4|265| 45 | 63 99 | 104 E =
16 15 (183| 20 | 5 6.5 (183| 5 75 |245| 28 M5 x 0.8 21 36 8 10 |14.4|315| 45 | 64 [102 | 110 |2 §
&
. o=
Single Foot (L) AEz
- £ § N
cJ2zL 19 _[stroke | [Head cover port location | Z 2ES
16 2x@LC 20
Mounting hole L
S L £
Rod end nut ! -~ £
% Mounting nut El=0O
o MM NN -84 Pipi SE
iping port 2 x M5 x 0.8 GB Cover surface =
(@] g B
[a) £l
; d QL\ ﬁl s \ a gg
=3 % 1 ‘ —_— > (@) > 3
2 X kﬂ I ‘ \C/ AN £0
B.5s T ' FE
o LX & X
2 Lz SES
X | LY| NA NB g %Q
H S + Stroke £|2 O
o
Z + Stroke Piping port M5 x 0.8 f z
sl2 é
ol
D ) =S
o=
‘ | ; -] /L
u ) s | E
Head cover port location = g
<> Axial location (R) G| o
WA WB *: The overall cylinder length = O
does not change. E
=
2
Y For details of the mounting nut, refer to page 22. =
[mm] 2
Boresize |A|B |C |[D |F |GA|IGB|H |LB LC ILH LT IX LY LZ |[MM NANB |NN WAWB WW|S | X |Y | Z ?
10 15|15 (17| 4 | 8 |75|65|28 |15|45| 9|16 24 |165|32|M4x0.7|21 |18 |M8x1.0|144|135|/45|63 | 5 | 7 |91 =
16 15 (18320 | 5 | 8 |75|6.5|28 |23 |55|14 23|33 |25 |42 |M5x08 |21 |18 |MI0x1.0|144(135|45 |64 | 6 | 9 | 92 g
P
8
=
70




Series CJ2Z

Double Foot (M)

10
CJ2ZM 16~ Stroke | Z 4x@LC
i Mounting hole
Rod end nut ¥ Mounting nut ! Y
Y Mounting nut W ________ |_\‘j
NN —
o F GA GBF t
N A Piping port 2 x M5 x 0.8 NN Cover surface
O MM
9 ﬂ\ﬁl £
X Ghe| B el
=3l B s /I - - - - : @3 | >
m
: o= ﬂ I | H KJ E 4| -
. o
B-os = = LX
X | LY | NA NB | Y| [ X Lz
H S + Stroke
LS + Stroke
Z + Stroke
WA WB
Y For details of the mounting nut, refer to page 22. mm
Boresize |A|B |C |D |F [GAIGB|H |[LB LC |[H LS LT LX LY LZ |MM A NB | NN A WB S|X|Y|Z
10 15|15 |17 | 4 | 8 |75|65|28|15(45| 9|77 (16|24 16532 |M4x0.7|21 |18 |IM8x1.0|144|135{45|63 | 5 | 7 |103
16 15(183| 20| 5 | 8 |75|6.5|28 |23 [55|14 |82 (23|33 (25 |42 |M5x0.8|21 |18 |MI0x10(144|135/45|64| 6 | 9 |107
Rod Flange (F)
-
CJ2ZF %g - ‘Stroke HHead cover port location |Z
Y Mounting nut
Rod end nut 2@ EC
Mounting hole
gél/Piping port 2 x M5 x 0.8 GB Cover surface Piping port M5 x 0.8
Tie ]
— — ] o =
[
! il | K/
o | B2, FT Head cover port location
A F [ NA NB FX Axial location (R)
H S + Stroke #: The overall cylinder length
Z + Stroke FZ does not change.
WA WB
Y For details of the mounting nut, refer to page 22. mmi
Bore size A|B |C |D|F |FB|FC|FT |FX |FY |FZ |GA |GB |H MM NA |NB NN A WB S |Z
10 15 |15 |17 | 4 8 |13 |45|16|24 |14 |32 |75|65| 28 | M4x0.7| 21 | 18 | M8x1.0 [144(135| 45 | 63 | 91
16 15 |183| 20 | 5 8 [ 19 [55(23 (33|20 |42 |75|65| 28 | M5x0.8| 21 | 18 |M10x1.0(14.4(135( 45 | 64 | 92
71

O
2



Head Flange (G)

Air Cylinder: Built-in Speed Controller Type
Double Acting, Single Rod

Series CJ2Z

CJ2zG

10 _
16

Suoke]2

Rod end nut

Cover surface

MM

=\

FB
FY

Piping port 2 x M5 x 0.8

.

NA

2x@ FC

S + Stroke

Y& Mounting nut

NN

Mounting hole

Z + Stroke

¥ For details of the mounting nut, refer to page 22.

5

WA

%,_

i

WB

CJ2

cJ2w

Standard

Double Acting, Double Rod || Double Acting, Single Rod

i
CJ2

Double Acting, Single Rod rnge Acting, Spring Return/Extend

CJ2K

Non-rotating Rod

Single Acting, Spring Return/Extend

CJ2K

1/

4

[mm]

Bore size

A

B|C|D|F

FB

FC

FT [FX

FY |FZ |GA |GB

MM

NA

NB

NN

WA

WB

10

15

15 |17 | 4 8

13

4.5

16| 24

14 | 32 | 75|65

28

M4 x 0.7

21

18

M8 x 1.0

14.4

13.5

45

63

CJ

99

Double Acting, Single Rod

16

15

183| 20 | 5 8

19

5.5

23| 33

20 | 42 | 75| 6.5

28

M5 x 0.8

21

18

M10 x 1.0

14.4

13.5

45

64

100

O
2

Built-in Speed Controller
Double Acting, Double Rod
CJ2ZW

U

CJ2R

Double Acting, Single Rod

Direct Mount

Single Acting, Spring Retum/Extend
CJ2R

Double Acting, Single Rod
CJ2RK

Single Acting, Spring Retum/Exend

CBJ2

(With End Lock |[ Direct Mount, Non-rotating Rod |[
| CJ2RK

Auto Switch

Made to Order

72



Air Cylinder: Built-in Speed Controller Type
Double Acting, Double Rod

Series CJ2ZW

@ 10, D 16

How to Order

B ciozw(B 16]-[60] 2~

WinEmneEo i CDJ2ZW |L |16|-[60|Z-|MO9BW | |[-|B|-

1
With auto switch  (Built-in magnet)
. o Made to Order
Mou.ntmg Refer to page 74 for details.
B Basic
L Foot .
F Flange ) Auto SWItCh
#: Foot/Flange brackets are Bore size ¢ mountln_g type_
shipped together with the 10 [10 mm A | Rail mounting
product, but not assembled. 16 | 16 mm B | Band mounting
#: For rail mounting, screws and
Cylinder standard stroke [mm] nuts for 2 auto switches come
Refer to “Standard Strokes” on page 74. with the rail.
«: Refer to page 107 for auto
Auto switch e switch mounting brackets.
| — | without auto switch |
#: For applicable auto switches, o Number of auto switches
refer to the table below. — 2 pes.
* Enter the auto switch S 1 pc.
mounting type (A or B) even n “n" pcs.
when a built-in magnet
cylinder without an auto
switch is required.
Applicable Auto Switches /Refer to the Auto Switch Guide for further information on auto switches.
'  |etectical f o Load voltage Au_to switch merI : Lead wire length [m] | AvleEbi
Type| Special function enty | £ (Output) DC AC Band mounting Rail mounting 05(1|3]|5 |None R -~
= Perpendicular| In-line |Perpendicular] In-line | (—) |(M)| (L) |(2) [(N)
3-wire (NPN) 5V12V MINV M9N MINV M9N ® /0 O|—| O IC dircuit
Grommet| | 3-wire (PNP) ' MIPV M9P MIPV M9P ® /0 O|—| O
S T . M9BV M9B M9BV M9B ® @0 O0|—| O
= 2-wire 12V —
2 Connector — H7C J79C — o —| o066 —
9 o 3-wire (NPN) MONWV | MONW | MONWV | MONW | @ (@ | @ O|—| O o
3 Df‘g“‘l’s"c.”‘d‘?'ci‘“"” Yeszre )24 v|° 2V~ [MoPWV | M9PW | MSPWV | MoPW | @ [@ [@[O|—| O | o|Reay
g | (2-eolour indicater) 2-wire 12V M9BWV | M9BW |M9BWV | M9BW | @ (@ (@ [O|—| O | —
z Water resistant Grommet| | 3-wire (NPN) 5V12V MINAV*1| MONA*! IMONAV# MONA*L | O |O | @ | O |—| O IC circuit
= (2-colour indicator) 3-wire (PNP) ' M9PAV*1| MOPA*! IMIPAV*| MOPA*L | O |O | @ |O|—| O
2 2-wire 12V M9BAV *1| MOBA*1 IMO9BAV*| MOBA*1 | O |O | @ |O|—| O —
Withdagnostic output (<ol nicator) 4-wire (NPN) 5V,12V — H7NF — F79F ® —(® O|—| O |lCcircu
3-wire -
< » (VPN equiaen)| — 5V — A96V A96 A96V A96 ® | — | ®|—|—| — |Ccircutf —
‘g Grommet — 200 V — — AT72 AT72H ® —|0|—|—| — .
° — . 100V | A93V*?2 A93 A93V *2 A93 ® o666 | —
3 INo| 2-wire 1oy [100Vor less| A90V A90 A90V A90 ® |—|®|—|—| — |Ccici Relay,
3 Yes 24V, — — C73C | A73C — o — o000 — — | PLC
& Connector|No 24V or less — C80C A80C — ® —|©® ® ® — |Ccicui
Diagnostcindicaton (2colourindicator)| Grommeet [Yes — — — — A79W = ® —\0 | —|—| — —

*1: Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Please contact SMC regarding water resistant types with the above model numbers.
#2: 1 m type lead wire is only applicable to D-A93.

x: Lead wire length symbols: 0.5 m--------eevvnee — (Example) MONW

1m-.- - M (Example) MONWM
3m:---- --L  (Example) MONWL

=3 11 EEREEIPER PRI Z (Example) MONWZ
None:---------eune N (Example) H7CN

: Since there are other applicable auto switches than listed, refer to page 108 for details.

: For details about auto switches with pre-wired connector, refer to the Auto Switch Guide on www.smc.eu .

: Solid state auto switches marked with “O” are produced upon receipt of order.

: The D-A900/MIOIOT/ATOO/A800/F7HON70O auto switches are shipped together, (but not assembled). (For band mounting, only auto switch mounting brackets are assembled before being shipped.)

3 Z;S\VC



Air Cylinder: Built-in Speed Controller Type
Double Acting, Double Rod

Specifi cations

Series CJ2ZW

Space-saving air cylinder with
speed controller built-in cylinder
cover

Symbol
Double acting, Double rod, Rubber bumper

——1 I

2 6

%
E

Made to Order
(For details, refer to pages 111 and 120.)

Double Acting, Single Rod
CJ2

Bore size [mm] 10 16
Action Double acting, Double rod
Fluid Air 2
BlE=
Proof pressure 1 MPa 8|8 X
Maximum operating pressure 0.7 MPa (‘;5 g 8
Minimum operating pressure 0.1 MPa E
. . Without auto switch: -10 °C to 70 °C . §
Ambient and fl uid temperature With auto switch: -10 °GC to 60 °C (No freezing) % ~
£
Cushion Rubber bumper =0
Lubrication Not required (Non-lube) ;éj
Stroke length tolerance 30 E
Speed controller Built-in Efﬁ
A o| 2
Piston speed 50 to 750 mm/s ez 8
Allowable kinetic energy 0.035J 0.090J EE
5]
o|%
5|2 X
z|lz
Standard Strokes 23
mm] | |2
Bore size Standard stroke WE
10 15, 30, 45, 60, 75, 100, 125, 150 % EN
16 15, 30, 45, 60, 75, 100, 125, 150, 175, 200 223
: - : - : - ols
= Manufacture of intermediate strokes in 1 mm increments is possible. (Spacers are not used.) E 8
#: Please consult with SMC for strokes which exceed the standard stroke length.
+: Applicable strokes should be confirmed according to the usage. For details, refer to “Air ‘g
Cylinders Model Selection” on www.smc.eu . In addition, the products that exceed the standard |<
stroke might not be able to fulfill the specifications due to the deflection etc. @

Mounting and Accessories  freferto page 22 for details about part numbers and dimensions.

Symbol
-XAO

-XC51
-XC85
-X446

Specifications

Change of rod end shape

With hose nipple

Grease for food processing equipment

PTFE grease

A\ Precautions

1 Refer to page 121 before handling. |

@:---Mounted on the product. O---Please order separately.

Mounting Basic Foot Flange
Mounting nut [ J [ J [
Standard
Rod end nut [ J [ J [
) Single knuckle joint O O O
Option
Double knuckle joint** @) @) @)
«1: A knuckle pin and retaining rings are shipped together with double knuckle joint.
Mounting Brackets/Part No.
-
. Bore size [mm]
Mounting bracket
g 10 16
Foot CJ-L010C CJ-L016C
Flange CJ-F010C CJ-F016C

Refer to pages 101 to 108 for cylinders with auto switches.

* Auto switch proper mounting position (detection at stroke end) and its mounting height
» Minimum stroke for auto switch mounting

» Operating range

 Auto switch mounting brackets/Part no.

74

O
2

1f
Double Acting, Single Rod | IRy ROLITARG|

Direct Mount

Single Acting, Spring Retum/Extend
CJ2R

(With End Lock |[ Direct Mount, Non-rotating Rod |[

CJ2R

Double Acting, Single Rod
CJ2RK

Single Acting, Spring Retum/Exend

| CJ2RK

CBJ2

Auto Switch

Made to Order




Series CJ2ZW

Weights
-
€]
Bore size [mm] 10 16
Basic weight .
(When the strtie is zero) Basic 36 61
Additional weight per 15 mm of stroke 4.5 7.5
Mounting bracket | Double foot 16 50
weight Head flange 5 13
Single knuckle joint 17 23
l?ouble_ knuckle joint_ o5 21
Accessories (including knuckle pin)

Rod end cap (Flat type) 1 2
Rod end cap (Round type) 1 2

#. Mounting nut and rod end nut are included in the basic weight.

Calculation:

Example) CJ2ZWL10-45Z

® Basic We|ght ..................... 36 (Q 10)
® Additional weight - ---
® Cylinder stroke:-:---

--4.5/15 stroke
---45 stroke

® Mounting bracket weight:--16 (Double foot)

36 +4.5/15x45+16=65.59

Construction (Not able to disassemble)

L

A/

Component Parts

b\

With auto switch

No. Description Material Note No Description Material Note
1 | Rod cover Aluminium alloy 9 | Mounting nut Rolled steel
2 | Cylinder tube Stainless steel 10 | Rod end nut Rolled steel
3 | Piston rod Stainless steel 11 | Piston seal NBR
4 | Piston A Aluminium alloy 12 | Rod seal NBR
5 | Piston B Aluminium alloy 13 | Check seal NBR
6 | Piston Aluminium alloy 14 | Tube gasket NBR
7 | Bumper Urethane 15 | Needle seal NBR
8 | Speed controller needle Carbon steel 16 | Magnet —_

75

O
2



Air Cylinder: Built-in Speed Controller Type ]
Double Acting, Double Rod  Series CJ ZZW

Basic (B)

CJ2

CJ2zWB 19 - z

cJ2w

Standard

Double Acting, Double Rod || Double Acting, Single Rod

WA WA

nd

Y 5 Mounting nut
Rod end nut NN cA Piping port 2 x M5 x 0.8 GA NN MM I/qu/e

Section Y detail MM H /

CJ2

.
.
0
B—0.3

CJ2K

H @D
@D
0¢>
lll
Double Acting, Single Rod [

0
B—O.3

H S + Stroke H + Stroke
Z + 2 x Stroke

Non-rotating Rod

Single Acting, Spring Return/Extend
CJ2K

i

¥ For details of the mounting nut, refer to page 22. ) |5 %’N
Bore size A B © D F GA H MM NA NDh 8 NN WA | WW 5 VA g g'—)
10 15 15 17 4 8 7.5 28 M4 x 0.7 21 8.3 022 M8 x 1.0 144 | 45 66 122 (8 § O
16 15 183 | 20 5 8 7.5 28 M5 x 0.8 21 108 M10 x 1.0 144 | 45 67 123 -9'3
£
% =
] @
Foot (L) - =
10 o
CJ2ZWL 16~ Stroke | Z A
4xQDLC W =
Mounting hole § 2 O
EN ==
I ¥
% Mountingnut o B — ol
\N\N° Rod end nut -G8 Piping port 2 x M5 x 0.8 GAF NN MM Cover surface Q
mm \ NN A 7 | @)
. o X[ -
: \ Q i K Q —
o3 ymuy allf = 2= I ¥ ﬁ > -8§¥
o b s iNl} - - - z - o ¥ Yan) o §
o5 =2 i o= 555
» B-8s - HEL®]
— LX s&
A LZ 2|8
X Y NA NA Y [X A 3iy
H S + Stroke H + Stroke § g
Z + 2 x Stroke L2120
ClE___
=
[5]
] BN
g o
[}
i ~ . - E— L sl O
B
S
WA WA =
7]
e
=
Y For details of the mounting nut, refer to page 22. mmi <
v}
Bore size A|B|C|D|F |GA|H |LB |[LC [LH |LT X LY |LZ NN NA NN WAWW S X Y |Z 8
10 15|15 | 17| 4 | 8 |75|28 |15 |45| 9 16| 24 |165| 32 | M4x0.7 | 21 | M8x1.0 |14.4| 45 | 66 | 5 7 122 S
16 15 |18.3| 20 | 5 8 75|28 |23 (55|14 23|33 |25 |42 | M5x0.8| 21 |M10x1.0|14.4| 45 | 67 | 6 9 |123 =

% S\VC 76



Series CJ2ZW

Flange (F)

CI2ZWF 12 - z

2x@ FC
Mounting hole

Y Mounting nut

o Rod end nut GA . . GA Cover surface
\N\N MM NN Piping port 2 x M5 x 0.8 NN
a\\ | / o MM \
R Qo] i T S </
°$ <{ - YT A _ B B T - 2 7 ol >
0 =W = ) b
o s L
0} B-0a FT
A F NA NA F A FX
H S + Stroke H + Stroke ‘ FZ
Z + 2 x Stroke
WA WA
Y For details of the mounting nut, refer to page 22. mmi
Bore size A B © D F |FB |[FC |FT |FX |FY |FZ |GA | H MM NA NN WA S Z
10 15 |15 17 4 8 13 (45|16 | 24 | 14 | 32 | 75| 28 | M4x0.7 | 21 | M8x1.0 |14.4| 45 | 66 | 122
16 15 |[18.3| 20 5] 8 19 | 55|23 | 33 | 20 | 42 | 75| 28 | M5x0.8 | 21 | M10x1.0 |14.4| 45 | 67 | 123

O
2

77



Air Cylinder: Direct Mount Type
Double Acting, Single Rod

Series
@ 10, D 16

CJ2Z2R

How to Order

] CI2RA

With auto switch

With auto switch T

(Built-in magnet)

Cylinder standard stroke [mm]

Refer to “Standard Strokes” on page 79.

16

60| [Z-

CDJ2RA|[16

60| |[Z-

M9BW

B

Mounting
| A | Bottom mounting ‘

Bore size ®
10
16

10 mm

16 mm

Head cover port location
L
™.

Perpendicular
to axis

Axial

— |
Auto switch
| Without auto switch |

x: For applicable auto switches,
refer to the table below.

* Enter the auto switch mounting type (A or
B) even when a built-in magnet cylinder
without an auto switch is required.

e®Rod end bracket
None
Single knuckle joint
Double knuckle joint
Rod end cap (Flat type)
Rod end cap (Round type)
: Rod end bracket is shipped together
with the product, but not assembled.

: A knuckle joint pin is not provided with
the single knuckle joint.

clH|=|<] |

o

|

Made to Order 1

Refer to page 79 for details.

Auto switch mounting type

A

Rail mounting

B

Band mounting

#: For rail mounting, screws and
nuts for 2 auto switches come
with the rail.

=: Refer to page 107 for auto
switch mounting brackets.

e Number of auto switches

— 2 pcs.
S 1 pc.
n “n” pcs.

x: Refer to “Ordering Example of Cylinder Assembly” on page 79.

Applicable Auto Switches /Refer to the Auto Switch Guide for further information on auto switches.
1B - Load voltage Auto switch model Lead wire length [m] ) Applicabl
Type| Special function ElZEE”r;al = (gﬁ:'nl?t) DC AC Band mounting Rail mounting 05| 1|3 |5 [None :;ﬁnvgggjr p? 'CZ €
E P Perpendicular| In-line  |Perpendicular| In-line | (—) [(M)| (L) | (Z) [(N) ]
3-wire (NPN) 5V 12V MONV MON MONV MON ® 00 O — O (C circuit
Grommet| | 3-wire (PNP) ' M9PV M9P M9PV M9P ® 60 O/ —| O
S T . MOBV | MOB | M9BV | MOB |e |e|@|O|—| O
P 2-wire 12V —
2 Connector — H7C J79C — o — 0|06 —
(=R N 3-wire (NPN) V12V MONWV | MONW | MONWV | MONW | @ (@ | @ | O | — O IC circuit| Rel
E D(?%’;fss'fl:]’:j‘f'cftg‘r’)” Yes[zuire (PNP)| 24 v [ —  [moPwv | MoPW [MOPWV | MOPW | @ (@ |@|O|—| O Rely:
% 2-wire 12V MO9BWYV | MO9BW |M9BWV | M9BW ® 00 O — O —
z Water resistant Grommet| |3-wire (NPN) 5V 12V MINAV*1| MONA*L IMONAV*| MONA*1 | O |O | @ |O|—| O IC circuit
= (2-colour indicator) 3-wire (PNP) ' MOPAV*1| MOPA*! IMIPAV*1| MOPA*1 | O O | @ | O |— O
2 2-wire 12V M9BAV *1| MOBA*1 |[MO9BAV*| MO9BA*L | O |O | @ | O | — O —
With diagnostic output (2-colour indicato) 4-wire (NPN) 5V,12V — H7NF — F79F ® —|® O|—| O |lCcircui
3-wire oo
< » Peqiaen)| — 5V — A96V A96 A96V A96 ® |—|®|—|—| — [Ccircut| —
s Grommet — 200 V — — AT2 A72H | @ |—|@®@|—|—| —
2 — L 100V [ A93V*2 | A93 [A93V*¥?| A3 (e (e |e|e|—| — |
§ No 2-wire 12V 100 Vorless| A90V A90 A90V A90 ® —|(®|—|— | — |Ccircut| Relay,
3 N 24V — — C73C | A73C — e — 000 — | — PC
& No 24V or less — C80C AB80C — ®  — | ®©/® @® | — |Ccircui
Diagnosticindcaton (2-colour indcator)| Grommet | Yess — — — — A79W — ® —\ 0| —|—| — —

+1: Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Please contact SMC regarding water resistant types with the above model numbers.
#2: 1 m type lead wire is only applicable to D-A93.

*: Lead wire length symbols: 0.5 m-----ccoeveeenens — (Example) MONW
im:-- -+ M (Example) MONWM
3m-- --.L  (Example) MONWL
Smeeeeees ---Z (Example) MONWZ

x: Since there are other applicable auto switches than listed, refer to page 108 for

details.

«: For details about auto switches with pre-wired connector, rrefer to the Auto

Switch Guide on www.smc.eu .

*: Solid state auto switches marked with “O” are produced upon receipt of order.
#: The D-A900/MIOO/A7OO/A800/F700A 700 auto switches are shipped together, (but not assembled). (For band mounting, only auto switch mounting brackets are assembled before being shipped.)

~
Z

SvVC

78

Standard

Double Acting, Double Rod || Double Acting, Single Rod

Non-rotating Rod 1f
Single Acting, Spring Return/Extend | | Double Acting, Single Rod rngeAclngSpngelum/Exlend

l

Built-in Speed Controller
Double Acting, Double Rod

i

-
c
=]
<]

=

=
©
9]
=
[a)

L
=
el
=}
@
[o)
£
T
g
o
2
c
o
pd
Z
c
=
(=)
s
=
[5)
(9]
=
a
2
=
x
Q
o
i}
°
=
w
ey
=
=

CJ2

cJ2w

CJ2

CJ2K

CJ2K

CJ2z

Double Acting, Single Rod

CJ2zW

o
AN
—
)

=
S
<
@
>
=
@
>
£
j=1
<
@
=
=
3
a

CJ2R

Single Acting, Spring Return/Extend

CJ2RK

=
3
x
@
>
=
[}
(=2
=
k=1
<
-
=
=
3
=]

Single Acting, Spring Retum/Exend

| CJ2RK

CBJ2

Auto Switch

Made to Order




Series CJ2R

Specifi cations

The CJ2R direct mount cylinder

can be installed directly through

the use of a square rod cover.

Symbol
Double acting, Single rod, Rubber bumper

—— |

\ \

IH':HH'
et | Made to Order
(For details, refer to pages 111 to 120.)

Symbol Specifications

-XA[ | Change of rod end shape

-XC9 | Adjustable stroke cylinder/Adjustable retraction type
-XC22 | Fluororubber seal

-XC51 | With hose nipple

-XC85 | Grease for food processing equipment
-X446 | PTFE grease

A\ Precautions

1 Refer to page 121 before handling. |

Ordering Example of Cylinder Assembly

Cylinder model: CDJ2RA16-60Z-W-M9BW-B

Double knuckle joint

Auto switch
Band mounting

Mounting A: Bottom mounting

Rod end bracket W: Double knuckle joint
Auto switch D-M9BW: 2 pcs.

Auto switch mounting B: Band mounting

«; Double knuckle joint and auto switch are shipped
together with the product, but not assembled.

79

Bore size [mm] 10 16
Action Double acting, Single rod
Fluid Air
Proof pressure 1 MPa
Maximum operating pressure 0.7 MPa
Minimum operating pressure 0.06 MPa

Without auto switch: -10 °C to 70 °C

Ambient and fl uid temperature With auto switch: -10 °C to 60 °C (No freezing)
Cushion Rubber bumper
Lubrication Not required (Non-lube)
Stroke length tolerance 50
Piston speed 50 to 750 mm/s
Allowable kinetic energy 0.035J [ 0.090J
Standard Strokes
[mm]
Bore size Standard stroke Maximum manufacturable stroke
10 15, 30, 45, 60, 75, 100, 125, 150 400
16 15, 30, 45, 60, 75, 100, 125, 150, 175, 200 400

*: Manufacture of intermediate strokes in 1 mm increments is possible. (Spacers are not used.)

«: Applicable strokes should be confirmed according to the usage. For details, refer to “Air
Cylinders Model Selection” on www.smc.eu . In addition, the products that exceed the standard
stroke might not be able to fulfill the specifications due to the deflection etc.

ACCESSOries /referto page 22 for details about part numbers and dimensions.

Standard
Option*2

Rod end nut

Single knuckle joint, Double knuckle joint*!, Rod end cap (Flat/Round type)

#1: A knuckle pin and retaining rings are shipped together with double knuckle joint.
x2: Can be ordered within the cylinder model.

Weights
-
[g]

Bore size [mm] 10 16

Basic weight Basic 36 61
(When the stroke is zero) | Axial piping 36 61
Additional weight per 15 mm of stroke 4 7
Single knuckle joint 17 23

Double knuckle joint

Accessories (including knuckle pin) 25 21
Rod end cap (Flat type) 1 2
Rod end cap (Round type) 1 2
#: Mounting nut and rod end nut are included in the basic weight.
Calculation:
Example) CJ2RA10-45Z
®Basic weight -+ 36 (@ 10)
e Additional weight ---- 4/15 stroke
eCylinder stroke:-:----- 45 stroke

36 +4/15x45=48¢

Refer to pages 101 to 108 for cylinders with auto switches.

* Auto switch proper mounting position (detection at stroke end) and its mounting height
* Minimum stroke for auto switch mounting

» Operating range

 Auto switch mounting brackets/Part no.

SvVC

O




Air Cylinder: Direct Mount Type )
Double Acting, Single Rod  Series C-J 2 R

Clean Series g
5N
Elw)
10 - 20
10-CJ2RA 75— ‘Stroke HHead cover port location | Z =
Clean Series e g;
gleN
™ . 8|z,
Specifi cations alg O
Air cylinder which is applicable for.the system which Action Double acting, Single rod S
discharges leakage from the rod section directly into the ; =
. - . Bore size [mm] 10, 16
outside of clean room by relief port and making an : _ ~
actuator’s rod section having a double seal construction. Maximum operating pressure 0.7 MPa 3
Minimum operating pressure 0.08 MPa
Cushion Rubber bumper ) a—
Standard stroke [mm] Same as standard type. (Refer to page 79.) ix
For the detailed specifications, refer to the catalogue on www.smc.eu . Auto switch Mountable (Band mounting) = ‘;g
Mounting Bottom mounting 20
oS
c|8
g
o
<
o
P4

CJ2K

S

i

Construction (Not able to disassemble)

Double Acting, Single Rod
CJ2z

Built-in Speed Controller

Double Acting, Double Rod
CJ2ZW

U

Il Double Acting, Single Rod

Direct Mount

CJ2R

CJ2RK

&
=
3
x
@
>
=
[}
(=2
=
k=1
<
-
=
=
3
=]

[Extend

CJ2RK

CBJ2

L
=
el
=}
@
[o)
£
T
g
o
2
c
o
pd
Z
c
=
(=)
s
=
[5)
(9]
=
a
2
=
x
Q
o
i}
°
=
w
ey
=
=

Auto Switch

Made to Order

80

O
2



Series CJ2R

Construction (Not able to disassemble)

Component Parts

?10718
\

i !

g

With auto switch

No. Description Material Note No. Description Material Note

1 | Rod cover Aluminium alloy 8 | Bumper Urethane

2 | Head cover Aluminium alloy 9 | Rod seal NBR

3 | Cylinder tube Stainless steel 10 | Piston seal NBR

4 | Piston rod Stainless steel 11 | Tube gasket NBR

5 | Piston A Aluminium alloy 12 | Wear ring Resin

6 | Piston B Aluminium alloy 13 | Rod end nut Rolled steel

7 | Piston Aluminium alloy 14 | Magnet —_
Bottom Mounting
CJ2RA %g - ‘Stroke HHead cover port location |Z

GA
Y
Rod end nut X Piping port 2 x M5 x 0.8 GB 2x@ LD
(DO MM A Piping port

o] NSy
ocl:' _ x Vs . - . - 1 —
) 5 @ N

T .
o Head cover port location
B-os A NA INB] Axial location (R)
Head cover shape H S + Stroke #: The overall cylinder length
Z + Stroke does not change.
[mm]
Bore size] A B © D |GA |[GB | H L |[LB LD LH [LX NA NB [X Y S Z
10 15 |12 14 4 16 5 20 | 23 | 16 |@35though @65counterbore depth4| 8 | 12 | M4x 0.7 [ 20.5| 9.5 | 28 8 54 74
16 15 |18.3| 20 5 16 5) 20 | 26 | 20 | @45through, @8 counterboredepth5 | 10 | 16 | M5x 0.8 | 20.5 | 9.5 | 28 8 55 75

81

N



Air Cylinder: Direct Mount Type
Single Acting, Spring Return/Extend

Series CJ2R

010, D 16
How to Order e

. ) o
Cylinder standard stroke [mm] Action whd
Refer to “Standard Strokes” on page 83. S |single acting, Spring return

T |[Single acting, Spring extend

] C32RA8-@SISI1z-[ I-

| [
LuEtRlicl CDJ2RA [16-145|1S]| | Z-| |~IM9BW| |-B|-

T I 1_1
i i Auto switch
Wi élf;i[ltc{i:v;ggret) | — | Without auto switch | Made to Order
Refer to page 83 for details.
. #: For applicable auto switches,
Mountlng refer to the table below. Auto switch
| A | Bottom mounting | * Enter the auto switch mounting type (A or mounting type
. B) even when a built-in magnet cylinder - -
Bore size ® without an auto switch is required. A | Rail mounting
10 | 10 mm ® Rod end bracket B_|Band mounting
16 [16 mm _ None #: For rail mounting, screws and nuts
V] Single knuckle joint for 2 auto switches come with the rail.
Head cover port location — *: Refer to page 107 for auto
W Double knuckle joint switch mounting brackets.
Perpendicular % _ T Rod end cap (Flat type)
- to axis i U_ | Rod end cap (Round type) ® Number of auto switches
- x: Rod end bracket is shipped together — 2 pcs.
. - with the product, but not assembled. 1pc
R Axial h‘- = 1 A knuckle joint pin is not provided pe.
with the single knuckle joint. n “n” pcs.

=: Not applicable to single

acting, spring extend (T). +: Refer to “Ordering Example of Cylinder Assembly” on page 83.

Applicable Auto Switches /Refer to the Auto Switch Guide ~for further information on auto switches.
=] - Load voltage Auto switch model Lead wire length [m] ) .
Type| Special function Elztr:]ttrrlcal g ((\gvl::ml?t) DC AC Band mounting Rail mounting 05| 1|3 |5 |None :;ﬁnvggg)dr Ap;lagggble
i 2 P Perpendicular| In-line |Perpendicular] In-line | (—) [(M)| (L) | (2)|(N)
3-wire (NPN) 5V12V MINV M9N MINV M9N ®  0/0 O|— O IC circuit
Grommet| | 3-wire (PNP) ' MIPV M9P M9PV M9P ® /0 O|—| O
S . M9BV M9B M9BV M9B ® /0 O — O
= 2-wire 12V —
H Connector — H7C J79C — o —| o066 —
2 | piagnostic indication 3-wire (NPN) 5V12V MONWV | MONW |[MONWV | MONW | @ @ | @ | O |— ©) Ic cireit| Rel
3 (2-?:olour dicaton) Yes|3uire (PNP) |24 V| —  |[M9PWV | MOPW [M9PWV | M9PW | @ (@ [@[O|—| O Relay.
% 2-wire 12V M9BWV | M9BW |[M9BWV | M9BW | @ @ | @ | O |— O —
@ Water resistant Grommet 3-wire (NPN) 5V12V MINAV*#1| MONA*L IMINAV# MONA*L | O |O | @ | O |— ©) (C circuit
% (2-colour indicator) 3-wire (PNP) ' MIPAV*1| MOPA*! IMOPAV*| MOPA*t | O O | @ | O |— O
1z 2-wire 12V MIBAV *1| MO9BA*1 IMOBAV*1| MOBA*1 | O |O | @ | O |— O —
With diagnostc output (2-colou indiator) 4-wire (NPN) 5V,12V — H7NF — F79F ®  — 0 0|— O |ICcircuit
Swre 5V | — | A%V | A% | A%V | A% | ® |—| @|—|—| — |comi —
< Ves (NPN equivalent) | —
= Grommet — 200 V — — AT72 A2H | @ |—|@®|—|—| — |
g —_— | 100V | A93V*#2 A93 AQ3V *2 A93 o o666 | —
E No 2-wire 12V 100 Vor less| A90V A90 A90V A90 ® |—|®|—|—| — [Cciru Re|aCy,
bS] Comecior /€S 24V — — C73C | A73C = e —eo/®0/® — | — |PU
& No 24V or less — C80C A80C — ® —|©® ® ® — |Ccicui
Diagnostc indicaton (2-colourindicator)| Grommeet |Yes — — — — A79W — ® —\ 0| —|—| — —
x1: Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Please contact SMC regarding water resistant types with the above model numbers.
*2: 1 m type lead wire is only applicable to D-A93.
x: Lead wire length symbols: 0.5 m------vevveennes — (Example) MONW *: Since there are other applicable auto switches than listed, refer to page 108 for
im--- - M (Example) MONWM details.
L (Example) MONWL «: For details about auto switches with pre-wired connector, refer to the Auto Switch
~+Z (Example) MONWZ Guide on www.smc.eu .

N (Example) H7CN

#: Solid state auto switches marked with “O” are produced upon receipt of order.
#: The D-A900/MOOO/A7OO/A80L/F700/I700 auto switches are shipped together, (but not assembled). (For band mounting, only auto switch mounting brackets are assembled before being shipped.)

2 SVC 82

Standard

Double Acting, Double Rod || Double Acting, Single Rod

Non-rotating Rod 1f
Single Acting, Spring Return/Extend | | Double Acting, Single Rod rngeAclngSpngelum/Exlend

l

Built-in Speed Controller
Double Acting, Double Rod

i

CJ2

cJ2w

CJ2

CJ2K

Double Acting, Single Rod
CJ2z

CJ2zW

CJ2R

Double Acting, Single Rod

Direct Mount

(With End Lock |[ Direct Mount, Non-rotating Rod |[

CJ2RK

i)
&
&
=2
@
=
S
==
@
=
=
]
=
=
=
<
@
=
S
3
o

Single Acting, Spring Retum/Exend

| CJ2RK

CBJ2

Auto Switch

Made to Order




Series CJ2R

Specifi cations

The CJ2R direct mount cylinder

can be installed directly through
the use of a square rod cover.

Bore size [mm] 10 16
Action Single acting, Spring return/Single acting, Spring extend
Fluid Air
Proof pressure 1 MPa
Maximum operating pressure 0.7 MPa
Minimum operating pressure 0.15 MPa

Without auto switch: -10 °C to 70 °C

Ambient and fl uid temperature With auto switch: -10 °C to 60 °C

(No freezing)

Cushion Rubber bumper

Lubrication Not required (Non-lube)

+1.0
0

Stroke length tolerance

Piston speed 50 to 750 mm/s

0.035J 0.090J

Allowable kinetic energy

Standard Strokes

=y

Symbol

Single acting, Spring return,  Single acting, Spring extend,
Rubber bumper Rubber bumper

wade 19

ceder | Made to Order
(For details, refer to pages 111 to 120.)

Symbol Specifications

-XA[] | Change of rod end shape

-XC51 | With hose nipple
-XC85 | Grease for food processing equipment
-X446

PTFE grease

[mm]
Bore size Standard stroke
10 15, 30, 45, 60
16 15, 30, 45, 60, 75, 100, 125, 150

#: Manufacture of intermediate strokes in 1 mm increments is possible. (Spacers are not used.)

#: Please consult with SMC for strokes which exceed the standard stroke length.

= Applicable strokes should be confirmed according to the usage. For details, refer to “Air Cylinders
Model Selection” on www.smc.eu . In addition, the products that exceed the standard stroke might not
be able to fulfill the specifications due to the deflection etc.

ACCESSOries /Rreferto page 22 for details about part numbers and dimensions.

A\ Precautions

1 Refer to page 121 before handling. |

Ordering Example of Cylinder Assembly

Standard Rod end nut

Option*2 Single knuckle joint, Double knuckle joint*! Rod end cap (Flat type, Round type)

#1: A knuckle pin and retaining rings are shipped together with double knuckle joint.
x2: Can be ordered within the cylinder model.

Spring Reaction Force

Cylinder model: CDJ2RA16-45SZ-W-M9BW-B

Auto switch

Double knuckle joint

Mounting A: Bottom mounting

Rod end bracket W: Double knuckle joint
Auto switch D-M9BW: 2 pcs.

Auto switch mounting B: Band mounting

«; Double knuckle joint and auto switch are shipped
together with the product, but not assembled.

83

Bore size Spring reaction force [N]
[mm] Primary | Secondary
10 3.53 6.86
16 6.86 14.2

Spring with primary Spring with secondary
mounting load mounting load

IN ouT =
f=r:===3voc: i TR
V.V V V] T

When the spring is set
in the cylinder

When the spring is
contracted by applying air

Refer to pages 101 to 108 for cylinders with auto switches.

« Auto switch proper mounting position (detection at stroke end) and its mounting height
* Minimum stroke for auto switch mounting

« Operating range

« Auto switch mounting brackets/Part no.

SvVC

O




Air Cylinder: Direct Mount Type
Single Acting, Spring Return/Extend

Series CJ2R

Weights g
= S
Spring Return [a] Spring Extend [a] 58
Bore size [mm] 10 16 Bore size [mm] 10 16 g
Mounting Basic Axial Basic Axial Mounting Basic Basic =
15 stroke 42 42 81 81 15 stroke 41 78 %
30 stroke 49 49 97 97 30 stroke 47 92 ElE=
45 stroke 59 59 | 114 | 114 45 stroke 55 108 e
Basic 60 stroke 68 68 132 132 Basic 60 stroke 64 123 0|20
weight 75 stroke 154 154 weight 75 stroke 144 g
100 stroke 187 187 100 stroke 173 E
125 stroke 224 224 125 stroke 208 < o
150 stroke 246 246 150 stroke 228 £m
Single knuckle joint 17 23 Single knuckle joint 17 23 go
Double knuckle joint 25 21 Double knuckle joint 25 21 L 2
Accessories | (including knuckle pin) Accessories | (including knuckle pin) (s
Rod end cap (Flat type) 1 2 Rod end cap (Flat type) 1 2 é,x
Rod end cap (Round type) 1 2 Rod end cap (Round type) 1 2 - 2N
#: Rod end nut is included in the basic weight. QO: % 8
g
8=
olz
5|5 x
2|z
Construction (Not able to disassemble) Z
Single acting &
: ! s|2N
Spring return L) 7)) (800 (2 3 N
Ol2
ol8
Q
- 2z
i 213
‘ N ZIEN
[ 8
With auto switch e
{04
éN
Single acting, SHE
Spring extend ) SE
1] =
g =
of
Paull VAN 2
: S i
ol =
- - ] i 1 -
D) ElE
3|&
. . o =
With auto switch o
8|z
= ES
HE
Component Parts Zz
No. Description Material Note No. Description Material Note § ,“;f X
1 | Rod cover Aluminium alloy 9 | Piston seal NBR s :%f%
2 | Head cover Aluminium alloy 10 | Tube gasket NBR ﬁé %’8
3 | Cylinder tube Stainless steel 11 | Wear ring Resin Bl
4 | Piston rod Stainless steel 12 | Return spring Piano wire é
5 | Piston A Aluminium alloy 13 | Spring seat Aluminium alloy -E' g
6 | Piston B Aluminium alloy 14 | Rod end nut Rolled steel 4l |
7 | Piston Aluminium alloy 15 | Magnet — g ©
8 | Bumper Urethane 16 | Rod seal NBR B
=
S
=
7]
e
=
<C
g
S
9
]
=

O

84




Series CJ2R

Single Acting: Bottom Mounting
Spring return:  CJ2RA %g - ‘Stroke ‘ S ‘Head cover port location |Z

X
Rod end nut Piping port M5 x 0.8 2x@ LD
e Y - Piping port
O MM ﬂ Breather hole GB
) —\ ol 7
3 N . ?
oo i A 4 - - - x|
m Sy - §
B0 Head cover port location
03 A NA INB| LH Axial location (R)
H S + Stroke LB #: The overall cylinder length
Head cover shape Z + Stroke does not change.
[mm]
Bore size A B © D GB H L LB LD LH |[LX MM NA |NB X Y
10 15 | 12 14 4 5 20 23 16 |@35through, @ 6.5 counterbore depth 4 8 12 M4 x 0.7 128 | 95 28 8
16 15 | 183 | 20 5 5) 20 26 20 | @45through, @ 8 counterbore depth 5 | 10 16 M5 x 0.8 12.8 | 9.5 28 8
Dimensions by Stroke: Spring Return [mm]
Bore size = z
5t0 15 st {16 t0 30 st|31 to 45 st|46 to 60 st|61 to 75 st| 76to 100t 1010 125 st| 12610150t | 5 to 15 st |16 to 30 st| 31 to 45 st]46 to 60 st |61 to 75 st| 760 100t | 101 to 125 st| 12610 150 st
10 53.5 61 73 85 — — — — 73.5| 81 93 105 — — — —
16 53.5 | 62 74 86 92 | 116 | 134 | 146 | 735 | 82 94 | 106 | 112 | 136 | 154 | 166
; . 10
Spring extend: CJ2RA 16~ Stroke | TZ
X + Stroke
Rod end nut GA
Y Piping port M5 x 0.8
(DO MM Breather hole
\ [a)
K S :
?.‘5? - - - CJ - - : 5 -
B.O A NA NB
03 H + Stroke S + Stroke 2x@LD
Z + 2 x Stroke

Head cover shape

Bore size A B © D GA H L LB LD LH |LX MM NA |NB X Y

10 15 | 12 14 4 16 20 23 16 | @35through, @ 6.5 counterbore depth 4 8 12 M4 x 0.7 205 | 4.8 28

16 15 | 183 | 20 5 16 20 26 20 | @45through, @ 8 counterbore depth 5 | 10 16 M5 x 0.8 205 | 4.8 28
Dimensions by Stroke: Spring Extend [mm]

Bore size = £
510 15 st| 1610 30 st| 31 to 45 st | 46 to 60 st| 61 to 75 st | 76 to 100 st|101to 125 st{126 10 150st] 5 to 15 st |16 to 30 st| 31 to 45 st|46 to 60 st|61 to 75 st|76 to 100 st]101 o 125 st{126 to 150 st
10 56.5 | 64 76 88 — — — — | 765 | 84 96 108 — — — —

16 56.5 | 65 77 89 95 119 | 137 | 149 | 76,5 | 85 97 109 | 115 | 139 | 157 | 169

O
2

85



Air Cylinder: Direct Mount, Non-rotating Rod Type
Double Acting, Single Rod

Series CJ2RK

N
M)
D10, D 16 :©
,
T ?—5:;
g(&
How to Order I
#s0
Cylinder standard stroke [mm] =
Refer to “Standard Strokes” on page 87. C-Zé
2N
57
CJ2 6)-[60 P
1 2
T T 1] [ _
. . — — — — — ZN
WinEtcETicm CDJ2RKA |16/-|60|| |Z M9O9BW B 5E5
i uto s — —
With auto switch =
(Built-in magnet) . ols
Auto switch e———— Made to Order S N4
Mounting [ — [ without auto switch | Refer to page 87 for details. |z g'(_\l)
| A | Bottom mounting ‘ *: For applicable auto switches, refer to the table below. Auto switch - ©)
* Enter the auto switch mounting type (A or B) mounting type L&
B o e even when a built-in magnet cylinder without - - [ 3
ore size an auto switch is required. A | Rail mounting BN
10 [ 10 mm B |Band mounting % EAN
16 |16 mm ¢ Rod end bracket *: For rail mounting, screws £ §8
= None and nuts for 2 auto switches ol2
: V Single knuckle joint come with the rail. =
Head cover port location ¢ W Double knuckle joint #: Refer to page 107 for auto 55). E ;
_ |Perpendicular ﬁ, ) T Rod end cap (Flat type) switch mounting brackets. £ E‘,N
to axis 3 U Rod end cap (Round type) eNumber of auto switches E g g
*: Rod end bracket is shipped together > 0oS 20
. - with the product, but not assembled. — pcs. L8
R Axial ht.’ » | * Aknuckle joint pin is not provided S 1 pc. (@
with the single knuckle joint. n “n” pes. 2
2N
x: Refer to “Ordering Example of Cylinder Assembly” on page 87. = 3 8
. . 3|
Applicable Auto Switches /Refer to the Auto Switch Guide for further information on auto switches. SE
= Load voltage Auto switch model Lead wire length [m] . . g E
. . Electrical| "= | Wiring - - - Pre-wired | Applicable | | £|2
Type| Special function ent £ | (output) DC AC Band mounting Rail mounting 05| 1| 3|5 |None ———— [l ol
i 2 . Perpendicular| In-line |Perpendicular| In-line | (—) [(M)| (L) | (Z) [(N) gg
3-wire (NPN) 5V12V MINV MON MONV M9N ® /0 O|—| O (C circuit £0
Grommet 3-wire (PNP) ' M9PV M9P M9PV M9P ® 606 O/ —| O L &
S ) M9BV M9B M9BV M9B ® /0 O|—| O (S B
= 2-wire 12V — o] =
= Connector — H7C J79C — ®  —| 006 — 42
2 | piagnosiic indication 3-wire (NPN) 5V12V MONWV | MONW [MONWV | MONW | @ @ | @ O|—| O Ic cirit| Rel S
3 (2-%olour dicaton Yes|3-uire (PNP) [24 V[° —  [moPwv | moPw [MoPwVv | MoPW | @ @@ |O|—] O e | IEE
% 2-wire 12V MO9BWV | M9BW |[M9BWV | M9BW | @ @ | @ O |—| O — z g
1) Water resistant Grommet 3-wire (NPN) 5VI2V MINAV#1| MINA*L IMONAV*L MONA* | O |O | @ |O[—| O IC circuit 2 =
% (2-colour indicator) 3-wire (PNP) ' MIPAV*1| MOPA*! IMOPAV*| MOPA* | O O | @ | O|—| O £|z x
2 2-wire 12V M9BAV *1| MOBA*1 IM9BAV*1| MOBA*1 | O |O | @ |O|—| O — é ;‘i;ﬂf
Wih diagnostic output (2-colour indicato) 4-wire (NPN) 5Vv,12V — H7NF — F79F ® —|®@ O|—| O |[Ccircui sl2 g
. [o) =
3-wire . £[20
< ’ (VPN equiaen)| — 5V — A96V A96 A6V A96 ® | — | ®|—|—| — |Ccircut — 2 g
s Grommet | — | 200v — — A72 | AT2H | @ |—|@®|—[—| — | g
2 — . 100V | A93v*2 | A93 |A93V*2| A93 (@ (@@ @ | —| — o &
= No ) 100V or less| A90V A90 A90V A90 ® |—|®|—|—| — |CciciRelay | |G| 0
o 2-wire 12V el O
3 comecior &S 24V — — C73C | A73C — e —®e/@®@/® — | — PCIIE
&’ No 24V or less — C80C A80C — o | — 0|00 — |IC circuit E
Diagnostic indicaton (2-colour indicator)| Grommet [Yes — —_ — — A79W — o — 0| —|— — _
+1: Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance. é
Please contact SMC regarding water resistant types with the above model numbers. (%
%2: 1 m type lead wire is only applicable to D-A93. o
+: Lead wire length symbols: 0.5 m--------eevnnee — (Example) MONW «: Since there are other applicable auto switches than listed, refer to page 108 for 2
im:-: ~+ M (Example) MONWM details.
3m-- L (Example) MONWL «: For details about auto switches with pre-wired connector, refer to the Auto Switch 3
5m-- +Z (Example) MONWZ Guide on www.smc.eu . S
None:---------e-n- N (Example) H7CN =)
*: Solid state auto switches marked with “O” are produced upon receipt of order. %
=

#: The D-A900/MIOO/A7OO/A800/F700A 700 auto switches are shipped together, (but not assembled). (For band mounting, only auto switch mounting brackets are assembled before being shipped.)

2 SVC 86




Series CJ2RK

Specifi cations

A cylinder which rod does not
rotate because of the hexagonal
rod shape.

Non-rotating accuracy
@ 10: +1.5°, @ 16: +1°

.*‘.-*'::E; '

Symbol
Double acting, Single rod, Rubber bumper

= |

\ \

} s [ 5]
o | Made to Order
(For detalls, refer to pages 111 to 120.)

Symbol Specifications

-XA[O | Change of rod end shape

-XC9 | Adjustable stroke cylinder/Adjustable retraction type
-XC51 | With hose nipple

-XC85 | Grease for food processing equipment
-X446 | PTFE grease

Bore size [mm] 10 16
Action Double acting, Single rod
Fluid Air
Proof pressure 1 MPa
Maximum operating pressure 0.7 MPa
Minimum operating pressure 0.06 MPa

Ambient and fl uid temperature

Without auto switch: =10 °C to 70 °C

With auto switch: =10 °C to 60 °C (No freezing)

Cushion Rubber bumper
Lubrication Not required (Non-lube)
Stroke length tolerance 10
Rod non-rotating accuracy +1.5° | +1°
Piston speed 50 to 750 mm/s
Allowable kinetic energy 0.035J | 0.090 J
Standard Strokes
[mm]
Bore size Standard stroke
10 15, 30, 45, 60, 75, 100, 125, 150
16 15, 30, 45, 60, 75, 100, 125, 150, 175, 200

*: Manufacture of intermediate strokes in 1 mm increments is possible. (Spacers are not used.)

=: Please consult with SMC for strokes which exceed the standard stroke length.

«: Applicable strokes should be confirmed according to the usage. For details, refer to “Air
Cylinders Model Selection” on www.smc.eu . In addition, the products that exceed the standard
stroke might not be able to fulfill the specifications due to the deflection etc.

ACCESSOries /Rreferto page 22 for details about part numbers and dimensions.

Standard

Rod end nut

A\ Precautions

1 Refer to page 121 before handling. |

Ordering Example of Cylinder Assembly

Cylinder model: CDJ2RKA16-60Z-W-M9BW-B

Double knuckle joint

Auto switch
Band mounting

Mounting A: Bottom mounting

Rod end bracket W: Double knuckle joint
Auto switch D-M9BW: 2 pcs.

Auto switch mounting B: Band mounting

«; Double knuckle joint and auto switch are shipped
together with the product, but not assembled.

87

Option*2

Single knuckle joint, Double knuckle joint*! Rod end cap (Flat/Round type)

#1: A knuckle pin and retaining rings are shipped together with double knuckle joint.
x2: Can be ordered within the cylinder model.

Weights
_
ld]
Bore size [mm] 10 16
Basic weight Basic 36 62
(When the stroke is zero) | Axial piping 36 62
Additional weight per 15 mm of stroke 4 7
Single knuckle joint 17 23
I?ouble_ knuckle joint_ 25 21
Accessories (including knuckle pin)
Rod end cap (Flat type) 1 2
Rod end cap (Round type) 1 2

x: Rod end nut is included in the basic weight.
Calculation:
Example) CJ2RKA10-45Z

eBasic weight -+« 36 (D 10)
® Additional weight ---- 4/15 stroke
eCylinder stroke:------- 45 stroke

36 +4/15x45=48¢

Refer to pages 101 to 108 for cylinders with auto switches.

* Auto switch proper mounting position (detection at stroke end) and its mounting height

» Minimum stroke for auto switch mounting
* Operating range
 Auto switch mounting brackets/Part no.

O

SvVC



Construction (Not able to disassemble)

Air Cylinder: Direct Mount, Non-rotating Rod Type
Double Acting, Single Rod

Series CJ2RK

N
5™
50
@ (1) ® 10 @ a =
3E3
gleN
S e T T e 8ic
e = , il -
A \ Nl iy =
Rod section ‘ ‘ . . 2
With auto switch gg
20
Component Parts g «
No. Description Material Note No. Description Material Note = ‘2.’,(\1
1 | Rod cover Aluminium alloy 8 | Bumper Urethane & §8
2 | Head cover Aluminium alloy 9 | Rod seal NBR g g
3 | Cylinder tube Stainless steel 10 | Piston seal NBR 8 E
4 | Piston rod Stainless steel 11 | Tube gasket NBR slex
5 | Piston A Aluminium alloy 12 | Wear ring Resin = E:,(_\')
6 | Piston B Aluminium alloy 13 | Rod end nut Rolled steel gﬂo
7 | Piston Aluminium alloy 14 | Magnet — — =
5|EN

ol

Bottom Mounting B
10 . dEP
CJ2RKA 16~ Stroke ||Head cover port location |Z £IEN
320
£0

X BE
-d
Rod end nut GA 2N
=)
Y Piping port 2 x M5 x 0.8 GB,_ 2|20

CDO MM é £

o3 N : f\/ é%
s{an (_i_} g @v - - a ‘:E» g
y KA | — éa

BL, LH \2x@ LD e

Rod section A NA INB) LB Elz

Head cover shape H S + Stroke i

Z + Stroke ~ é’

S

]2

Piping port é
£l

=
) =i
Blem™

o=
J 52°

Head cover port location s
Axial location (R) ’_g' N
BN i w m
: The overall cylinder length does not change. = O
B
[mm]

Bore size A B C |GA|GB |H |[KA |L |[LB LD LH [LX MM NA NB |[X Y S Zz é
10 15 |12 14 | 16 5 20 | 4.2 | 23 | 16 |#35though, @65 counterbore depthd 8 12 | M4x0.7 |205| 95 | 28 8 54 | 74 (%
16 15 |18.3| 20 | 16 5) 20 | 5.2 | 26 | 20 |@45through @8counterboredepth5| 10 | 16 | M5x 0.8 |20.5| 9.5 | 28 8 55 | 75 =

<C

g

S

e

8

=
88

O
2



Air Cylinder: Direct Mount, Non-rotating Rod Type
Single Acting, Spring Return/Extend

Series CJ2RK

@ 10, D 16

How to Order

Cylinder standard stroke [mm] Action -

Refer to “Standard Strokes” on page 90. S | Single acting, Spring return
T | Single acting, Spring extend

] C2RKA L8-@SISI 12— -

| |
TnETere M CDJ2RKA [16]-[45][S|| 1z-] |-IM9BW]|| |-|B|-

I I_l
With auto switch —l— Made to Order

(Built-in magnet) . Refer to page 90 for
Auto switch e&—— details.

— | without auto switch |
«: For applicable auto switches, refer to the table below. ®Auto 5_W|t0h
* Enter the auto switch mounting type (A or B) even when a mounting type

Mounting |
| A | Bottom mounting |

Bore size & built-in magnet cylinder without an auto switch is required. A Rail mounting
10 [ 10 mm B Band mounting
16 |16 mm ¢ Rod end bracket #: For rail mounting, screws
= None and nuts for 2 auto switches
Head cover port location © V Single knuckle joint come with the rail.
= w Double knuckle joint #: Refer to page 107 for auto
. Per;t)sr;t)j(iigular h T Rod end cap (Flat type) switch mounting brackets.
U Rod end cap (Round type .
- £ (_ ype) ) ® Number of auto switches
*: Rod end bracket is shipped together with the product, >
R Axial h\-; but not assembled. — pcs.
#: A knuckle joint pin is not provided with the single S 1 pc.
knuckle joint. n “n” pcs.

x: Not applicable to single acting,
spring extend (T).

x: Refer to “Ordering Example of Cylinder Assembly” on page 90.

Applicable Auto Switches /Refer to the Auto Switch Guide for further information on auto switches.

Electical = - Load voltage Auto switch model Lead wire length [m] ) Applicable
Type| Special function ectica g ring Band mounting Rail mounting 05| 1| 3|5 |None it | Al
entry | .E |(Output) DC AC : : : : connector load
= Perpendicular| In-line  |Perpendicular| In-line | (—) [(M)| (L) | (Z) [(N)
3-wire (NPN) 5V12V MONV M9N MONV M9N ® 0@ O|—| O IC circuit
Grommet| | 3-wire (PNP) ' M9PV M9P M9PV M9P ® @0 O|—| O
S . MOBV | M9B | M9BV | MOB | ® @ @ O|—| O
= 2-wire 12V —
2 Connector — H7C J79C — o — o/ 0 —
2 | Diaanostic indication 3-wire (NPN) 5V12V MONWV | MONW |[MONWV | MONW | @ (@ @ O|—| O IC ciruit| Rel
z (2_%0|0ur nticator) Yes|3uire (PNP) [24 v/|° ! —  [moPwv | moPw [MoPwV | MoPW | @ [@|@]O|—| © oLe
% 2-wire 12V MO9BWV | MOBW |M9BWV | M9BW | @ @ @ O|—| O —
2] Water resistant Grommet| | 3-wire (NPN) 5V12V MIONAV*1| MONA*L [MONAV# MONA*L | O |O | @ |O|—| O IC circuit
% (2-colour indicator) 3-wire (PNP) ' MIOPAV*1| MOPA*! IMOPAV*:| MOPA*1 | O (O | @ | O |—| O
2 2-wire 12V MIBAV*1| MOBA*! [M9BAV*| MOBA*1 | O |O | @ |O|—| O —
Wit diagnostic output (2-cclowr inciator) 4-wire (NPN) 5V,12V — H7NF — F79F ® —|® O |—| O |Ccircui
3-wi .
e 5V | — | A%V | A9 | A%V | A% | @ |— @|—|—| — [comi| —
5 Yes (NPN equivalent)| —
= Grommet — 200V — — A72 A2H | @ |[—|@|—|—| — -
° — . 100V | A93V*2 | A93 |A93V*2| A3 | @ @@ @ —| —
2 No 2-wire 12V 100 Vorless| A90V A90 A90V A90 ® — | ® —|—| — |Ccircu Relay,
3 comecior &S 24V — — C73C | A73C — e —e/0/® — | — |PC
& No 24V or less — C80C A80C — ®  —|©® ® ®  — |Ccicui
Diagnostic indicaton (2-colour ndicator}| Grommet |Yes — — — — A79W = ® —\0|—|—| — —
+1: Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Please contact SMC regarding water resistant types with the above model numbers.
x2: 1 m type lead wire is only applicable to D-A93.
x: Lead wire length symbols: 0.5 m:------eeveeneeen — (Example) MONW x: Since there are other applicable auto switches than listed, refer to page 108 for
im----- - M (Example) MONWM details.
3m:-- L (Example) MONWL #: For details about auto switches with pre-wired connector, refer to the Auto Switch
S Z (Example) MONWZ Guide on www.smc.eu .
None:«-«-eveeveee N (Example) H7CN

*: Solid state auto switches marked with “O” are produced upon receipt of order.
#: The D-A900/MIOOT/A7OC/A800/F7OON70O auto switches are shipped together, (but not assembled). (For band mounting, only auto switch mounting brackets are assembled before being shipped.)

%9 ZS\NC



Air Cylinder: Direct Mount, Non-rotating Rod Type
Single Acting, Spring Return/Extend

Series CJ2RK

Specifi cations g
A cylinder which rod does not g%
rotate because of the hexagonal Bore size [mm] 10 16 E
rod shape. Action Single acting, Spring return/Single acting, Spring extend S
_ Fluid Air - gg
Non-rotating accuracy Proof pressure 1 MPa g P
. o . o =
@ 10: £1.5 ’ 6_16' +1 Maximum operating pressure 0.7 MPa &,‘5 §8
Can. Op_erate without Minimum operating pressure 0.15 MPa 8
lubrication. Without auto switch: -10 °C to 70 °C :
Ambient and fl uid temperature With auto switch: -10 °G to 60 °C (No freezing) %g
Cushion Rubber bumper %O
Lubrication Not required (Non-lube) LIE
Stroke length tolerance 10 &
Rod non-rotating accuracy +1.5° ‘ +1° ‘,é',’ﬁ
o| 2
Piston speed 50 to 750 mm/s z|2 8
. . ol 5
Symbol Allowable kinetic energy 0.035J | 0.090J £l
ol
Single acting, Spring return,  Single acting, Spring extend, o v
Rubber bumper Rubber bumper 2|z
Standard Strokes 20
% I ﬂ ol | |2
{ { Bore size Standard stroke [ 3
10 15, 30, 45, 60 5 N
mdf ) =} g'_J
e | Made to Order 16 15, 30, 45, 60, 75, 100, 125, 150 El20
) ols
(For details, refer to pages 111 to 120.) *: Manufacture of intermediate strokes in 1 mm increments is possible. (Spacers are not used.) =
Symbol Specifications i Please consult with SMC for strokes which exceed the standard stroke length. &z
h frod end sh x: Applicable strokes should be confirmed according to the usage. For details, refer to “Air (2 %;
=XAL Change of rod end shape Cylinders Model Selection” on www.smc.eu . In addition, the products that exceed the standard | ;N
-XC51 | With hose nipple stroke might not be able to fulfill the specifications due to the deflection etc. 320
-XC85 | Grease for food processing equipment g ©)
-X446 | PTFE grease — =
ACCESSOrIeS /Refer to page 22 for details about part numbers and dimensions. 2
0 SN
/\ Precautions i
Standard Rod end nut 3|2 O
" e EN EE BN BN EE BN N BN EE B S e Ew Ew .y 8
I Refer to page 121 before handling. 1 Option*2 Single knuckle joint, Double knuckle joint*! Rod end cap (Flat/Round type) § =
3|z
e e e === === +1: A knuckle pin and retaining rings are shipped together with double knuckle joint. a f%jg:
*2: Can be ordered within the cylinder model. E:g
. . £0
Ordering Example of Cylinder Assembly i
Spring Reaction Force N
Cylinder model: CDJ2RKA16-45SZ-W-M9BW-B - - é%
Bore size Spring reaction force [N] ]
[mm] Primary | Secondary E O
10 3.53 6.86 E
16 6.86 14.2 g

Spring with primary ~ Spring with secondary

mounting load

mounting load

(With End Lock |[ Direct Mount, Non-rotating Rod |[

IN ===  OUT =
) A AN -~
f=eri=s=a o - T —— -1 N
[V YV V] VT o
m
When the spring is set  When the spring is ) O
Double knuckle joint in the cylinder contracted by applying air

=
£
Mounting A: Battom mounting o Refer to pages 101 to 108 for cylinders with auto switches. &
Rod end bracket W: Double knuckle joint o
Auto switch D-M9BW: 2 pcs. » Auto switch proper mounting position (detection at stroke end) and its mounting height 2
Auto switch mounting B: Band mounting « Minimum stroke for auto switch mounting -
« Operating range s
«; Double knuckle joint and auto switch are shipped . . - =
together with the product, but not assembled. Auto switch mounting brackets/Part no. %
=

SMC %0

O



Series CJ2RK

Weights
_
Spring Return ol  Spring Extend [g]
Bore size [mm] 10 16 Bore size [mm] 10 16
Mounting Basic | Axial Basic | Axial Mounting Basic Basic
15 stroke 44 44 83 83 15 stroke 42 79
30 stroke 52 52 99 99 30 stroke 48 93
45 stroke 62 62 117 117 45 stroke 57 110
Basic 60 stroke 72 72 135 135 Basic 60 stroke 66 126
weight 75 stroke 157 157 weight 75 stroke 147
100 stroke 191 191 100 stroke 177
125 stroke 228 228 125 stroke 213
150 stroke 251 251 150 stroke 234
Single knuckle joint 17 23 Single knuckle joint 17 23
Double knuckle joint Double knuckle joint
) ) ) . 25 21 ) ) ) . 25 21
Accessories | (including knuckle pin) Accessories| (including knuckle pin)
Rod end cap (Flat type) 1 2 Rod end cap (Flat type) 1 2
Rod end cap (Round type) 1 2 Rod end cap (Round type) 1 2
#: Rod end nut is included in the basic weight.
Construction (Not able to disassemble)
Single acting, Spring return
14 4 %%% @is 9 @ ay 4o
T 53 = ﬂ {
& e f
Rod section @ With auto switch
Single acting, T
Spring extend
SESS Paull N
= - Sl
@' B Eﬂ -“1. i ..'7
Rod section With auto switch
Component Parts
No. Description Material Note No. Description Material Note
1 | Rod cover Aluminium alloy 9 | Piston seal NBR
2 | Head cover Aluminium alloy 10 | Tube gasket NBR
3 | Cylinder tube Stainless steel 11 | Wear ring Resin
4 | Piston rod Stainless steel 12 | Return spring Piano wire
5 | Piston A Aluminium alloy 13 | Spring seat Aluminium alloy
6 | PistonB Aluminium alloy 14 | Rod end nut Rolled steel
7 | Piston Aluminium alloy 15 | Magnet —
8 | Bumper Urethane 16 | Rod seal NBR
91 Y
ZS\VC



Air Cylinder: Direct Mount, Non-rotating Rod Type
Single Acting, Spring Return/Extend

Single Acting: Bottom Mounting

Series CJ2RK

Spring return: CJ2RK %g - ‘Stroke ‘ S ‘Head cover port location |Z

X

Piping port M5 x 0.8
Rod end nut Y GB__
O MM Breather hole 2xLD Piping port
] O —\
0 N /| {
oo | 1 & _ _ _ - X1
m =k N & ;
T KA @
B.Y, Head cover port location
Rod section A NA NE Axial location (R)
Head cover shape H S + Stroke x; The overall cylinder length
Z + Stroke does not change.
[mm]
Bore size A B © GB H KA L LB LD LH LX MM NA NB X Y
10 15 12 14 5 20 4.2 23 16 | @35through, @ 6.5 counterbore depth 4 8 12 M4 x 0.7 128 | 95 28 8
16 15 183 | 20 5 20 5.2 26 20 | @45through, @8 counterbore depth 5 | 10 16 M5 x 0.8 128 | 95 28 8
Dimensions by Stroke: Spring Return [mm]
. S Z
Bore size
510 15|16 t0 30|31 to 45|46 to 6061 to 75|76 t0 100 | 101t0 125 | 12610150 |5 to 15|16 to 30|31 to 45|46 to 60 |61 to 75|76 to 100| 101 to 125 | 126 to 150
10 53.5 61 73 85 —_ — — — 735 | 81 93 105 — — — —
16 535 | 62 74 86 92 | 116 | 134 | 146 | 735 | 82 94 | 106 | 112 | 136 | 154 | 166
. . 10
Spring extend: CJ2RK 16~ Stroke | TZ
X + Stroke
G‘A Piping port M5 x 0.8
Rod end nut | A Breather hole
O MM
)
. \ ©
ch Im== : - i CJ i - ’ ; 5 -
KA & N =
o A NA NE LH \2xLD
B.os Rod section H + Stroke S + Stroke ‘_EB
Z + 2 x Stroke
Head cover shape
[mm]
Bore size A B © GA H KA L LB LD LH LX MM NA NB X Y
10 15 12 14 16 20 4.2 23 16 | @35through, @ 6.5 counterbore depth 4 8 12 M4 x 0.7 205 | 4.8 28 8
16 15 | 183 | 20 16 20 5.2 26 20 | G45through, @8 counterbore depth5 | 10 16 M5 x 0.8 205 | 4.8 28 8
Dimensions by Stroke: Spring Extend  (Dimensions not mentioned in the below table are the same as the above table.) [mm]
. S Z
Bore size
510 15|16 to 30|31 to 45|46 to 60|61 to 75|76 t0 100| 101t0 125 | 12610150 |5 to 15|16 to 30|31 to 45|46 to 60 |61 to 75|76 to 100 101 to 125 | 126 to 150
10 56.5 | 64 76 88 — — — — | 765 | 84 96 | 108 | — — — —
16 56.5| 65 7 89 95 119 | 137 | 149 | 76,5 | 85 97 109 | 115 | 139 | 157 | 169
92

O
2

Standard

Double Acting, Double Rod || Double Acting, Single Rod

Non-rotating Rod 1f
Single Acting, Spring Return/Extend | | Double Acting, Single Rod rnge/\clngSpngelum(Exlend

l

Built-in Speed Controller
Double Acting, Double Rod

U

Direct Mount

Single Acting, Spring Retum/Extend
CJ2R

CJ2

cJ2w

CJ2

CJ2K

Double Acting, Single Rod
CJ2z

CJ2zW

CJ2R

Double Acting, Single Rod

CJ2RK

(With End Lock |[ Direct Mount, Non-rotating Rod |[

RIENIRSIVEETIETE | Double Acting, Single Rod

CBJ2

Auto Switch

Made to Order




Air Cylinder: With End Lock

Series CBJ?2

D 16

How to Order

Built-in Magnet Cylinder Model
Suffix the symbol “-A” (Rail mounting) or
“-B” (Band mounting) to the end of part
number for cylinder with auto switch.
CDBJ2B16-45-HN-A
CDBJ2B16-60-HN-B
#: For rail mounting, screws and nuts for 2
auto switches come with the rail.
#: Refer to page 107 for auto switch
mounting brackets.

MI9BW C
— 1

[
Auto switch mounting bracket *Zl

%2: This symbol is indicated when the
D-A90 or M9 type auto switch is

Lock position
H
R

Head end lock
Rod end lock

Rail mounting
Band mounting

Cylinder standard stroke [mm]
Refer to “Standard Strokes” on page 94.

ie-6-11
L|16-[60|-[H| N -

Manual release l
l N \ Non-locking type ‘

Example

With auto switch

With auto switch T

(Built-in magnet)

Mounting

specified.
B Basic Auto switch This| moun:]ing bracket_d(;es not
i - - apply to other auto switches
I,; :;:i::;; — ] YVnhout auto sywtch | (D-C70) and H700, etc.) (—)
#: For applicable auto switches,

D | Double clevis*! refer to the table below. eNumber of auto switches
*: Foot/Flange brackets are * Enter the auto switch mounting _ 2 pcs.

shipped together with the type (A or B) even when a S 1pc

product, but not assembled. built-in magnet cylinder without -
+1: Rod end lock only. an auto switch is required. n “n” pcs.

Applicable Auto Switches /Refer to the Auto Switch Guide for further information on auto switches.

=) . Load voltage Auto switch model Lead wire length [m] )
Type| Special function EIZﬁi”r;al % ((V)\ﬂ;g‘ugt) bC AC Bahd mounti_ng Ra?l mountin_g 05|13 |5 |None :(;ﬁnvgg[e; Applicable load
= Perpendicular| In-line |Perpendicular] In-line | (—) [(M)| (L) | (Z) |(N)
3-wire (NPN) 5V 12V MONV | MON MONV | MON ® 6 ® O|—| O \C circuit
Grommet|  |3-wire (PNP) ' M9PV M9P M9PV M9P ® /0 O|—| O
S T > wiire v MBV | MOB |M9BV | MB | ® (@ /@[O0 |—| O |
z Connector — H7C J79C — ® — 06 0 o6 —
% Diagnostic indication 3-Wire (NPN) 5V12V MIONWV| MONW [MONWV| MONW | @ @@ O |—| O IC circuit| Relay
g (2-colour indicator) Yes|3-wire (_PNP) 24Vv|” —  |[M9PWV| MO9PW [M9PWV| M9PW | @ (@ @ O|—| O PLC'
< 2-wire 12V M9BWV | M9BW [M9BWV ([M9BW | @ @ | @ O|—| O —
z Water resistant Grommet|  |3-wire (NPN) 5V 12V MINAV#1| MONA*L [IMONAV*IMONA*| O (O | @|O|—]| O \C circuit
5 (2-colour indicator) 3-wire (PNP) ' MIPAV*1| MOPA*1 [MOPAV*|MOPA*1| O |O | @|O|—| O
2 2-wire 12V MIBAV *1| MOBA *! [MOBAV*|MOBA*| O |O | @|O|—| O —
Wit diagnosic output (2 olournto) 4-wire (NPN) 5V,12V — H7NF — F79F | @ |—| @O |—| O [ICcircuit
S 5V | — | A%V | A9% | A%V | A% | @ |—|@|—|—| — |iCcraut| —
§ Yes (NPN equivalent)| —
s Grommet — 200 V — — A72 A72H o —0|—|—| —
0 — L 100V | A93V*2| AQ3 |A93V*#2| A93 ® o606 06— — —
Fi No| e 1oy [0Vorkss| A9OV | A90 | A0V | A90 ® |— | @®|—|—| — |ICcircuit| Relay,
° comectorl ! 24V — — C73C | A73C — o — 006 — — PLC
& 0 24Vorless) — C80C | A80C — ® —|©® ® ®| — |[Ccirui
Diagnostic indicaton (2-colour ndcator)| Grommeet| Yes — — — — ATOW — ® — 0 —|—| — —

+1: Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Please contact SMC regarding water resistant types with the above model numbers.
%2:1 m type lead wire is only applicable to D-A93.

+: Lead wire length symbols: 0.5 m-------- — (Example) MONW
M (Example) MONWM
L (Example) MONWL
Z (Example) MONWZ
N (Example) H7CN

#: Solid state auto switches marked with “O” are produced upon receipt of order.

*: The D-A9DIL/MOUIOI/A7OL/A800/F700/370100 auto switches are shipped together, (but not assembled). (However, when the D-A9CI0/M9UII types are
selected, only auto switch mounting brackets are assembled before being shipped.)

#: When the D-A90J)/M910O types are mounted on a rail, order auto switch mounting brackets separately. Refer to page 107 for details.

%3 ZS\NC

*: Since there are other applicable auto switches than listed, refer to page 108
for details.

«: For details about auto switches with pre-wired connector, refer to the Auto
Switch Guide on www.smc.eu .




Air Cylinder: With End Lock  Series CBJ2

Specifi cations g
N ; - 5N
The CJ2 air cylinder is 3
equipped with end lock function. I EO el el () O 2
Action Double acting, Single rod =
Fluid Air 2
Proof pressure 1 MPa e E =
Tl 5
Maximum operating pressure 0.7 MPa E gﬂ
Minimum operating pressure 0.15 MPa* @ £ O
. . Without auto switch: -10 °C to 70 °C . =
Ambient and fluid temperature With auto switch: -10 °C to 60 °C (No freezing) C-:é
Cushion Rubber bumper gg
Lubrication Not required (Non-lube) 0
Stroke length tolerance 5° L 5
Piston speed 50 to 750 mm/s [ B
Allowable kinetic energy 0.090J ;:’ﬁ
x:0.06 MPa for parts other than the lock unit. BlEm
A e)
ol S
Symbol % 8
Rubber bumper ) . B
P Lock Specifi cations e
2=
3™
Lock position Head end, Rod end % O
T Holding force (Max.) 98 N - el
I 1.l Lock release pressure 0.15 MPa or less %
‘ ‘ Backlash 1 mm or less E E’N
=
Manual release Non-locking type Els 8
O @
Ol2
ol8
Q
2z
Standard Strokes o %g%
[mml S8
Bore size Standard stroke £0
16 15, 30, 45, 60, 75, 100, 125, 150, 175, 200 — Z
x: Manufacture of intermediate strokes in 1 mm increments is possible. (Spacers are not used.) %n:
= Applicable strokes should be confirmed according to the usage. For details, refer to “Air 2N
Cylinders Model Selection” on www.smc.eu . In addition, the products that exceed the standard |_|5 ™2
stroke might not be able to fulfill the specifications due to the deflection etc. § 3 O
2 8
B(g
gz
Mounting Brackets/Part No. ols
L)
§0
. Bore size [mm] g
Mounting bracket —
16 EE
Foot CJ-L016B | E:’é
Flange CJ-FO16B £ £N
T-bracket*! CJ-T016B 5120
x1: T-bracket is used with double clevis (D). é z
=%
Refer to pages 101 to 108 for cylinders with auto switches. g ‘gg
< Auto switch proper mounting position (detection at stroke end) and its mounting height (&) &
¢ Minimum stroke for auto switch mounting %
o
« Operating range 2 g
] ™\ * Auto switch mounting brackets/Part no. W o
Moisture ” <[N®)
Control Tube =
Series IDK -
When operating an actuator with a small diameter é
and a short stroke at a high frequency, the dew (%
condensation (water droplet) may occur inside the %
piping depending on the conditions. <<
Simply connecting the moisture control tube to the -
actuator will prevent dew condensation from oc- g
curring. For details, refer to the IDK series in the e
catalogue on www.smc.eu. §
N J =

SMC 94

O



Al

Series CBJ?2

these specifications.

Specific Product Precautions

Be sure to read this before handling. Please consult with SMC for products outside

|

Use Recommended Air Pressure Circuit. \

|

Operating Pressure

/A Caution

* It is necessary for proper locking and unlocking.

4] m_ﬁﬂ

=

Pt .
w s
7

With head end lock With rod end lock

A\ Caution

Supply air pressure of 0.15 MPa or higher to the port on the
side that has the lock mechanism, as it is necessary for
disengaging the lock.

|

Exhaust Air Speed

A\ Caution

The lock will engage automatically if the air pressure at the port
on the side that has the lock mechanism becomes 0.05 MPa or
less. Be aware that if the piping on the side that has the lock
mechanism is narrow and long, or if the speed controller is
located far from the cylinder port, the exhaust air speed could
become slower, involving a longer time for the lock to engage.
A similar result will ensure if the silencer that is installed on the
exhaust port of the solenoid valve becomes clogged.

|

Selection |

|

Lock Disengagement

A\ Caution

1.

95

Do not use a 3-position solenoid valve.

Avoid using this cylinder in combination with a 3-position solenoid
valve (particularly the closed centre metal seal type). If air pressure
becomes sealed inside the port on the side that contains the lock
mechanism, the lock will not engage. Even if the lock is engaged
at first, the air that leaks from the solenoid valve could enter the
cylinder and cause the lock to disengage as time elapses.

. Back pressure is necessary for unlocking.

Before starting, make sure that air is supplied to the side that
is not equipped with a lock mechanism as shown in the
diagram above. Otherwise, the lock may not disengage.

(Refer to “Lock Disengagement.”)

. Disengage the lock before installing or

adjusting the cylinder.
The lock could become damaged if the cylinder is installed
with its lock engaged.

. Operate the cylinder at a load ratio of 50 % or less.

The lock might not disengage or might become damaged if a
load ratio of 50 % is exceeded.

. Do not synchronize multiple cylinders.

Do not operate two or more end lock cylinders synchronized to
move a single workpiece because one of the cylinder locks
may not be able to disengage when required.

. Operate the speed controller under meter-

out control.
If operated under meter-in control, the lock might not disengage.

. On the side that has a lock, make sure to

operate at the stroke end of the cylinder.
The lock might not engage or disengage if the piston of the
cylinder has not reached the stroke end.

. The position adjustment of the auto switch

should be performed at two positions; a po-
sition determined by the stroke and a posi-
tion after the backlash movement (by 1 mm).
When a 2-colour indication switch is adjusted to show green at

the stroke end, the indication may turn red when the cylinder
returns by the backlash. This, however, is not an error.

O

AWarning

To disengage the lock, make sure to supply air pressure to the
port on the side without a lock mechanism, thus preventing the
load from being applied to the lock mechanism. (Refer to the
recommended air pressure circuit.) If the lock is disengaged
when the port on the side that does not contain a lock
mechanism is in the exhausted state and the load is being
applied to the lock mechanism, undue force will be applied to
the lock mechanism, and it may damage the lock mechanism.
Also, it could be extremely dangerous, because the piston rod
could move suddenly.

|

Manual Disengagement

A\ Caution

SvVC

Non-locking type manual release

Insert the bolt, which is provided as an accessory part, through
the rubber cap (it is not necessary to remove the rubber cap).
Screw the bolt into the lock piston and pull the bolt to
disengage the lock. Releasing the bolt will re-engage the lock.
The bolt size, pulling force, and the stroke are listed below.

Bore size . Pulling force Stroke
Thread size
[mm] [N] [mm]
16 M2 x 0.4 x 20 L or more 4.9 2
Bolt should be detached under normal operation,
otherwise it may cause malfunction of the locking
feature.
Rubber cap




Construction (Not able to disassemble)

Air Cylinder: With End Lock

Series CBJ2

Head end lock

10 &

10 ®
L
| Y {
| | I ] s /@
‘ N~ i
qu—
0 19 () 3@
Rod end lock
1B
i = 4B
\ B i }
\
| S — w
With auto switch
Component Parts
No. Description Material Note No Description Material Note
1A | Rod cover Aluminium alloy 11 | Hexagon socket head cap screw Alloy steel
1B | Rod cover Stainless steel 12 | Cap Aluminium alloy
2 | Head cover Aluminium alloy 13 | Rubber cap Synthetic rubber
3 | Cylinder tube Stainless steel 14 | Bumper Urethane
4A | Piston Aluminium alloy 15 | Rod seal NBR
4B | Piston B Aluminium alloy 16 | Piston seal NBR
5 | Piston rod Carbon steel 17 | Tube gasket NBR
6 | Locking piston Carbon steel 18 | Locking piston seal NBR
7 | Locking bushing Copper alloy 19 | Mounting nut Brass
8 | Lock spring Spring steel 20 | Rod end nut Rolled steel
9 | Bumper Urethane 21 | Magnet —_
10 | Hexagon socket head cap screw Alloy steel
96

O

Standard

Double Acting, Double Rod || Double Acting, Single Rod

Non-rotating Rod 1f
Single Acting, Spring Return/Extend | | Double Acting, Single Rod rnge/\clngSpngelum(Exlend

Built-in Speed Controller  |f
Double Acting, Double Rod
CJ2ZW

U

Direct Mount

CJ2

cJ2w

CJ2

CJ2K

Double Acting, Single Rod
CJ2z

CJ2R

Double Acting, Single Rod

Single Acting, Spring Retum/Extend
CJ2R

Double Acting, Single Rod
CJ2RK

Single Acting, Spring Retum/Exend

CJ2RK

(With End Lock |[ Direct Mount, Non-rotating Rod |[

CBJ2

Auto Switch

Made to Order




Series CBJ2

Dimensions

Basic

With rod end lock: COBJ2B16-_1-RN

)
g

18395

§ 145
(=)
[ . s
M10 x 1 §. Piping port 2 x M5 x 0.8 5 -
M5 x 0.8 s rﬂ : .
S
N
©
Q
15 8 21 9.5
28 55.5 + Stroke
83.5 + Stroke
With head end lock: CCBJ2B16-__1-HN
8 6
2xM10x1 oé 8 Piping port 2 x M5 x 0.8 [»
) o
—
M5 x 0.8 8 J_hmﬁ .
N 3
! I 3 A\,
1 7
0|
Q
15 8 (125 12.5
28 50 + Stroke 8
86 + Stroke
97 &
2 SVC

18.3.05




Dimensions

Air Cylinder:

With End Lock Ser

ies CBJ2

Flange

With rod end lock: COBJ2F16-C__1-RN

Cover side (Head side)

=i
2x@5.5
33 Mounting hole
42

Cover side (Rod side)

14.5
M10x1 o Piping port 2 x M5 x 0.8 5
o M5 x 0.8 S ,q ;
™ 0}
X i
Y / o$ '
™ —H1 e = = = = —
[ce]
@ e
2.3
18.3.05 15 8| =21 95
||
ide di 28 55.5 + Stroke
Cover outside diameter 83.5 + Stroke
With head end lock: COBJ2F16-C__1-HN
6
2xM10x1 o 8 Piping port 2 x M5 x 0.8
M5 x 0.8 Q
: @
Nal 2
sl : : : /D
= L
2.3
18.393 15 8| 125 125
|
28 50 + Stroke 8
Cover outside diameter 86 + Stroke

O
2

Z\NIsn
74

w i 2| |
2x@55
33 Mounting hole
42

98

CJ2

cJ2w

B
©
°
<
b
0

=
S
a4
@
>
=4
@
=3
=4
j=1
<
2
=
=]
=3
o
=
S
[
2
=
=
=
(=]
=3
=1
k=1
<
@
=
S
3
=

CJ2

lll
Double Acting, Single Rod rn

CJ2K

[Extend

2

k-]
o)
o
o
£
IS
g
o
T
o
5]
P4

CJ2K

Single A

i

Double Acting, Single Rod
CJ2z

Built-in Speed Controller
Double Acting, Double Rod
CJ2ZW

U

CJ2R

Double Acting, Single Rod

d

Direct Mount

CJ2R

&
=
3
x
@
>
=
[}
(=2
=
k=1
<
-
=
=
3
=]

X
o
N
—
)

1 Retum/Extend

CJ2RK

CBJ2

(With End Lock |[ Direct Mount, Non-rotating Rod |[

Auto Switch

Made to Order




Series CBJ?2

Dimensions

Axial foot

With rod end lock: COBJ2L16-C__1-RN

20.3

18305

14.5

Piping port 2 x M5 x 0.8

With head end lock: COBJ2L16-C__1-HN

o B
oF

/,’-'I' ‘\( -

| I
b

A

18.335

99

21 9.5
[
55.5 + Stroke
83.5 + Stroke
Piping port 2 x M5 x 0.8 6
2xMi0x1 8 8
M5 x 0.8 S
Il [ee)
\ 1] =
7
T {,’s{\ _ e\
= - =
@ =T
N
6|0
15 ‘ 12.5 12.5
28 50 + Stroke 8
86 + Stroke

O
2

2x@55
Mounting hole

Cover side (Head side)

LN
[ o 0
<
-
1

33

42
2x@D5.5

Mounting hole

I'EF |
LANI
al &
<
-
1
33
42




&
—

ACCO

poy 3jbuis ‘Bunoy 9jgnoq

_ ¢rdo

(G

L poy mc_HEo_ -UON hm__obcoo paads ul- H__zm_ IS m::EE -UON ‘JUNON 30810 | 4907 PUT YIM |

£0-ggT

20.3

18.395

)

Series CBJ2

-0.030.
-0.060,

1] 5H9+g.030
Clevis pin (@ 5d9

275
23

/|
5
N

10

i

N

Air Cylinder: With End Lock

Piping port 2 x M5 x 0.8

55.5 + Stroke

93.5 + Stroke
101.5 + Stroke

14.5

21

M5 x 0.8

With rod end lock: COBJ2D16-C__1-RN

Dimensions
Double clevis

28

15

o2
5

+0.2
+0.1

6.5

18.303

100

\)



Series CJ2

Auto Switch Mounting

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

Solid state auto switch
<Band mounting>

D-MoI
D-MoCOW
D-M9CIA
Auto switch zHs 1o
&:
= ) |
A 22 45
(24)
( ): Dimension of the D-M9JA.
A and B are the dimensions from the end of the
head cover/rod cover to the end of the auto switch.
D-Mo1V
D-M9IMV
D-M9JAV
= 1
A 20
(22)
( ): Dimension of the D-M9JAV.
A and B are the dimensions from the end of the
head cover/rod cover to the end of the auto switch.
D-H7O
D-H7OW
D-H7BA
D-H7NF
D-H7C
Auto switch
~Hs 2
| | + b
il — llaszal L
7S] ,
A B
101

O

Reed auto switch
<Band mounting>

D-A9[]
Auto switch =Hs
N~
—
‘ ,
== Bt &;
A 24.5 £
(22)
( ): Dimension of the D-A96.
A and B are the dimensions from the end of the
head cover/rod cover to the end of the auto switch.
D-A9[1V
Auto switch
R
A 22 B
—t
A and B are the dimensions from the end of the
head cover/rod cover to the end of the auto switch.
D-C70/C80

D-C73CO/C80C

Auto switch o




Auto Switch Mounting

Series CJ2

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

<Rail mounting>

D-Mo0]
D-M9IW
D-M9LIA Auto switch
g I ¢
A 235 | |.B 12.5 [12.5
(25.5)
( ): Dimension of the D-M9LJA.
D-Mo0IV
D-M9IWV
D-M9UJAV Auto switch
& T AR
A 21.5 B 14.5 [14.5
(23.5)
( ): Dimension of the D-M9JAV.
D-F70/379
D-F7OW/J79W
D-F79F/F7BA Auto switch

f:v =

D-F7OV/IF7TOWV
D-F7BAV
D-J79C

Auto switch

—
Nl

[}
I
u

O

<Rail mounting>

D-A9[]

D-A9V

D-A70/A80
D-A73C/A80C
D-A79W

D-A7OH/A80H

Auto switch
|
T—F 2 7
B 7
26 B 125 12.5
(23.5)

)

Dimension of the D-A96.

Auto switch
!
N [%)
T T
T u
23.5 B 12.5 [12.5
Auto switch

-

]

L=—W

vs)
~Hs

Auto switch

£ (o

102

Standard

Double Acting, Double Rod || Double Acting, Single Rod

Non-rotating Rod 1f
Single Acting, Spring Return/Extend | | Double Acting, Single Rod rngeAclngSpngelum/Exlend

Built-in Speed Controller  |f
Double Acting, Double Rod

i

Direct Mount

CJ2

cJ2w

CJ2

CJ2K

Double Acting, Single Rod
CJ2z

CJ2zW

CJ2R

Double Acting, Single Rod

Single Acting, Spring Return/Extend
CJ2R

Double Acting, Single Rod
CJ2RK

Single Acting, Spring Retum/Exend

| CJ2RK

CBJ2

(With End Lock |[ Direct Mount, Non-rotating Rod |[

=
=2
=
(%)
2
=
<

Made to Order




Series CJ2

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

Auto Switch Proper Mounting Position (Single acting type excluded) [mm]
Auto switch Band mounting
model D-M90I N
D-MoC1V D-H7C D-C70
D-MoOOW D-A90] D-H7NF D-C80
D-M9OOWV D-A91V D-H700W D-C73C
D-M9IA D-H7BA D-C80C
D-M9CIAV
Bore size A B A B A B A B
6 5.5(4.5) | 5.5(4.5) | 1.5 (0.5) | 1.5(0.5) 1 1 2 2
[12] [4] (8] [0] (7.5) ) (8.5) (0.5)
10 (5)6 (5)6 @2 )2 1.5 15 25 25
16 (5.5)6.5 | (5.5)6.5 | (1.5)2.5 | (1.5) 2.5 2 2 3 3
= The values in (') are measured from the end of the auto switch mounting bracket.
#: The values in [ ] for bore size @ 6 are for the double rod type (CJ2W series).
[mm]
Auto switch Rail mounting
model D-F701/J79
D-F70O0W/J79W
DR D-F7OV/F7OWY
Bl D-F79F
D-M9OOW D-A90 D-A70
D-MOCIWV. D-A9CIV D-J79C D-F7NT D-A80 D-A79W
D-F7BA
R D-F7BAV
D-M9IAV g
D-A70H/A80H
D-A73C/A80C
Bore size A B A B A B A B A B A B
6 — — — — — — — — — — — —
10 4.5 4.5 0.5 0.5 Bi5) &5 8.5 8.5 3 3 0.5 0.5
16 5 5 1 1 4 4 9 9 3.5 3.5 1 1
= Adjust the auto switch after confirming the operating condition in the actual setting.
Auto Switch Mounting Height [mm]
Auto switch Band mounting
model
D-MoO D-M901V D-H70O/H70OW
D-M9OO0W D-MoOOWV D-H7NF D-H7C D-C73C
D-M9OIA D-M9OIAV D-H7BA D-C80C
D-A90 D-A9V D-C70/C80
Bore size Hs Hs Hs Hs Hs
6 15 16 15 18 17.5
10 17 18 17 20 19.5
16 20.5 21 20.5 235 23
[mm]
Auto switch Rail mounting
model
D-M90
D Moow | D-F70i79
D-F7O0W/JI79W D-F7OV
D-MOIWV | b r7BAIF79F D-F7O0WV D-J79C S D-A7SC D-A79W
D-M9IA D-E7BAV D-A80 D-A80C
D-MODAV | D a7l a0 _
D-A90 :
D-A91V
Bore size Hs Hs Hs Hs Hs Hs Hs
6 — — — — — — —
10 175 175 20 23 16.5 235 19
16 21 20.5 23 26 19.5 26.5 22

103




Auto Switch Mounting

Auto Switch Proper Mounting Position (Detection at stroke end)

and Its Mounting Height/Single Acting, Spring Return Type (S)

Series CJ2

N
M)
Auto Switch Proper Mounting Position: Spring Return Type (S) 20
- Standard Type (CDJ2 OOO-0SZ) H
- Non-rotating Rod Type (CDJ2K OOO-00SZ) E
. o|2
- Direct Mount Type (CDJ2R 0OOO-0SZ) ks g%
- Direct Mount, Non-rotating Rod Type (CDJ2RK OOO-0SZ) [mm] (r;E §8
) Bore A dimensions g
Auto switch model . B
Size 5to 9 st 10to15st | 16t0o30st | 31to45st | 46to 60 st | 61 to 75 st | 76 to 100 st [ 101 to 125 st | 126 to 150 st 2
D-M9C] 6 — 12 21 25 39 — — — — 5.5 ~
D-MOOW/MOIWV | 10 — 13 20.5 32,5 445 — — — — 6 8
D-M9DIA/MILIAV 16 — 125 21 33 45 51 75 93 105 6.5
6 12 12 21 25 39 — — — — 55 | Ll
D-M9CIV 10 13 13 20.5 32,5 445 — — — — 6 g
16 125 125 21 33 45 51 75 93 105 6.5 & ﬁ
6 — 8 17 21 35 — — — — 15 | |85 3
2| b-a90 10 — 9 165 285 405 — — — — 2 EE
3 16 — 85 17 29 41 47 71 89 101 25 | |5
é 6 8 8 17 21 35 — — — — 15 ||z 2y
&| D-A9CV 10 9 9 165 285 40.5 — — — — 2 2N
16 8.5 8.5 17 29 a1 47 71 89 101 25 $)
D-H70O/H7C 6 — 7.5 16.5 20.5 34.5 — — — — 1 LB
D-H7OW/H7BA 10 — 8.5 16 28 40 — — — — 15 | [ (2
D-H7NF 16 — 8 165 285 40.5 46.5 70.5 88.5 100.5 2 315N
D-C701/C80 6 — 8.5 17.5 215 355 — — — — 2 £[Em
D-C73C 10 — 9.5 17 29 41 — — — — 25 | |8 §O
D-C80C 16 — 9 17.5 29.5 415 475 715 89.5 101.5 3 B
D-M9O] 10 — 15 19 31 43 — — — — a5 | 9|22
D-MOTIW/MITIWV EIEN
D-MOCIA/MOTIAV 16 — 11 195 315 435 495 735 915 103.5 5 315
10 115 115 19 31 43 — — — — 45 20
D-M9CIV -
16 11 11 19.5 315 435 495 735 91.5 103.5 5 E
10 — 7.5 15 27 39 — — — — 0.5 =g
D-A9C] 2 &
16 — 7 15.5 275 39.5 455 69.5 87.5 99.5 1 gy
10 7.5 7.5 15 27 39 — — — — 05 | |E|2O
D-A90V 2|2
16 7 7 15.5 275 39.5 455 69.5 87.5 99.5 1 S8
g 3
£ | D-F7TO/F70V 10 105 105 18 30 42 - - - - 35 | |E[<
3| D-J79/J79C ~
g | D-A70H/A80H )
3| D-AT3C/AB0C 16 10 10 185 30.5 425 485 72,5 90.5 102.5 4 O
D-F7OW/I79W 10 — 105 18 30 a2 - - - - 35 | =
D-F7O0WV/F79F ele v
D-F7BA/F7BAV 16 — 10 185 30.5 425 485 72,5 90.5 102.5 4 o5
10 — 155 23 35 47 - - - — 85 | |B[E
D-F7NT Sle
16 — 15 235 35.5 475 53.5 775 95.5 107.5 9 £|2
o
10 10 10 175 295 415 — — — — 3 Z(E
D-A7LI/A80 £l
16 9.5 9.5 18 30 42 48 72 90 102 35 | (5|55
10 — 7.5 15 27 39 — — — — 05 | |Z|EQ
D-A79W glem
16 — 7 15.5 275 39.5 455 69.5 87.5 99.5 1 I ES)
= In the actual setting, adjust them after confirming the auto switch performance. 2 -
X
[5]
=B
°
G| m
gl O
]
=
=
=
[0}
e
=
<C
g
S
F=]
[<5]
8
=
104

O
2



Series CJ2

Auto Switch Proper Mounting Position (Detection at stroke end)
and Its Mounting Height/Single Acting, Spring Extend Type (T)

Auto Switch Proper Mounting Position: Spring Extend Type (T)
- Standard Type (CDJ2 OOO-O0TZ)
- Non-rotating Rod Type (CDJ2K OOO-TZ)
- Direct Mount Type (CDJ2R OOO-0OTZ)

- Direct Mount, Non-rotating Rod Type (CDJ2RK O0OO-0TZ)

[mm]

) Bore B dimensions
Auto switch model . A
size 5to 9 st 10to15st | 16to30st | 31to45st | 46to 60 st | 61 to 75 st | 76 to 100 st | 101 to 125 st | 126 to 150 st
D-MOL] 6 55 — 12 21 25 39 — — — —
D-MOCOW/MOIWY | 10 6 — 13 20.5 325 44.5 — _ — —
D-M9OA/MOTIAV 16 6.5 — 12.5 21 33 45 51 75 93 105
6 55 12 12 21 25 39 — — — —
D-M9OIV 10 6 13 13 20.5 325 44.5 — — — —
16 6.5 125 125 21 33 45 51 75 93 105
6 1.5 — 8 17 21 35 — — — —
£| D-A9D 10 2 — 9 16.5 285 405 — — — —
3 16 2.5 — 8.5 17 29 41 47 71 89 101
E 6 | 15 8 8 17 21 35 — — — —
§ D-A91V 10 2 9 9 16.5 285 405 — — — —
16 2.5 85 8.5 17 29 41 47 71 89 101
D-H7O/H7C 6 1 — 75 16.5 20.5 345 — — — —
D-H7OW/H7BA 10 1.5 — 8.5 16 28 40 — — — —
D-H7NF 16 2 — 8 16.5 285 405 465 70.5 88.5 100.5
D-C701/C80 6 2 — 8.5 17.5 21.5 35.5 — — — —
D-C73C 10 2.5 — 9.5 17 29 41 — — — —
D-C80C 16 3 — 9 17.5 29.5 415 475 715 89.5 101.5
D-M9O 10 45 — 115 19 31 43 — — — —
D-MOCIW/MOOWV
D-M9LCIA/MOTIAV 16 5 — 11 19.5 315 435 495 735 915 103.5
10 45 115 115 19 31 43 — — — —
D-M9C1V
16 5 11 11 19.5 315 435 495 735 915 103.5
10 05 — 75 15 27 39 — — — —
D-A90]
16 1 — 7 15.5 275 39.5 455 69.5 87.5 99.5
10 0.5 7.5 75 15 27 39 — — — —
D-A9C1V
16 1 7 7 15.5 275 395 455 69.5 875 99.5
(=)
£| D-F70/F70V 10 | 35 105 10.5 18 30 42 — — — —
5| D-3791379C
€| D-A70H/A80H
=| D-A73C/A80C 16 4 10 10 18.5 305 425 485 725 90.5 102.5
[
D-F70O0W/J79W 10 35 — 10.5 18 30 42 — — — —
D-F7OWV/F79F
D-F7BA/F7BAV 16 4 — 10 18.5 305 425 485 725 90.5 102.5
10 8.5 — 155 23 35 47 — — — —
D-F7NT
16 9 — 15 235 355 475 535 775 95.5 107.5
10 3 10 10 17.5 29.5 415 — — — —
D-A71/A80
16 35 9.5 9.5 18 30 42 48 72 90 102
10 0.5 — 75 15 27 39 — — — —
D-A79W
16 1 — 7 15.5 275 39.5 455 69.5 875 99.5

#: In the actual setting, adjust them after confirming the auto switch performance.

105



Minimum Stroke for Auto Switch Mounting

Auto Switch Mounting

Series CJ2

Double Acting, Single Rod
CJ2

=1: Auto switch mounting

*3: When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.

x4 \When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.
However, the minimum even number is 4. So, 4 is used for the calculation when “n”is 1 to 3.

+5: The dimension stated in () shows the minimum mountable stroke when the auto switch does not project from
the end face of the cylinder body and the lead wire bending space is not hindered.

Auto switch model

With 2 auto switches

Different surfaces™*!

Same surface™!

Auto switch
D-M9O(V
D-M9OOW(V)
D-M9OA(V)

The proper auto switch mounting position is 5 . 5 mm inward
from the switch holder edge. The above A and B indicate values
for band mounting in the table of page 103.

The auto switch is mounted by slightly displacing it in a direction
(cylinder tube circumferential exterior) so that the auto switch
and lead wire do not interfere with each other.

D-M9C/MOCIW/M9LIA

Less than 20 stroke™*?

Less than 55 stroke™*?

D-A90

Less than 50 stroke™*?

#2: Minimum stroke for auto switch mounting in styles other than those mentioned in *1.

ZSNC

106

[mm]
itch Number of auto switches
A;t(;)ui\;\i/::g Auto switch model With 1 bc With 2 pcs. With n pcs. (n: Number of auto switches)
pe- Different surfaces| Same surface Different surfaces Same surface B
D-M9O - o/
D-MOOIW 10 15%1 - 15+ 35(>2) 45+15 (n-2) 1 H %
D-M9TA _ v (n=2,3,4,5..) g5
D-A90] (n=24,6..) 1 @)
_2 E
SRV 5 15+ 35 15+35(0 =2 > 35+ 25 (n-2) =
(N=2,4,6..)% (n=2,3,4,5.) 2
EN
D-MOCWV 10 - a 15+ 35(”;22) 35+ 25 (n—2) 53
D-M9OJAV (h=2.4,6.)% (n=2,3,4,5..) £
n_2 S
Band mounting | p-ag9rv 5 10 35 10 + 35(7) 35+25(n-2) B
(n=2,4,6..)"3 (n=2,34,5..) v
n-2) 2N
DH7BA 10 15 60 15 + 450052 60+225(-2) 23
D-H7NF (=2, 4,63 (n=2,3,4,5.) EE
_ g
D-C70 10 15 50 15 + 40(“72) 50 +20 (N - 2) EE
D-C80 (h=2.4,6..)% (n=2,3,4,5.) £ gﬁ
,4,6... 3|2
A 10 5 o 15+ 504“5—2) 50 + 27.5 (n—2) 3
D-C80C (n =2, 4, 6)*3 (n =2, 3,4, 5) L E:ﬂ
10 + 10 (n—2) HE
D-M9IV 5 — 5 — (N=4,6..) BN
10 +15(N-2) SleN
D-A901V 5 — 10 — (=46 )% E %8
D-M90 5 . . 15+ 15 (n-2) Ol2
D-A90] 100) 10 (n=4,6..)" 8=
D-MOOWV 15+ 15 (n—2) &ls
D-M9TIAV 10 — 15 - (=4 6..)" |z E
_ = Ea
D-M9CIW 15 (10)*S — 15 — 2(?1 * }15 éf‘__)*%) HE 3
‘ \ 20+15(n-2 e
D-M9CIA 15 (10)*5 — 20 (15)*5 — Py é...)*“) SE
D-F70 5 . 5 B 15 +15 (n—2) {14
Rail mounting | D-J79 (n=4,6..)* g,(_\l)
D-F7O0V 5 . 5 . 10+10 (n-2) £ O
D-J79C (n=4,6..) 3z
D-F7OW/JI79W 10 _ 15 B 15+ 20 (n - 2) S(E
D-F7BA/F79F/F7NT (n=4,6..) £lz ¥
D-F70WV 10 _ 15 B 10 +15 (n-2) 2GS
D-F7BAV (n=4,6.) 7238
D-A7C/A80 2
D-A7H/A80H 5 — 10 _ 1(?] * }10 én ;*%) £
D-A73C/A80C =40 B
D-A70H 5 — 10 — 15+ 15 (n-2) g:é
D-A80H (n=4,6..)" B
10 +15(n-2) =M
D-A79W 10 — 15 — (=4 6 )% g O

Single Acting, Spring Retum/Exend

| CJ2RK

CBJ2

(With End Lock |[ Direct Mount, Non-rotating Rod |[

=
=
=
[0}
=]
S
<C

Made to Order




Series CJ2

Operating Range

Auto Switch Mounting Brackets/Part No.

107

[mm]
Auto switch model Bore size Auto ) Bore size [mm]
6 | 10 | 16 switch | Auto switch model
D-MOC/MOCIV mounting 6 10 16
o D-MOOW/M9OIWV 2 25| 3 D-M9C]
= D-M9JA/MOIAV D-M9CV
3 |D-A9] 45| 6 7 D-MoOOW BJ6-006 BJ6-010 BJ6-016
_E D-H7O/H70O0W 3 4 4 D-M9OWV (Asetofa,b,d,f) (Asetofa,b,c,d) (Asetofa,b,c,d)
S |D-H7BA/H7NF D-A90
@ D-H7C 5 |8 |09 D-A90IV
D-C70/C80/C73C/C80C | 6 7 7 D-M9JA *2 BJ6-006S BJ6-010S BJ6-016S
D-MOLCI/MOCIV D-M9[JAV *2 (Asetofa, b, d, g) (Asetofa, b, d, e) (Asetofa, b, d, e)
D-MoOW/M9OWV — | 3 35 - -
D-MIAMOTAY carg | [ breckel (Resi) Y
o|D-A9CI/A9CIV — | 6 | 65 mounting e
g . f | Transparent blue (Nylon)*! ]
‘g D-F70/379/F70OW/J79W e | White (PBT) /
e D-F7O0V/IFTOWV/IF79F |5 5 g|Black (PBT)
— |D-J79C/F7BA/F7TBAV
& |D-F7NT d
Switch holder
DATCUABOIATHIABOH | _ | 5 | ¢ ’
2
D-A79W — |11 |13 ‘Eﬁ a
#: Values which include hysteresis are for guideline [ Auto switch mounting band |
purposes only, they are not a guarantee
(assuming approximately +30 % dispersion) and D-H7O/H7OW
may change substantially depending on the Band | D-H7BA/H7NF BJ2-006 BJ2-010 BJ2-016
ambient environment. mounting| D-C7C1/C80 (A set of band and (A set of band and (A set of band and
D-C73C/C80C screw) screw) screw)
BQ2-012 (S) BQ2-012 (S)
(A set of a and b) (A set of a and b)
a
D-MoO] Set screw
D-MoC1V mounting bracket (Accessory)
4a | D-MOOW ? g /
e || DR _ BQ2-012 P>,
mounting B-mggﬁv“ BQ2-0125 ™ '
- [} "/
D-A9D] \/ b
D-A9[1V Auto switch
mounting screw
ut (Cylinder accessory)

x1: Since the switch bracket (made from nylon) are affected in an environment where alcohol,
chloroform, methylamines, hydrochloric acid or sulfuric acid is splashed over, so it cannot be
used. Please contact SMC regarding other chemicals.
x2: As the indicator LED is projected from the auto switch unit, indicator LED may be damaged if
the switch bracket is fixed on the indicator LED.
*3: When the cylinder is shipped, the auto switch mounting bracket and the auto switch will be

included.
w4

Band Mounting Brackets Set Part No.

For D-M9UA(V), order the BQ2-012S, which uses stainless steel mounting screws.

Set part no. Contents 5 EGiE s::-zg [mm] =
BI2-000 | o Swich mouniing serew () BJ2-006 | BJ2-010 | BJ2-016
R e | .
T . | | _
BJ5-1 : gx:ig ﬁ;zilgl:ret( é‘)l’ransparent/Nylon) (c)** . ° °
BJ5-2 : gx';zu Eggl:t(gl;ransparent blue/Nylon) (f)** ° _ B

[Stainless Steel Mounting Screw]
The following stainless steel mounting screw kit is available. Use it in accordance with the operating
environment. (Since the auto switch mounting bracket is not included, order it separately.)

BBA4: For D-C7/C8/H7 types

«5: Refer to the Auto Switch Guide on www.smc.eu for details on the BBA4.

When the D-H7BA type auto switch is shipped independently, the BBA4 is attached.

ZSNC



Auto Switch Mounting

Series CJ2

e e e T E e

Other than the applicable auto switches listed in “How to Order”, the following auto switches are mountable.
Refer to the Auto Switch Guide on www.smc.eu for the detailed specifications.

O
2

#: With pre-wired connector is also available for solid state auto switches. For details, refer to the Auto Switch Guide on www.smc.eu .
= Normally closed (NC = b contact) solid state auto switches (D-FOG/F9H) are also available. For details, refer Auto Switch Guide on www.smc.eu.

|
|
| ) ) Applicable
I Type Mounting Model Electrical entry Features A -
| . D-H7A1/H7A2/H7B —
1 Band mounting - ——— — @6to D16
D-H7NW/H7PW/H7BW Grommet Diagnostic indication (2-colour indicator)
: Sold|state D-F79/F7P/1J79 (In-line) —
. ) D-F79W/F7PW/J79W Diagnostic indication (2-colour indicator)
1 Rail mounting @10, D 16
I D-F7NV/F7PVIF7BV Grommet —
1 D-F7NWV/F7BWV (Perpendicular) | Diagnostic indication (2-colour indicator)
1 ) D-C73/C76 —
Band mounting - — - @ 6toD16
| D-C80 Grommet Without indicator light
1 - D-A73H/A76H (In-line) _
1 . . D-A80H Without indicator light
1 Rail mounting @10, J 16
D-A73 Grommet —
: D-A80 (Perpendicular) Without indicator light
|

b o o o o e e em o em e e em e e www

108

Standard

Double Acting, Double Rod || Double Acting, Single Rod

Non-rotating Rod 1f
Single Acting, Spring Return/Extend | | Double Acting, Single Rod rnge/\clngSpngelum(Exlend

Built-in Speed Controller  |[
Double Acting, Double Rod

U

Direct Mount

CJ2

cJ2w

CJ2

CJ2K

Double Acting, Single Rod
CJ2z

CJ2zW

CJ2R

Double Acting, Single Rod

Single Acting, Spring Retum/Extend
CJ2R

Double Acting, Single Rod
CJ2RK

Single Acting, Spring Retum/Exend

| CJ2RK

CBJ2

(With End Lock |[ Direct Mount, Non-rotating Rod |[

=
=
=
[0}
=]
S
<C

Made to Order




Prior to Use
Auto Switch Connection and Example

Sink Input Specifi cations

Source Input Specifi cations

3-wire, NPN

Auto switch

(PLC internal circuit)

3-wire, PNP

Auto switch

(PLC internal circuit)

Connect according to the applicable PLC input specifications, as the connection method will vary depending on the PLC input specifications.

Example of AND (Series) and OR (Parallel) Connection

+ When using solid state auto switches, ensure the application is set up so the signals for the first 50 ms are invalid.

3-wire AND connection for NPN output

(Using relays)

Auto switch 1

Auto switch 2

3-wire AND connection for PNP output

(Using relays)

Auto switch 2

2-wire AND connection

Brown
O

Auto switch 2

When two auto switches are
connected in series, a load
may malfunction because
the load voltage will decline
when in the ON state.

The indicator lights will light
up when both of the auto
switches are in the ON state.
Auto switches with load
voltage less than 2 0 V
cannot be used.

Load voltage at ON = Power supply voltage —
Residual voltage x 2 pcs.
=24V -4V x2pcs.

=16V
Example: Power supply is 24 V DC

Internal voltage drop in auto switch is 4 V.

109

(Performed with auto switches only)

Brown

Auto switch 1

O
o[

(Performed with auto switches only)
Bron

2-wire OR connection

Brown
o

Auto switch 2

(Solid state)

When two auto
switches are
connected in parallel,
malfunction may occur
because the load
voltage will increase
when in the OFF state.

Load voltage at OFF = Leakage current x 2 pcs. X
Load impedance
=1mAx2pcs. x3kQ

=6V

Example: Load impedance is 3 kQ.

Leakage current from auto switch is 1 mA.

SvVC

O

3-wire OR connection for NPN output

Load

(Reed)

Because there is no
current leakage, the load
voltage will not increase
when turned OFF.
However, depending on
the number of auto
switches in the ON state,
the indicator lights may
sometimes grow dim or
not light up, due to the
dispersion and reduction
of the current flowing to
the auto switches.



[4ne MZLD

poy aifuis ‘Busay ajgnog || poy aignog ‘Bunay ajgnog

[48e;

puspauiniay Buydg ‘unay afuss || poy ajbuis ‘Bunoy 9jgnoq

ACCO pl4Ne)

2200 MZZ2CD

d2ro d2ro

puapauniay Buuds ‘Guoy aus | | poy 91Buis ‘Bunay sjgnog | | poy sjgnog ‘Bunay sjgnog || poy ajbuis ‘Buioy sjgnoq | | puangumay Buds Buioy abug

MO | MH2LO ¢rdo

oy 3buis “Bunay 9jgnoq || puspauuniay Buuds ‘Guy afus

L

prepuels

J

poy bunelol-uoN

JL

18]|01)U0D paads Urling

JU

1UNOIA 19310

| (PO Buielol-UON JUNON 308.1d | (4207 PUT Ui |

Yaums ony

13pIQ 0} 3Pl

110



Series CJ?2
Simple Specials/Made to Order

Please contact SMC for detailed specifications, delivery and prices.

o
e

The following special specifications can be ordered as a simplified Made-to-Order.
There is a specification sheet available on paper and CD-ROM. Please contact your SMC sales representatives if necessary.

B Simple Specials

CJ2 CJ2K
. (Standard type) (Non-rotating rod type)
Specifi cations Abppllca_ble Double acting Single acting Double acting Single acting
RIESIZE Single Double Single rod Single rod Single Single rod Single rod
rod rod (spring return) | (spring extend) rod (spring return) |(spring extend)
XA0,1,10,11 | Change of rod end shape I | @ 6to D16 [ ) () () () () ) ()
B Made to Order
CJ2 CJ2K
Applicable (Standard type) (Non-rotating rod type)
Symbol Specifi cations bpp : Double acting Single acting Double acting Single acting
RIELS e Single Double Single rod Single rod Single Single rod Single rod
rod rod (spring return) | (spring extend) rod (spring return) |(spring extend)

| Heat resistant cylinder (-10 to 150 °C) | @6t0D 16 [ ) @

| Cold resistant cylinder (-40to 70  °C) | @6t0D 16 [ ) @

| Low speed cylinder (10 to 50 mm/s) I | J6t0od 16 [ )

-XB13 | Low speed cylinder (5 to 50 mm/s) | z6 [ )
| Special port position | d6to D16 [ ) )
| Adjustable stroke cylinder/Adjustable extension type | 10,916 [ )
| Adjustable stroke cylinder/Adjustable retraction type | @10, D 16 [ ) )

-XC10 | Dual stroke cylinder/Double rod type I | 10,016 [ ) )

-XC11 | Dual stroke cylinder/Single rod type | 10,0 16 [ )

-XC22 | Fluororubber seal | @ 6to D16 [ ] (] ([ ] ([ ] ()

-XC51 | With hose nipple | P 6t0D 16 [ ] () (] (] () o ()
-XC85 | Grease for food processing equipment | @10, @ 16 [ ) @ o o o o )
BV | rFe grease H 210016 ® ® ® ® ® ® ®
-X773 | Short pitch mounting I | 26 o

111

N



Simple Specials/Made to Order

CJ2z
(Built-in speed controller type)

CJ2R

(Direct mount type)

CJ2RK

(Direct mount, Non-rotating rod type)

Double acting Double acting Single acting Double acting Single acting
: . Single rod Single rod : Single rod Single rod
Single rod | Double rod Single rod (spring return) |(spring extend) Single rod (spring return) |(spring extend)
L o L o o L o o
CJ2z CJ2R CJ2RK

(Built-in speed controller type)

(Direct mount type)

(Direct mount, Non-rotating rod type)

Double acting Double acting Single acting Double acting Single acting
: : Single rod Single rod : Single rod Single rod
Single rod | Double rod Single rod (spring return) |(spring extend) Single rod (spring return) |(spring extend)
L ®
o
o o L o o L o ®
o ® L o ® o o ®
L ® L o ® L o ®

O
2

Symbol

-KA0, 1,10, 11

Symbol

-XB6
-XB7
-XB9
-XB13
-XC3
-XC8
-XC9
-XC10
-XC1
-XC2
-XC51
-XC85
-X446
X773

][]

Series CJ2

Page

113

Page

114

114

114

115

115

115

116

116

EEE00E

117

118

118

119

119

120

112

CJ2

cJ2w

Standard

nd | | Double Acting, Double Rod || Double Acting, Single Rod

CJ2

i

Sin
CJ2K [

=
3
-4
@
>
=
[}
=
=
=
<
2
=
=
3
=]

k-]
o)
o
o
£
IS
g
o
T
o
5]
P4

CJ2K

1(
Sing

Double Acting, Single Rod
CJ2z

Built-in Speed Controller
Double Acting, Double Rod
CJ2ZW

U

CJ2R

Double Acting, Single Rod

d

Direct Mount

CJ2R

&
=
3
x
@
>
=
[}
(=2
=
k=1
<
-
=
=
3
=]

X
o
N
—
)

1 Retum/Extend

CJ2RK

CBJ2

(With End Lock |[ Direct Mount, Non-rotating Rod |[

Auto Switch

Made to Order



Series CJ2
Simple Specials

These changes are dealt with Simple Specials System.

Change of Rod End Shape

Applicable Series

Symbol

-XAOQ, 1, 10, 11

Action Symbol for change NG
of rod end shape
cI2 Double acting, Single rod XAO0, 1, 10, 11 B
Standard type Single acting (Spring return/extend) XAO0, 1, 10, 11 #1
CJ2W Double acting, Double rod XAO0, 1, 10, 11
) Double acting, Single rod XA0, 1, 10, 11 1
Non-rotating rod type CJ2K - - -
Single acting (Spring return/extend) XAO, 1, 10, 11 #1
o CJ2z Double acting, Single rod XAO0, 1, 10, 11 #1
Built-in speed controller type -
CJ2ZW | Double acting, Double rod XAO0, 1, 10, 11 %1
. Double acting, Single rod XAO0, 1, 10, 11 %2
Direct mount type CJ2RA - - -
Single acting (Spring return/extend) XAOQ, 1,10, 11 #2
) ) Double acting, Single rod XAO0, 1, 10, 11 #2
Direct mount, Non-rotating rod type CJ2RK - - -
Single acting (Spring return/extend) XA0, 1, 10, 11 #2

=1: Except rod end bracket and pivot bracket

#2: Except rod end bracket

Precautions

1. SMC will make appropriate arrangements if no dimension, tolerance, or

finish instructions are given in the diagram.

2. Standard dimensions marked with “+” will be as follows to the rod

D<6->D-1mm,6<D<25->D-2mm,D>25->D—-4mm

3. In the case of double rod type and single acting retraction type, enter

diameter (D). Enter any special dimension you desire.

the dimensions when the rod is retracted.

Symbol: AQ

Symbol: Al

Symbol: A10

30° — R sphere

Symbol: A11

113




Series CJ2

Made to Order

= Mounting auto switch is impossible.
#: Piston speed is ranged from 50 to 500 mm/s.

plade
Please contact SMC for detailed dimensions, specifications and lead times. _
e
Symbol ;;
Heat Resistant Cylinder (-10 to 150 °C) =
o2
Air cylinder which changed the seal material and grease, so that it could be used even at higher temperature up to 150 from -10 °C. 5 §§
cle
o] B
Applicable Series Specifi cations 7150
Description | Model Action Note Ambient temperature range -10°Cto 150 °C ;
cI2 Double acting, Except with air cushion Seals material Fluororubber §
Single rod and auto switch Grease Heat resistant grease %g
Standard type - — - 20
Double acting, Except with air cushion ‘ Specifi cations other than above and external dimensions Same as standard type | £
CcJ2w . ]
Double rod and auto switch &
= Operate without lubrication from a pneumatic system lubricator. AWarning BE
*: Please contact SMC for details on the maintenance intervals for this P ti S\
cylinder, which differ from those of the standard cylinder. recautons - ‘;.’,g
*: In principle, it is impossible to make built-in magnet type and the one with Be aware that smoking cigarettes etc. after your hands have come into |£|2 ()
auto switch. But, as for the one with auto switch, and the heat resistant contact with the grease used in this cylinder can create a gas that is | 2|2
cylinder with heat resistant auto switch, please contact SMC. hazardous to humans. b
#: Piston speed is ranged from 50 to 500 mm/s. § §
5 x
How to Order Z|ES
£0
Standard model no. = XB6 =
Heat resistant cylinder l %
55N
Symbol I D
. . cl=
Cold Resistant Cylinder (-40 to 70 °C) 82
e
[<5]
Air cylinder which changed the seal material and grease, so that it could be used even at lower temperature down to -40 °C. :.). % ;
£|2
Applicable Series Specifi cations Z g“
Description | Model Action Note Ambient temperature range -40°Cto70°C @ % 8
cI2 Double acting, | Except with air cushion and auto switch, Seals material Low nitrile rubber — Z
Single rod rod end bracket, pivot bracket Grease Cold resistant grease &
Standard type - =l
CI2W Double acting, Except with air cushion Auto switch Not mountable 2N
Double rod and auto switch Dimensions Same as standard type = 5 8
+: Operate without lubrication from a pneumatic system lubricator. l Additional specifi cations Same as standard type | é g
= Use dry air which is suitable for heatless air dryer, etc. not to cause the 5(=
moisture to be frozen. AW . p ;§
=: Please contact SMC for details on the maintenance intervals for this arnmg = %%
cylinder, which differ from those of the standard cylinder. Precautions )
£0

How to Order

Standard model no.

- XB7

Cold resistant cylinder l

Low Speed Cylinder (10 to 50 mm/s)

Even if driving at lower speeds 10 to 50 mm/s, there would be no stick-slip phenomenon and it can run smoothly.

Applicable Series

Be aware that smoking cigarettes etc. after your hands have come into
contact with the grease used in this cylinder can create a gas that is

hazardous to humans.

Specifi cations

Symbol

How to Order

Standard model no.

= XB9

Low speed cylinder l

O

Description | Model Action Note Piston speed 10 to 50 mm/s
i Dimensions Same as standard type
Standard type| CJ2 Dc;;iglelea;:(t)lgg, Except with air cushion P
9 ‘ Additional specifi cations Same as standard type |

+: Operate without lubrication from a pneumatic system lubricator.

AWarning
Precautions

Be aware that smoking cigarettes etc. after your hands have come into
contact with the grease used in this cylinder can create a gas that is

hazardous to humans.

SvVC

114

(With End Lock |[ Direct Mount, Non-rotating Rod |[

Double Acting, Single Rod
CJ2RK

Single Acting, Spring Retum/Exend

| CJ2RK

CBJ2

Auto Switch

Made to Order



Series CJ2

Symbol
Low Speed Cylinder (5 to 50 mm/s) -XB13

Even if driving at lower speeds 5 to 50 mm/s, there would be no stick-slip phenomenon and it can run smoothly.

Applicable Series Specifi cations
Description | Model Action Note Piston speed 5to 50 mm/s
Standard type| CJ2 | Double acting, Single rod @ 6 only Dimensions Same as standard type
«: Operate without lubrication from a pneumatic system lubricator. l Additional specifications Same as standard type ‘
=: For the speed adjustment, use speed controllers for controlling at lower
speeds. (AS-FM/AS-M series) Awarning
How to Order Precautions
| Standard model no. |_x513 Be aware that smoking cigarettes etc. after your hands have come into
contact with the grease used in this cylinder can create a gas that is
Low speed cylinder l hazardous to humans.

Symbol
Special Port Location

Compared with the standard type, a cylinder which changes the connection port location of rod/head cover.

Applicable Series Specifi cations: Same as standard type
Description | Model Action Note

Port Location
Corresponding symbol of mounting bracket (Positional relationships)

Standard type| CJ2 Double acting, | Except with rail mounting type

Single rod auto switches, with air cushion
. . . : . Port
N%n—rotatlng CI2K DoulbleI acn(r;g, Except with rail m?]untlng type A #: Viewed from the rod side, the ports are
rod type Single ro auto switches rendered A, B, C, and D, in the clockwise

direction.
How to Order

Standard model no. |- XC3|A E
Special port location l

<Position relation between clevis and port>

#. Viewed from the rod side, with the clevis
positioned as shown in the diagram, the
ports are rendered A, B, C, and D, in the
clockwise direction.

Rod port location viewed from the rod side @
*: For port location, refer to the diagrams onthe  Head port location viewed

right and show the symbols of A, B, C and D. from the rod side
Symbol
E Adjustable Stroke Cylinder/Adjustable Extension Type
It adjusts the extending stroke by the stroke adjustable mechanism equipped in the head side. (After the stroke is adjusted, with cushion on both sides is altered to single-sided, with cushion.)
Applicable Series Specifi cations
Description | Model Action Note Stroke adjustment symbol —
Except with air cushion, Stroke adjustment range [mm] 0to 15

Double acting,

Standard type| CJ2 double-side bossed, double clevis,

i Additional specifi cations Same as standard type
Single rod double foot, head flange. l P ‘ yp
Warnin
How to Order A . 9
Precautions
Standard model no. |- XC8

1. When the cylinder is operating, if something gets caught between the
stopper bracket for adjusting the stroke and the cylinder body, it could
cause bodily injury or damage the peripheral equipment. Therefore, take
preventive measures as necessary, such as installing a protective cover.

Adjustable stroke cylinder/ l
Adjustable extension type

2. To adjust the stroke, make sure to secure the wrench flats of the stopper
bracket by a wrench etc. before loosening the lock nut. If the lock nut is
loosened without securing the stopper bracket, be aware that the area
that joins the load to the piston rod or the area in which the piston rod is
joined with the load side and the stopper bracket side could loosen first. It
may cause an accident or malfunction.

Stroke adjustable mechanism

Dimensions (Dimensions other than below are the same as standard type.)

i i [mm]
. i, > . . - Bore size Applicable stroke| HA S 7
@4 10 15 to 150 37 49 114
20 16 15 to 200 37 50 115
S + Stroke HA + Stroke - - -
+: Dimensions except mentioned above are the same as
ZZ + 2 x Stroke standard type.

115

O
2



Made to Order Series CJ 2

Symbol g
Adjustable Stroke Cylinder/Adjustable Retraction Type 53
g
The retracting stroke of the cylinder can be adjusted by the adjusting bolt. E
Applicable Series Specifi cations o g;
Description Model Action Note Stroke adjustment symbol — § ggt\l
Except double-side Stroke adjustment range [mm] Oto 15 &lz 8
Double acting, bossed, double — — - §
Standard type CcJ2 Single rod clevis, double foot, ‘ Additional specifi cations | Same as standard type | =
head flange. . z
Except double-side A CaU.tIOI"I g:g
Non-rotating rod type CI2K Doqble acting, bqssed, double Precautions %;o
Single rod clevis, double foot, . - - - . - s
head flange. 1. When air is supplied to the cylinder, if the stroke adjusting bolt is loosened [ |=
- in excess of the allowable stroke adjustment amount, be aware that the [ E
Direct mount type CI2R Doqble acting, ;troke adjusting bolt could fly out or air could pe discharged, which could By
Single rod injure personnel or damage the peripheral equipment. - 2N
Direct mount, CI2RK Double acting, 2. Ac_!jgst the stroke when the cy_/linder is not pressurised. . _ e % 8
Non-rotating rod type Single rod If it is adjusted in the pressurls_ed stat_e, the seal of the adjustment section oS
could become deformed, leading to air leakage. =2
o|E
How to Order , , 2 ™
DImensions  (pimensions other than below are the same as standard type.) Sli N
Standard model no. = XC9 Ew)
I BM =0
Adjustable stroke cylinder/ Adjusting bolt L&
Adjustable retraction type BE
RIS < NN
EEEH — 8N
€|2
ZZ + Stroke Max. 30 ol ©)
e T = E
Q
4B
o L iz
Bore size BM ZZ SEHY
Adjusting bolt 10 M5 x 0.8 74 = gg
m <<
16 M5 x 0.8 75 £0
= Dimensions except mentioned above are — =
the same as standard type. é’ﬂﬁ
E Dual Stroke Cylinder/Double Rod Type g20
o2
Two cylinders are constructed as one cylinder in a back-to-back configuration allowing the cylinder stroke to be controlled in three steps. § =
Applicable Series Specifi cations e g&,ﬁ
Description | Model Action Note ‘ Maximum manufacturable stroke [mm] | 300 (Maximum 150 on one side) | "%8
Standard Double acting, | Except with air cushion, rod end | Additional specifi cations | Same as standard type | L&
CJ2 ; ] -
type Single rod bracket and pivot bracket o(E
3|&
Non-rotating Double acting, Except rod end bracket and @ §¥
CJ2K ' X o|& Y
rod type Single rod pivot bracket » £l
How to Order HE
z 2
CJ2 | Mounting Bore size [=| Stroke A |+ | StrokeB |Z = XC10 £l
. l sl
Dual stroke cylinder/Double rod type b «ig
°lZ0
. . alg
DIMEeNSIoNnS  (pimensions other than below are the same as standard type.) S
. [5]
| Function 18] o
B port D port C port A port 2 B
; N/ . ® oc o When air pressure is supplied to ports "7';:' O
| ol i e ) iise y @ and @, both strokes A and B retract.  |S
FL[@ D%@ A swoke A When air pressure is supplied to =
S + Stroke B NB S + Stroke A } } f— ports @ and @, A out strokes. $§_’.
Z + Stroke (A + B) )
o
>
(mm] StrokeB B @19 (A) When air pressure is supplied to <
— [ } ports @ and @, B out strokes.

Bore size NB | S Z
10 21 |36.5| 150 stokeB B OO A guoea  When air pressure is supplied to ports @
16 21 | 375 | 152 — — and @, both strokes A and B out strokes.

SvC 1o

Made to Order

O



Series CJ2

E Dual Stroke Cylinder/Single Rod Type

Two cylinders can be integrated by connecting them in line, and the cylinder stroke can be controlled in two stages in both directions.

Applicable Series

Description Model Action Note
Double acting, Except with
Standard type cJ2 Single rod air cushion

How to Order

Symbol
-XC11

Specifi cations: Same as standard type
+: Please contact SMC for each manufacturable stroke length.

CJ2 | Mounting H Bore size |—| Stroke A |+ | Stroke B — A | Z —|Pivot bracket HRod end bracket |— XC11

/\Caution
Precautions

1. Do not supply air until the cylinder is fixed.

2. If air is supplied without securing the cylinder, the cylinder could lurch,
posing the risk of bodily injury or damage to the peripheral equipment.

Dimensions (Dimensions other than below are the same as standard type.)

Intermediate cover

B port C port

A port

,-

SB + Stroke B

SA + Stroke A

Z + Stroke (A + B)

[mm]
Bore size SA SB Z
10 315 53 112.5
16 33 53 114

+: Dimensions except mentioned above
are the same as standard type.

#: When mounting an auto switch at the extended piston rod A side, the
following auto switches interfere with the intermediate cover. In this
case, please mount on the stroke B side. Please be aware that the auto
switch defects and temporarily turns ON/OFF when passing the

intermediate position of the B stroke.

Solid state auto switch: D-H7, D-H7C, D-H7CJW, D-H7NF, D-H7BA
Reed auto switch: D-C70, D-C80, D-C73C, D-C80C, D-A80, D-A9(J,

D-A901V, D-A79W, D-A73
#: The maximum manufacturable stroke of this cylinder is 150 mm for both

A and B.

117

O

Dual stroke cylinder/Single rod type

] Functional description of dual stroke cylinder

B C A
[ | | |
| |
{
Stroke B Stroke A
o . ®
| |
[ 1 I ‘
[ 1 |
Stroke A
(C}
Stroke B - A B | ]
|
1 I ‘
i | |
6 C A
H | |
| |
{
Stroke B Stroke A

1) Initial state
(0 stroke position)

2) 1st stage
(Stroke A operation)
When the air pressure
is supplied from the
@ port, the rod oper-
ates the stroke A.

3) 2nd stage
(Stroke B-A operation)
Following the 1st stage,
when the air pressure
is supplied from the @
port, the rod operates
the stroke B-A.

4) Cylinder retraction
When the air pressure
is supplied from the
® port, the rod re-
tracts completely.

Stroke A or Stroke B operation can be made individually.

B C A
| | 1‘
Stroke B Stroke A
(A
Stroke A l? ﬂ: }
[ 1 I ‘
[ 1 |
B C A
| | l‘
Stroke B Stroke A
(C)
Stroke B B A

Stroke A operation

1) Initial state
(O stroke position)

2) Operation
When the air pressure
is supplied from the
@ port, the rod oper-
ates the stroke A.

Stroke B operation

1) Initial state
(0 stroke position)

2) Operation
When the air pressure
is supplied from the
@ port, the rod oper-
ates the stroke B.

] Double output is possible.

B C A
| | 1‘
Stroke B Stroke A

. e o
| |

1) Initial state
(0 stroke position)

2) Double output
When the air pressure is
supplied to the @ and @
ports at the same time, the
double output can be obtained
in the stroke A range.



Fluororubber Seal

Applicable Series

Made to Order Series CJ 2

Specifi cations

Symbol

Double Acting, Single Rod
CJ2

Description Model Action Note Seal material Fluororubber 2 ;
o|2
Double acting, Single rod | Except with air cushion ) With auto switch*!: -10 °C to 60 °C . c| 3
CcJ2 Ambient temperature range - ) o +~ (No freezin Ol
Standard type Single acting (Spring return/extend) P 9 |Without auto switch: -10 °C to 70 °C ¢ 9 8|5 Q
CJ2W | Double acting, Double rod | Except with air cushion - e S
- Specif cations other Same as standard type 3
i\log'mtatmg rod CJ2K | Double acting, Single rod than above and extemal dimensions ?
yp - - +1: Please contact SMC, as the type of chemical and the operating § N
Direct mount type | CJ2R | Double acting, Single rod temperature may not allow the use of this product. £
#2: Cylinders with auto switches can also be produced; however, auto go
How to Order switch related parts (auto switch units, mounting brackets, built-in £
magnets) are the same as standard products. — ‘:—
Standard model no. = XC22 Before using these, please contact SMC regarding their suitability for the | [
l operating environment. gx
Fluororubber seal 3 é’g
48]
Symbol 2|2
. . T=
Wlth Hose Nipple -XC51 BEE
c|S ¥
o|&
The one with hose nipple attached in order to save time for assembly at the time of shipment. z g,‘_\')
. £0
Applicable Series Specifi cations: Same as standard type =
Description Model Action Note BE
cjp | Double acting, Single rod Applicable Hose Nipple Type 5 %N
Standard type Single acting (Spring return/extend) Symbol Applicable bore size [mm]|  Function  |Hose nipple part no. g g —
CJ2W | Double acting, Double rod H4 @ 4/2.5 With a fixed orifice CJ-5H-4 i E O
Non-rotating rod | 1, Double acting, Single rod H6 @ 6/4 (@08) CJ-5H-6 § Z
type Single acting (Spring retum/extend) MH4 @ 4/2.5 Without fixed M-5H-4 & § ;
Built-in speed CJ2Z | Double acting, Single rod MH6 @ 6/4 orifice M-5H-6 £EN
controller type | CJ2ZW | Double acting, Double rod HE Y
Direct mount type | CJ2R D.OUb|e. acting, Single rod Dimensions  (pimensions other than below are the same as standard type.) L g O
Single acting (Spring return/extend) (=
Direct mount, CIZRK Double acting, Single rod Hose nipple Width across flats 8(7) =g
Non-rotating rod type Single acting (Spring return/extend) é’.‘—\l,
223
How to Order m 3 ] R =G
3]
Standard model no. |- XC51 |H4| g

With hose nipple l

= The above figure shows the @ 6/4 hose nipple mounting dimensions.
The dimensions in () show those for the @ 4/2.5 hose nipple.

Hose nipple type

H4 @ 4/2.5 with restrictor

H6 @ 6/4 with restrictor
MH4 | @ 4/2.5 without restrictor
MHG6 | @ 6/4 without restrictor

O

118

(With End Lock |[ Direct Mount, Non-rotating Rod |[

Single Acting, Spring Return/Extend
CJ2R

Double Acting, Single Rod
CJ2RK

Single Acting, Spring Retum/Exend

| CJ2RK

CBJ2

Auto Switch

Made to Order



Series CJ2

Grease for Food Processing Equipment

Food grade grease (certified by NSF-H1) is used as lubricant.

Applicable Series

Symbol
-XC85

Specifi cations

Description Model Action Note
Double acting, Single rod

Ambient temperature With auto switch: -10 °C to 60 °C

range Without auto switch: -10 °C to 70 °C (No freezing)

Standard type ¢z Single acting (Spring return/extend) Seals material Nitrile rubber
CJ2W | Double acting, Double rod Grease Grease for food

Non-rotating rod CI2K Double acting, Single rod Auto switch Mountable

type Single acting (Spring return/extend) Dimensions Same as standard type

Built-in speed CJ2Z | Double acting, Single rod
controller type CJ2ZW | Double acting, Double rod
Double acting, Single rod

Direct mount type | CJ2R - - -
Single acting (Spring return/extend)

Direct mount, Double acting, Single rod

Non-rotating rod type

CJ2RK

Single acting (Spring return/extend)

How to Order
Standard model no.

= XC85

Grease for food processing equipment l

AWarning

Precautions

Be aware that smoking cigarettes etc. after your hands have come into
contact with the grease used in this cylinder can create a gas that is
hazardous to humans.

Not installable zone

Food zone::------ An environment where the raw materials and
materials of food products, semi-finished food
products and food products that make direct or
indirect contact in a normal processing process.

Splash zone:--:-- An area where a portion of food products accidentally
splash and stick under the intended operating
conditions. An environment where food products that
enter this area do not return to the food product contact
portion again, and are not used as food products.

| Installable zone

Non-food zone --Other environments including the food splash zone,
except for the food contact portions.

PTFE Grease
Applicable Series

Specifi cations other than above Same as standard type

Description Model Action Note

Double acting, Single rod
CJ2

Standard type Single acting (Spring return/extend)

CJ2W | Double acting, Double rod

- i Double acting, Single rod
Non-rotating rod CI2K 9 9

type Single acting (Spring return/extend)

Built-in speed CJ2Z | Double acting, Single rod

controller type CJ2ZW | Double acting, Double rod

Double acting, Single rod

Direct mount type | CJ2R

Single acting (Spring return/extend)

Direct mount,

Non-rotating rod type CI2RK

Double acting, Single rod

Single acting (Spring return/extend)

How to Order

Standard model no.

|- xa46

119

PTFE grease l

O

Food zone
Not installable

Splash zone
Not installable

Non-food zone
Installable

s

. Avoid using this product in the food zone. (Refer to the figure above.)

: When the product is used in an area of liquid splash, or a water resistant
function is required for the product, please consult with SMC.

: Operate without lubrication from a pneumatic system lubricator.

: Use the following grease pack for the maintenance work.
GR-H-010 (Grease: 10 g)

: Please contact SMC for details on the maintenance intervals for this
cylinder, which differ from those of the standard cylinder.

*

*

s

¥

Symbol
X446

Specifi cations: Same as standard type
Dimensions: Same as standard type

#: When grease is necessary for maintenance, grease pack is available,
please order it separately.
GR-F-005 (Grease: 5 g)

AWarning
Precautions

Be aware that smoking cigarettes etc. after your hands have come into
contact with the grease used in this cylinder can create a gas that is
hazardous to humans.

SvVC



Made to Order Series CJ 2

Symbol g
Short Pitch Mounting/Single Acting, Spring Return -X773 £3
Mounting pitch is shortened when cylinders are used in parallel. g
MW Changes rod cover and head cover dimensions to @ 7. :
M Shortens the full length with a head cover integrated with a barb fitting. - =
SR
S e gg
Application 320
Lol example =
P N
£
=0
L_JM // [ z
gx
A Directl ted with cylind 3|85
+: Directly mounted with cylinder . o|s
) mounting screws Verifi cation qf push = @)
button actuation for % S
mobile phones etc. o|E
5|5 x
: . I 2|z
Applicable Series Specifi cations 23
Description Model Action Note Bore size [mm] 6 g
Standard type CJ2 | Single acting (Spring return) Action Single acting, Spring return ( B
Operating pressure range 0.21t0 0.7 MPa 5 N
. " . 3 ‘é”(\]
How to Order Port S|ze. : With @ 4 barb flttlng (F(?r soft tube) ElEn
Connecting port location Head cover/Axial direction 8|z O
CJ2B6 —| Stroke SuU4z = X773 Stroke [mm] 5to 60 3 g
IShort pitch mounting/ Auto switch None if 2=
Single acting, spring return o §N
a[2™
£0

U

1
|
E
g
o
L
Double Acting, Single Rod
CJ2R

Dimensions

Direct Mount

Single Acting, Spring Retum/Extend
CJ2R

g Be suretousea@d 4 ord 2.5
°I urethane tube (TU0425) or -
g a soft nylon tube (TS0425). [mm] |3 % «
Stroke 5t0 15 |16 to 30|31 to 45 | 46 to 60 Dé, E:’n:
M3 x 0.5 Air exhaust port S 30.5 395 43.5 575 % gg
— <<
d)/\ VA 63.5 72.5 76.5 90.5 2120
HE
| . . _ Note S=
- : A 1. When mounting a cylinder, make sure that the |z gix
air exhaust port on the rod cover is not blocked. | 3[£
15 8 I8 2. When mounting a cylinder, apply thread locking % ;%;c\]
28 S + Stroke 5 adhesive on the threaded part and hold the |g _%”8
7 + Stroke external diameter of the rod cover with a needle- |5 g
nose pliers or regular pliers. ~
[5]
] BN
o ™
I o
gl O
S
=
S
=
7]
e
=
<C

Made to Order

SMC 120

O



Series CJ2

Al

Specifi ¢ Product Precautions

Be sure to read this before handling. Refer to the back cover for Safety Instructions. For
Actuator and Auto Switch Precautions, refer to “Handling Precautions for SMC Products”
and the Operation Manual on SMC website,

http://www.smc.eu

] Mounting

A Warning

1. Use within the specifi ed cylinder speed and
kinetic energy ranges.

Otherwise, cylinder and seal damage may occur.

2.Do not apply excessive lateral load to the
piston rod.
Easy checking method
Minimum operating pressure after the cylinder is mounted to
the equipment (MPa) = Minimum operating pressure of
cylinder (MPa) + {Load weight (kg) x Friction coefficient of
guide/Sectional area of cylinder (mm2)}
If smooth operation is confirmed within the above value, the
load on the cylinder is the resistance of the thrust only and it
can be judged as having no lateral load.

121

O

/A Caution

1. During installation, secure the cover on the
tightening side and tighten by applying an
appropriate tightening force to the retaining nut
or to the cover on the tightening side.

If the cover on the opposite side of the tightening side is secured
or tightened, the cover could rotate, leading to the deviation.

2. Tighten the retaining screws to an appropriate
tightening torque within the range given below.

@6:21t02.5N-m, J10:591t06.4 N-m
@ 16:10.8t0 11.8 N-m

3. To remove and install the retaining ring for the
knuckle pin or the clevis pin, use an appropriate
pair of pliers (tool for installing a type C
retaining ring). In particular, use a pair of ultra-
mini pliers for removing and installing the
retaining ring onthe @ 10 cylinder.

4.In the case of auto switch rail mounting type,
do not remove the rail that is mounted.
Because retaining screws extend into the
cylinder, this could lead to an air leak.

5. Please contact SMC when the stroke exceeds
100 mm for the axial foot mounting type.

<Precautions on the single acting cylinder>

1) Do not operate it in such a way that a load would be applied
during the retraction of the piston rod of the spring return style,
or during the extension of the piston rod of the spring extend
style. The spring that is built into the cylinder provides only
enough force to retract the piston rod. Thus, if a load is applied,
the piston rod will not be able to retract to the end of the stroke.

2) A breather hole is provided in the cover surface. Make sure not to
block this hole during installation, as this could lead to a malfunction.

<Precautions on the non-rotating cylinder>

1) Tighten the retaining screws to an appropriate tightening
torque within the range given below.
@ 10: 10.8t0 11.8 N-m, @ 16: 20 to 21 N-m

2) Do not operate it in such a way that rotational torque would be
applied to the piston rod. If rotational torque is applied, the
non-rotating guide will become deformed, thus affecting the
non-rotating accuracy.

2 10
0.02

@ 16
0.04

Allowable rotational torque [N-m]

3) To screw a bracket onto the threaded portion at the tip of the
piston rod, make sure to retract the piston rod entirely, and
place a wrench over the flat portion of the rod that protrudes.
To tighten, take precautions to prevent the tightening torque
from being applied to the non-rotating guide.







A\ Safety Instructions

These safety instructions are intended to prevent hazardous situations and/or
equipment damage. These instructions indicate the level of potential hazard with the
labels of “Caution,” “Warning” or “Danger.” They are all important notes for safety

and must be followed in addition to International Standards (ISO/IEC)*1), and other

safety regulations.

e e ="

Caution indicates a hazard with a low level of risk
which, if not avoided, could result in minor or moderate
injury.

Warning indicates a hazard with a medium level of risk
which, if not avoided, could result in death or serious
injury.

A\ Caution:
A\ Warning:
A\ Danger :

Danger indicates a hazard with a high level of risk 1
which, if not avoided, will result in death or serious injury. 1

b oo o o o o e e e e e e e o e e e o

AWarning

1. The compatibility of the product is the responsibility of the person
who designs the equipment or decides its specifications.
Since the product specified here is used under various operating conditions, its
compatibility with specific equipment must be decided by the person who designs the
equipment or decides its specifications based on necessary analysis and test results.
The expected performance and safety assurance of the equipment will be the
responsibility of the person who has determined its compatibility with the product. This
person should also continuously review all specifications of the product referring to its
latest catalogue information, with a view to giving due consideration to any possibility of
equipment failure when configuring the equipment.

2. Only personnel with appropriate training should operate machinery
and equipment.
The product specified here may become unsafe if handled incorrectly. The assembly,
operation and maintenance of machines or equipment including our products must be
performed by an operator who is appropriately trained and experienced.

3.Do not service or attempt to remove product

machinery/equipment until safety is confirmed.

1. The inspection and maintenance of machinery/equipment should only be performed
after measures to prevent falling or runaway of the driven objects have been
confirmed.

. When the product is to be removed, confirm that the safety measures as mentioned
above are implemented and the power from any appropriate source is cut, and read
and understand the specific product precautions of all relevant products carefully.

. Before machinery/equipment is restarted, take measures to prevent unexpected
operation and malfunction.

. Contact SMC beforehand and take special consideration of safety
measures if the product is to be used in any of the following
conditions.

1. Conditions and environments outside of the given specifications, or use outdoors or in
a place exposed to direct sunlight.

2. Installation on equipment in conjunction with atomic energy, railways, air navigation,
space, shipping, vehicles, military, medical treatment, combustion and recreation, or
equipment in contact with food and beverages, emergency stop circuits, clutch and
brake circuits in press applications, safety equipment or other applications unsuitable
for the standard specifications described in the product catalogue.

3. An application which could have negative effects on people, property, or animals
requiring special safety analysis.

4.Use in an interlock circuit, which requires the provision of double interlock for possible
failure by using a mechanical protective function, and periodical checks to confirm
proper operation.

and

N

w

IN

+1) 1SO 4414: Pneumatic fluid power — General rules relating to systems.
1SO 4413: Hydraulic fluid power — General rules relating to systems.
IEC 60204-1: Safety of machinery — Electrical equipment of machines.
(Part 1: General requirements)
ISO 10218-1: Manipulating industrial robots - Safety.
etc.

Limited warranty and Disclaimer/
Compliance Requirements

The product used is subject to the following “Limited warranty and
Disclaimer” and “Compliance Requirements”.
Read and accept them before using the product.

Limited warranty and Disclaimer

1.The warranty period of the product is 1 year in service or 1.5 years
after the product is delivered, wichever is first.*2)
Also, the product may have specified durability, running distance or
replacement parts. Please consult your nearest sales branch.

2. For any failure or damage reported within the warranty period which is clearly
our responsibility, a replacement product or necessary parts will be provided.
This limited warranty applies only to our product independently, and not to any
other damage incurred due to the failure of the product.

3. Prior to using SMC products, please read and understand the warranty
terms and disclaimers noted in the specified catalogue for the particular
products.

%2) Vacuum pads are excluded from this 1 year warranty.
A vacuum pad is a consumable part, so it is warranted for a year after it is delivered.
Also, even within the warranty period, the wear of a product due to the use of the vacuum

pad or failure due to the deterioration of rubber material are not covered by the limited
warranty.

Compliance Requirements

1. The use of SMC products with production equipment for the manufacture of
weapons of mass destruction (WMD) or any other weapon is strictly
prohibited.

2. The exports of SMC products or technology from one country to another are
governed by the relevant security laws and regulations of the countries
involved in the transaction. Prior to the shipment of a SMC product to
another country, assure that all local rules governing that export are known
and followed.

/\Caution

1. The product is provided for use in manufacturing industries.

The product herein described is basically provided for peaceful use in manufacturing
industries.

If considering using the product in other industries, consult SMC beforehand and exchange
specifications or a contract if necessary.

If anything is unclear, contact your nearest sales branch.

/A\Caution

SMC products are not intended for use as instruments for legal
metrology.

Measurement instruments that SMC manufactures or sells have not been qualified by
type approval tests relevant to the metrology (measurement) laws of each country.
Therefore, SMC products cannot be used for business or certification ordained by the
metrology (measurement) laws of each country.

SMC Corporation (Europe)

’ASafety Instructions | Be sure to read “Handling Precautions for SMC Products” (M-E03-3) before using.

Austria @ +43 (0)2262622800  www.smc.at office@smc.at Lithuania @ +3705 2308118 www.smelt.lt info@smclt.It

Belgium @ +32(0)33551464  www.smcpneumatics.be  info@smcpneumatics.be | Netherlands @ +31 (0205318888 www.smcpneumatics.nl info@smcpneumatics.nl
Bulgaria @ +359 (0)2807670  www.smc.hg office@smc.bg Norway @ +47 67129020 WWW.SmC-norge.no post@smc-norge.no

Croatia @& +385(0)13707288  www.smc.hr office@sme.hr Poland @& +48 222119600 www.sme.pl office@smc.pl

Czech Republic @& +420 541424611  www.Smc.cz office@smc.cz Portugal @ +351 226166570  www.Smc.eu postpt@sme.smees.es
Denmark @ +45 70252900 www.smedk.com sme@smedk.com Romania @ +40 213205111 WWWw.smcromania.ro smcromania@smcromania.ro
Estonia @& +372 6510370 www.smepneumatics.ee  smc@smepneumatics.ee | Russia @ +7 8127185445 www.sme-pneumatik.ru info@sme-pneumatik.ru
Finland @ +358 207513513 www.smc.fi smcfi@smefi Slovakia @ +421 (0)413213212  www.smc.sk office@smc.sk

France @& +33(0)164761000  www.sme-france.fr info@smc-france.fr Slovenia @& +386 (0)73885412  www.smc.Si office@sme.si

Germany @ +49 (0)61034020  www.smc.de info@smc.de Spain @ +34 902184100 www.sme.eu post@sme.smees.es

Greece @+302102717265  www.smchellas.gr sales@smchellas.gr Sweden @ +46 (0)86031200  www.smc.nu post@sme.nu

Hungary @ +36 23511390 www.sme.hu office@sme.hu Switzerland @ +41(0)523963131  www.smc.ch info@smc.ch

Ireland @& +353 (0)14039000  www.smcpneumatics.ie  sales@smepneumatics.ie | Turkey @+902124890440  www.smcpnomatik.com.tr  info@smcpnomatik.com.tr
Italy & +39 0292711 www.smcitalia.it mailbox@smcitalia.it UK @ +44(0)845 1215122 www.smepneumatics.co.uk  sales@smepneumatics.co.uk
Latvia @ +371 67817700 www.smelv.lv info@smclv.lv

SMC CORPORATION _Akihabara UDX 15F, 4-14-1, Sotokanda, Chiyoda-ku, Tokyo 101-0021, JAPAN Phone: 03-5207-8249 FAX: 03-5298-5362

1st printing TT printing TU 00 Printed in Spain

Specifications are subject to change without prior notice and any obligation on the part of the manufacturer.



